


THERRROARAT

FE B 1989 F=RMIINEE - L AUTOGRIP frAEFTEH
Ik BERENKE - THEEETEFEEERIE A
FIERMNIFEENE BT HRBRESBE(CNERS
ZHPRTE -

BMEE

EEBRATRMEEE RS BRI - 151 4000 £F -
ERELENEERE  EU/MBPL BFETIES
BEHNERECEHREURTERHE - RAFFERR
RE  BAORNREEREK  BESKINEFRRE

LOCATION OF AUTOGRIP

“RANUREMRETXE  HEMCEERNEFRE
ER - TBEEO6N - 8K 10 WAYPZEE) HFHEKE
BHEL EERNAMELEE  EEREMSHREL

BHER -

REEE

AUTOGRIP MACHINERY COMPANY

AUTOGRIP machinery was established in 1989 in Taiwan.
Our product lines focus on the power chucks, rotary
cylinders and automatic clamping series.

We provide the optimized solutions and services for our
customers worldwide.

AUTOGRIP Machinery's main factory is located in Puxin,
Changhua, Taiwan, covering an area of 13,223 square
meters. It is equipped with advanced production equipment
and serves as the company's R&D center, focusing on the
production of small-volume, customized parts and new
product development. We adhere to world-class standards to
meet customer needs and ensure high customer satisfaction.

The second factory, located in Yunlin Technology Industrial
Park, is an automated production line specializing in
standard products. It mainly produces 6", 8", and 10" hollow
power chucks and rotary hydraulic cylinders. With a focus
on mass production, it meets the market demand for quick
delivery.

= AUTOGRIP'S BUSINESS PHILOSOPHY

RENEHESERE  BORREHEEENEmARS -

Committed to integrity and professionalism, we strive to
provide the most professional products and services.



AUGTOG >

BMREEE WEARE FROM TAIWAN

EEBWITANERE 2T - SEFTRETHENE  Frld All the products of AUTOGRIP are designed and made in
oI BRIBRANERERANSERE - BREMA - our hometown-Taiwan. You can find that our products have
BASHMESEENSRE - BENEREXEEA a strong Taiwan spirit- solid and durable, with high rigidity
7O - EERAREHEBILN T4 ISRR SRR and high precision.

AR7 - Our company has a good reputation in the industry.

AUTOGRIP is devoted to providing the optimized solutions
and service for the workpiece clamping needs.



EEEWMEENGRERE
AUTOGRIP MECHANICAL TESTING LAB. S

TEHMEENHERZEAGRBIEZNARRBERN - REMMBRERBRENEE - EM LHA -

FEB-EHEREAE  EREMMERBERTGRFRE - EmRREBEPIHIERRR - BEEMHN

==

ERmEA N BEFPHERLEH REEPRTOMNEMRERER -

B

.

AUTOGRIP mechanical testing lab. continues to develop reliable test equipments and technique for controlling the
product quality. Before the new product is launched to the market, the products will go through a series of tests to
ensure that the performance and accuracy meet the design specifications. Products in the manufacturing process are
also tested regularly to ensure the products are of good quality and consistent.

The Lab controls the quality for the customers and provides customers with the most satisfied experience when

using the products.



B A& 345 R0
Dynamic Gripping Force Test

e The curve of gripping force against rotary speed is obtained via force sensor at a given test condition.

3&#5 5 Clamping force(kN)

BAERIT JM4EE  Gripping Force Graph

-4~ Autogrip 3H-206
- FEHEER

\\4
~~_
'\n\.\
<]
N
1000 2000 3000 4000 5000 6000

@ 3% speed (r.p.m.)

&) 508 i = RIA
Dynamic Oil Leaking Test

o EMBRIIEARER NHORRE - BRE

e The oil leaking of cylinder is measured at different rotary speed to ensure it is within engineering specification.

St N

k=]

RE -

@35 R E Total Leakage( |/min)

BRREtSMHEARE Total Leakage Characteristic Graph

4 ALRREE B BILRRE Model: TH-AS36

26
25
24

y -

0 —p

0 1000 2000 3000

4000 5000 6000 7000

# 3% speed (rp.m.)




vour TRUSTED PARTNERON \WORKHOLDING



EERHREERLAHRGHRERSH |

Why AUTOGRIP?

1. q:j?,ﬂa%m{/\ = %‘J'ﬂ:E/J AX EI-I-/LEEEJ_

ERAEE WM BEURE LR E A ER
75 B TR B JE ) R R B R R,
RSN, $HEMSHRERBEREMERGT =,

2. BIEE) R EAN 22 H BB iR L

EHXKEE: BM ~ /NN, BRIMITE, BRI,
UEN, BRKEEERNEENEB KT
#5751,
IEERET 1R MRS B TR Gk [ ER.
SHIEE [ RER. EBET [ SIS R B ARSIk
BEE,

3. RIZFFIRZ BN = RIAR S

AUTOGRIP BRI UIKR—BEUR R MEES
BEBE, BMNEXERGGIEHNA SIRME
BB E MRS

1. Custom design service

Example: Solution of automatic workholding
and workpiece seating confirmation, special
requirement on air/hydraulic cylinder, rotary valve,
rotary joint, or customized soft jaw/hard jaw.

2. Variety of chucks & cylinders

Chuck: 1-jaw to 6-jaw chuck from 3” to 797, Extra
long stroke, Pull back, Stationary chucks, Collet
chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke
control, Coolant/air connection, Air cylinder,
Double rod, Compact style.

3. Faster delivery and satisfied service.

Since its establishment, AUTOGRIP has always
prioritized customer satisfaction as our primary
goal. Our professional team is dedicated to
providing you with high-quality products and
services.



G

GRIPPING FORCE SENSOR

15 TR 2R

AUTOGRIP

GFS-100

3 155 71 BRI 2%

Gripping force sensor

Y58 / FEATURES

e EEX 5.0 B@IBE -

e Type-C TEEA -

- SHAEIEES

= 712 Android i0S -
e OJACE 2 /ML 3 TUHRIE -

Stable Bluetooth 5.0 Transmission.
Convenient Type-C Charging.
High-Performance Lithium Battery.
Supports Android and iOS.

Configurable for 2-Jaw or 3-Jaw Operation.

\ ANDROID APP ON
Google Play

2 Available on the

.Apple Store

GFS-100

FAFHRGRIBRRE « % - AHSRESMEEE - GFS-100 specifications and dimensions, Please refer to Accessories pages.



POWER CENTERING VISE

B 1 E OV R

AUTOGRIP

B 1 E /O

POWER CENTERING VISE

Y58 / FEATURES

- SNVE 5 BMERAFERZEEANA -

- AZMEL] - CfEAREHEFS -

- NEAESERBARNE - IIRFEREFEE -
o BRRTKREN I PO -

e Slim and short profile for improved workspace utilization.
= Built-in hydraulic cylinder operable by either
pneumatic or hydraulic pressure.

e |nput ports available on both the side and

US|

bottom for flexible connection options. Side air inlet port

e Suitable for milling machines and machining centers.

SR - G - E - BH2EBNELRIEER - Model, specifications, and dimensions, please refer to the Power Centering Vise page.



SWING TYPE THREE-JAW CHUCK

EEN BB HI =T\ 3R EH
o\?;
AUTOGRIP '\ll

ny, g
NS,
BEE5H 2020

TAIWAN EXCELLENCE
W IR B & T = T8
SWING TYPE THREE-JAW CHUCK

Y58 / FEATURES

o BERFIHE  BiEFEUNE -

- BEBRHFREHNEREERS BESK20E -
- RNMEBRA 5 EREEHERXKT -

- BRKKETIBRE -

* Grip the work piece in radial direction and then pull down.
 Gripping on forging or casting part with taper up to 20°

e Jaw equalizing: 5°Max.

 Anti-dust and Seal proof for cutting fluid,easy to maintain.




LARGE THRU-HOLE AIR CHUCK

KA EPZERENFE

AUTOGRIP

=M

thzs )

¥ / FEATURES

o BAREBEARK : @52mm~B375mm -

o BEAREEMML -

ENERZRA - NEREG -
BRERLRIER  HELEREBRRE -
Large thru-hole : @52mm~@375mm.
No distributor ring needed.

Easy to install.
Less maintenance.

HHFIRARL

PATENTED AIR FEED SYSTEM

e HMETUERZH - BARE CHTEMUSH/RK -

o BNIGHHRE ol AR AR - MR
REFLE -

e Built-in cylinder / Check valve.

e Pressure detection / Unique design.



POWER CHUCK FOR VERTICAL LATHE
B PEMTE K57k 8) 7135

AUTOGRIP

SERIES
]l

EET'J(EIETEEJE The maximum diameter is

2000mm(79")

o BE=NhE M -

FMOFENHETE , DR ITHKRD -

BrthiB RFhKagst - RAIBEEARUNER -

It's a WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpieces centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

o EmB/RT: B3 45 6MERT -
e HfE:12"~79" EEES -
- EREEHEL : RE %5 -
e Various Models / Size:
Available in 3, 4 and 6-jaw versions .

e with sizes 12 to 79 inch diameter.
e Rotary cylinder : RE series .



POWER INDEXING CHUCK

B&#)53 E XA

AUTOGRIP

3 &) 77 [ 3 BH
Power Indexing Chuck

Y58 / FEATURES

o THIEEBRERETHERIF RS E LI 2 BETREER -

o WIEAMSHILECREBME - THEEDE -

o BAKKRBITIBRET -

- SHIMEERSEEREE -

BRODEZRRRB LR - RBEABRNBAESE - IEHS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.




STATIONARY CHUCK BASE PLATE

17 & 2R B FE AR

AUTOGRIP

T ERXKIEZRT| STATIONARY CHUCK SERIES

MP

17 & 3 55 2 i

Multi-plate.4-plate

’f*—;@ / FEATURES

BRRTRK / HEMLIPOH

EIRSANTIUE T# (ola]% 2,3,6 THERIRRE) -

OJ#&#c SP/SM/SD/SU/SE 11 &35 -

B | R -

S{E PR A I TS ) -

RROREERET - IRERBRLFESE -

REEKE (EiL) -

KPR (ERL) -

For milling machine / machine center.

Allow simultaneous machining with up to 4 grippers.
(Order can be customized for 2,3,6 grippers).

Work with SP/SM/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.

Lock valve unit (optional).
Air tight detection function(optional).

SP - T B =/TKEE SD - T & & AR
SP-type SD-type

* RHRT - * sl BYH I RERA -

*Wedge-hook type. *Pull down / Heavy duty

machining/Air tight detection.

SE - U B NREHI TR
SE-type

B AERE | fE R
e

*Pull lock / Inner dia. clamping
/ Air tight detection.

SM - T ERXRITERER SU - UER M FEEHIRER
SM-type SU-type

*BRIUTRE / 8818 - * @ EH  RERA -
*Long jaw stroke

Air tight detection. Air tight detection.

*Pull lock / Heavy duty machining/



RUBBER GRIP COLLET
B2

AUTOGRIP

REE

BRARR

i —
—= ¥

I EFRAEES

CBD

g | BatlE | RE

=18 /2

PIRAHES : REM (R) Gl
BEETURETE - MEEREER

SCB

5 JR 05 7

BEEARS 18 2 S A0

RG

EITTR S

ENMEE

RG

E—HBEEXRZRFHEETTEZE £0.5mm



ROTARY CYLINDER & LINEAR POSITION SENSOR

kR chZE / P E T EH BRI MT AR 1 E N R AR

AUTOGRIP

// : \‘\Q\\ \ \\\\
| \
\ \

o
J

Y58 / FEATURES

e Z1TIEWMA -

e BT HIRARFEFEOERE -

o B/MEHERIR - BN TEREE -

e T RHIZHEREEG] 5O EER -

e Entire stroke range position monitoring

e Position setup by teach-in function.

e Manual adjustment for proximity switch is
unnecessary when changing workpiece.

e Suitable for sub-spindle or vertical
lathes with limited space.

e Reduce idle time, increase throughput.

37 =X B8 R GH BR L

S



HYDRAULIC CYLINDER WITH ROTATING JOINT

40 33 432 5A b 32 BY 30 83 0 B 6]

AUTOGRIP

Rc series

A MR R TR

HYDRAULIC CYLINDER WITH ROTATING JOINT

%58 / FEATURES

- qﬂgi’%Li}EFfﬁI °

- OSMEERENERETEER  BFRER B AR P OHKWEK -
- V\]LLJJ:FE]QEE\%H% °

- CIEEMGE EI’JF?%EEJF‘?‘W? fitfﬂﬁaFZEEJ%%Lﬁﬁ%%E%H °
MEMRAAIIMNEE RGN SR OERERERM

Medium and solid hydraulic cyllnder with channel.

Can choose an external rotary joint with either single or double paths.

It meets the demand for coolant through spindle and airtight pressure detect function.
Has a buil-in check valve for safety.

The proximity switch and single or double paths rotating joint are optional.

Stroke control via proximity switch or linear positioning system.




AT

Y
H

H
UCK CHOOES PROPOSE LIST

4

RE 12 i %

ik

i:Eu::

W EHEIH
(THZBEEA)

Shaft-type workpiece
Pipe-type workpiece

(FRZEED

(reEmEE=

}______

(Insertion of workpiece
axis into chuck required)

Bk - ZREEIH
Plate-type workpiece ]
Flange-type workpiece

BEOEETH
Center-based
workpiece

L Seating confirmation not required) k Reduce maintenance frequency
= )
Bl ¥ 3 5 SMEEE
Gripping round figure (" N N\ O.D. (Outer Diameter) based
= T Y
L Seating confirmation required . W @-é Ei% h
1.D. (Inner Diameter) based )
[l
4 — = N |
PR AL i
\Buﬂt—ln air cylinder ) |
|
|
|
|
|
% |
B IS |
REATH = TR '
Gripping taper Seating confirmation not required :
Iregular workpiece |
L J |
|
|
e A |
ABH - G |
Large-sized shaft e it
Pipe-type
(. J
([ FrRzERR )
Seating confirmation not required)
B 3 4% i
Gripping round figure p N
BUR HMITRF
= EE EE i'sg‘ 1 Rough machining operation
Seating confirmation required \ %
( ) _
WwWIMLITF
Finish machining operation
- J
BT )
Easily deformed workpiece J
T 3% 55 |
% ﬁﬁ yz ?‘:‘j ':F' ll:u\ E i% T ﬁ: Gripping on 2 sides
Z B Center-based workpiece
RENTH I
Gripping taper
Iregular workpiece
7Y T 3% §5
Grippping on 4 sides

BEEEEZEM)

_{

|

Single-side-based (Fixed jaws) J

(EmIIm

LRough machining operation

)

)

(wmITE

L Finish machining operation

\

)




(BEEEE

I

Exceed specifications
\diameter workpiece

>
B AR

Grippi d big di i
_ Gripping exceed big diameter )

~
> 3H
Y,
> 3L
> 3HS
= 3U-K

_ ((mEsmns

L Gripping position diameter small )

\i

AP-115LLF

\/

_ (epEsmk

Gripping position diameter large P
~ 7 BEAE
Gripping e

i )

AP-1451) F

xceed big diameter J > APS
- N 2H /4H
—[ #ﬁ ’EE *ﬁ E ﬁ‘é I {tl: Exceed specifications diameter workpiece J >
- A - |
—[ EAKEHIS Gripping exceed big diameter J > 2L
- 3P |
““““““““““““““““ K 4[ PRIE(RESEZE Reduce maintenance frequency) =I 3PS |
|
: 4[ & 3 R R daw lift reduction] =I 3N |
l Y
: IITCFEEH  Vertical spindle ] :I 3V |
|
: 4( ﬂ’% 7( /ETé m ?;t‘r Gripping exceed big diameterj =l 3 M |
|
— p | - 3W |
45T -+ | N
—  MERES | (womssEs, THERMATS R
| OuiEGEmEE gy | : When not clamped, the workpiece ™ 3D |
Ve | and the jaw do not interfere
. P 5 15 Y [rr—— | |
Inner diameter gripping L3S ;Iiﬁ ,; 2 & > 3U
& J Stable gripping precision
]
— [ FmERs 7
End surface gripping allowed ) |
N
_ (FREEER N
[ Seating confirmation not required) '| 2P / 2M |
| [ EAEns ) _
Gripping exceed big diameter J 2M
N
EE TR _ W
Seating confirmation required ) o
- 4T
> 1L
— [ mmmEw ) .
[Gripping round figure J 3W'C
BRI - FARANTE | [ owe
Gripping taper Irregular workpiece
> 3R

*ARRPIABTMBEEN - BASTEA -

*The contents in this chart are subject to change without notice for further improvement, etc.




I N D EX [Product Description]

I &) 758 Power Chucks

3H-2/3H-2A 3H/3H-A 2H[2H-A
HZEE) IR EE ChZEE) )38 BE ChZEE) AR
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
22 THRU-HOLE 227 THRU-HOLE 22 THRU-HOLE
=T 3-JAW ‘ =T 3-JAW A M 2-JAW A
4H[4H-A 3P/3P-A 2P[2P-A
2B IR EE R E B NRIE hE B HKEE
THRU-HOLE POWER CHUCK POWER CHUCK POWER CHUCK
22 THRU-HOLE $E A NON-THRU-HOLE EE NON-THRU-HOLE
TUTT 4-JAW A =T 3-JAW d T 2-JAW d
3L/3L-A 2L/2L-A 1L
BRNTIZEN IR BRMTIZEN IR BRNTIZEN IR
EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE
POWER CHUCK POWER CHUCK POWER CHUCK
22 % THRU-HOLE 227 THRU-HOLE hEE NON-THRU-HOLE
=T 3-JAW ZM 2-JAW BT 1-JAW
3M 2M 3V-A
hER/M{TIEEE hERNITIZREE VU ERPEE KA
LONG JAW STROKE POWER CHUCK LONG JAW STROKE POWER CHUCK FOR
hE#E NON-THRU-HOLE POWER CHUCK VERTICAL LATHE
=M 3-JAW &= A NON-THRU-HOLE %% NON-THRU-HOLE
T 2-JAW =M 3-JAW
4V-A 3HS 3PS
VERPEHNKIE — MNP ERIREE IEE — MNP BRRESEIEE
POWER CHUCK FOR THRU-HOLE FULLY SEALED FULLY SEALED TYPE POWER CHUCK
VERTICAL LATHE TYPE POWER CHUCK 2B fully sealed type
pEA NON-THRU-HOLE 2 Z38 fully sealed type =1 3-JAW
TUTT 4-JAW =T 3-JAW

¥55%EN15€8E Special Purpose Power Chucks

3N 3D 2D
ST DB = TUeEE = 8 CE R Ipr S
INCLINED MASTER JAWS PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK
POWER CHUCK &3 NON-THRU-HOLE &% NON-THRU-HOLE
P A NON-THRU-HOLE =T 3-JAW I 2-JAW
=T 3-JAW 4 4 g
3E 3U 3U-K
AsRE RN EN S35 BHEEIUEN PR TE BRIEHIUE) 2R
EXPANSIBLE PULL LOCK PULL LOCK POWER CHUCK PULL LOCK POWER CHUCK
POWER CHUCK P2 THRU-HOLE %A NON-THRU-HOLE
S EE NON-THRU-HOLE =T 3-JAW =TT 3-JAW
=T 3-JAW
3w/3w-cC 3RF 3R
SRS I = T A e A A5 ER BEE) B R = TI5kER
_ RETRACTABLE-JAW 3-JAW SWING COMPENSATING TYPE
;‘%{;;GS%T\?Q?EW POWER CHUCK SHAFT CHUCK 3-JAW POWER CHUCK
21 3-IAW #{HA COMPENSATING TYPE {87 COMPENSATING TYPE
- =T 3-AW =TT 3-AW
I 3J 2
I o - o .
P/ EE8) 25655 B ISR E) I3 PR IE 8 )5 TR
FOUR-JAW TWO MOTION
TYPE POWER CHUCK FINGER POWER CHUCK FINGER POWER CHUCK
£ NON-THRU- P E A NON-THRU-HOLE A NON-THRU-HOLE
3% NON-THRU-HOLE ﬂ W g T 2-AW ﬂ
IS AP APS
- _ _ h v e 7
BEIDE 8 ARALE P GBI EE 7(_%“1 Vin:;ﬂiwiﬂﬁ
POWER INDEXING CHUCK LARGE THRU-HOLE AR CHUCK (ZE&1712)
P27 THRU-HOLE LARGE THRU-HOLE AIR CHUCK
=/ 3-JAW (DOUBLE SPEED JAW STROKE)
2% THRU-HOLE / =/ 3-JA




AGIOGI»

&3 3zgE Collet Chucks

CL CL-A DIN6343
EEESE EEESE SEM R

COLLET CHUCK COLLET CHUCK STEEL COLLET

P THRU-HOLE a e THRU-HOLE R STEEL COLLET

CB/CB-A CBE/CBE-A CBD/CBD-A
I IR BRI R BRI B ] 2 = 1 BB 2 F U B

DRAW BACK COLLET CHUCK END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK
thZEA THRU-HOLE g thZe® THRU-HOLE thzeA THRU-HOLE

CME CMD sCB
BHIEU A 1B RRIEE BUEEE A 1% B BRI ER BN BRI

END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK STATIONARY DRAW COLLET CHUCK

thZER THRU-HOLE a thZeH THRU-HOLE g thzeH THRU-HOLE

RG
TIPS

RUBBER GRIP COLLET

A

[
I I EXXXKFE Stationary Chucks

VH VP SM

thZE 17 E T TR hE VBN UERRTIZRIE
?LAREEDFI{\ISLREY CHUCK WITH STATIONARY CHUCK LONG JAW STROKE

©Zetr B30 THRU-HOLE STATIONARY, D AR NONTHRU-HOLE g;g?&‘gﬁf%*‘rﬁso&

=/ =IN2/3-1AW /=M 2/3-IAW =T 3-JAW

SP SD SuU

T EIRIE B EHIGE TEXMEEENIE
STATIONARY CHUCK STATIONARY PULL DOWN CHUCK STATIONARY PULL LOCK CHUCK
P EE NON-THRU-HOLE A NON-THRU-HOLE g NON-THRU-HOLE

thze %) THRU-HOLE ﬂ =T 3-JAW ﬂ =T 3-JAW

Z /=M 2/3-AW

SE MP4 VH-201

U ERARERIIIE 17 & FEHE AR FEINIRMAE

STATIONARY EXPANSIBLE STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
PULL LOCK CHUCK

P EA NON-THRU-HOLE 2Rt ACCESSORIES
=/ 3-JAW

255 e BA 2R 0 F B 3258

Pneumatic Rotary Chuck Manual Chuck
RAP 3MF
R AR/ = T 2EEE SERVFESK/O =T\ EE
PNEUMATIC ROTARY CHUCK SELF-CENTERING 3-JAW
EAM/EL Pneumatic rotary TYPE MANUAL CHUCK
h'EH NON-THRU-HOLE
=/ 3-JAW
(]
E i Vise
VR MVSC MVRH
BN AE O R TR O MC B2 HE R i
POWER CENTERING VISE 5-AXIS SELF CENTERING VISE MC HYDRAULIC VISE
FH2zL Wedge Type FEiH Vise R Vise
63 64 65
MVRE
MC B2 E R H
MC POWER VISE
R Vise

66




I N D EX [Product Description]

I R J)#&858E Facing Heads

FA

R’ JIEEE
SINGLE-SLIDE FACING HEAD
E5/5% SINGLE SLIDE

I G 3B Synchronous Clamp

FD
LmR/JRER

DOUBLE-SLIDE FACING HEAD
)% DOUBLE SLIDE

F%5a
SYNCHRONOUS CLAMP
#HRE Crank Type

cw
REXE L HE

WEDGE-DRIVEN
SYNCHRONOUS CLAMP

F2={ Wedge-Driven

TR BB B ]

ROTATING HYDRAULIC CYLINDER

I 226 P55 /K B e R T

ROTATING HYDRAULIC CYLINDER

2E H [BR 3 B T i
ZEmEUEEF] Rotary Cylinders
TK TS TH
849 BY o 7 30 e P BA L PB4 B chZe 3E S R AT 25 30 8 [BR ]
SHORT TYPE ROTATING HYDRAULIC ROTATING HYDRAULIC CYLINDER
CYLINDER WITH THRU-HOLE R RO LRV EDRAULIC WITH THRU-HOLE
AND SAFETY DEVICE THRU-HOLE AND SAFETY DEVICE AND SAFETY DEVICE
2% THRU-HOLE cpze® THRU-HOLE 225 THRU-HOLE
SHE HYDRAULIC S#EE HYDRAULIC #/E HYDRAULIC
TR RA RH
B g AU ch 2o g e JER T th & g Ze B L th B dE i B L
SMALL TYPE ROTARY HYDRAULIC
SVHNDER Wi THRUOLE ROTATING AIR CYLINDER ROTATING HYDRAULIC CYLINDER
AND SAFETY DEVICE B NON-THRU-HOLE EE NON-THRU-HOLE
%% THRU-HOLE ZE AR #/E HYDRAULIC
3%/ HYDRAULIC
RK RK-N RS
[ 33 | - R o B 200 P JRR (T oS 300 B S BR Bt LR T A2 3 B Dt AR T
WTT:TSIRIF(ZWSERGELEIC CYLINDER ROTATING HYDRAULIC CYLINDER mgp@;%%fmmm
o FE A NON-THRU-HOLE AND SATETY DEVICE
€h @ NON-THRU-HOLE ¥E HYDRAULIC 7124% /% STROKE CONTROL
3 HYDRAULIC HIE HYDRAULIC
RS-N RL RL-N

JE7K AU 8 R L

ROTATING HYDRAULIC CYLINDER

WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION

72 #225)% STROKE CONTROL AND SATETY DEVICE SE7KE COOLANT CONNECTION

H/E HYDRAULIC {ég%ﬁ?&m\‘g CONNECTION h/E HYDRAULIC

7 SR B3R 5 BR T IR S A ch B dE i B T 54 RS BT R E 8 e R AT
COMPACT STYLE HYDRAULIC CYLINDER COMPACT STYLE HYDRAULIC

WTT: ﬂ{é%%m{é%&””“[’“ WITH STROKE CONTROL CYLINDER WITH AIR CONNECTION

. AND SAFETY DEVICE AND SAFETY DEVICE

Y E&EHI

%Eﬁfa‘iiﬁﬁ? FeToN 1EREEE R COMPACT STYLE WEIER &% COMPACT STYLE

= 88 S/ HYDRAULIC > /E HYDRAULIC

WE AT ELATF: 3 rhER N = N 3 N N R

TSR RS A TK S R R 3082 7 9RO 3 U B ER T P36 |- 7R €2 12 Y 30 % [RR 6T

COMPACT STYLE HYDRAULIC HYDRAULIC CYLINDER WITH

CYLINDER WITH COOLANT ROTATING JOINT \?V(I)TLIJ-iBIS_EAISge E(E:%;TEING CYUNDER

CONNECTION AND SAFETY DEVICE ———

R AE COMPACT STYLE AEPRIZERS} P @427 DOUBLE-ROD

3 HYDRAULIC A ROTATING JOINT B HYDRAULIC

RD-N

LAY 0 8E R L
DOUBLE ROD ROTATING CYLINDER

122 DOUBLE-ROD
JH/E HYDRAULIC

A




AGIOGI»

jm#E3%58 Rotary Joints

RJ-52
BimEEiEs
SINGLE-PASSAGE ROTATING JOINT

E3983E SINGLE-PASSAGE !

RJ-4E/RJ-5E
SRR

HYDRAULIC ROTATING JOINT

ZIBIBE T E MULTI-PASSAGE,
SINGLE MEDIUM

RJ-22HA/RJ-4THA
2o R sE R
COMBINED AIR AND

HYDRAULIC ROTARY JOINT
ZREENE MULTLPASSAGE,A
DUAL MEDIUM

jWEE 53577 Rotary Valvies

SRR EE 77t
HYDRAULIC ROTARY VALVE
SRS BCER

OIL CIRCUIT DISTRIBUTOR

RV-A
ZEREED R
AIR ROTARY VALVE
ZE/E AR

RJ-80
RANREE R
COOLANT ROTATING JOINT

EJ818 SINGLE-PASSAGE !

RJ-A2E

2= BRI
AIRROTATING JOINT

ZIBIBE T E MULTI-PASSAGE,
SINGLE MEDIUM

RJ-52HV

2 H B B e B B
COMBINED AIR AND
HYDRAULIC ROTARY JOINT
SIBEE/E MULTI-PASSAGE, A
DUAL MEDIUM

I ;AR\ 22 Self-Centering Steady Rest

RJ-92
2 AR B EE A B
LEK B EN RIS

COOLANT ROTATING JOINT WITH
AUTOMATIC ON/OFF SEAL

B33 SINGLE-PASSAGE

SRR TLER
SELF-CENTERING STEADY REST
HAR BASICTYPE

ShE N

SR DLER
SELF-CENTERING STEADY REST
#PEE ADVANCED TYPE

EMEE Eth Parts and Accessories

SRB
SRR

SELF-CENTERING STEADY REST
&% SIDE-MOUNTED TYPE

thZ= DRAW TUBE

GFS-100 SJ HJ
N N T
PESYILRi ESZI RN
GRIPPING FORCE SENSOR STANDARD SOFT BLANK JAW STANDARD HARDENED JAW
g fE% 4T STANDARD SOFT JAW ﬁ ﬁf&g}w HARDENED JAW ﬂ
T-NUT FL CcT/CT-S
A =] — N —_— 7]
T Fo420E HREE AR SkEHITIEMRER
T-NUT CHUCK ADAPTORS COOLANT COLLECTOR
. WITH STROKE CONTROL
T 4208 T-NUT 5
. A 72 ADAPTOR A #k& COOLANT COLLECTOR A
CT-SB/CT-SBS FV
SEKRMITIERRER UK AEHEA
COOLANT COLLECTOR WITH STATIONARY CYLINDER LOCK VALVE
STROKE CONTROL FOR AIR STATIONARY CHUCK
#5k& COOLANT COLLECTOR
A ZHE M ACCESSORIES A
DRAW TUBE DRAW BAR
PEHNENRESTE PEHENRESE
THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH

5 DRAW BAR g




ZMBARAIER=E

R JKER

LARGE THRU-HOLE POWER CHUCK

A 3H-2[3H-2A

o BE=MBARBLE -
o EREHEEERETHE -
o BRMEERSIGHEE -

WEDGE-HOOK type 3-jaw with the extra large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

JEREHBEARBRETG Z ALK -

K Default [/ ARIEERE Z HME -

K max BREAZESEREBS 7H K - 0iRE
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

WEEES -

5% BT S = |
RTRET & -

Serration Pitch BF&5EE 1.5
3H-215 A8 G H M ‘ 3H-221,3H-224,3H-232 3.0
3H-215 A1l | /
Refer to Fig.A cH A
2EE A R o N R [ oA ol
. o ol “
1
1 L g
§ U ol o <| el K il @
AN [a) 8 S - )
== S8 8 ﬂi ©
1 L1|| bLb | g
L 1 5= )
[ R ti - _ 4 T
L1 B / 1/
T L 3H-204 £379248
Fig.A =/ 3H-205 Only 3 bolts
A L1 B L E ~
B 15°  15°
3H-BA,3H-2A 3H-B,3H-2
RBIEIERAIET)
Subject to technical changes
BHIRR1& SPECIFICATIONS
mg pigpg IR SEE  aegins BAsin | BEESH 8 OREEE  BAGHE.
" = = (Ef®) | Chucking Dia. AR ; = >
Plunger Jaw stroke A = &/ Max. Clamping Moment of )
Model stroke (Dia.) Max. =~ Min. vt L, [l force IS Sipea inertia Gttete Matching cyl. M (OSSN
mm mm mm mm kN (kgf) kN (kgf) mint(r.p.m.) kg * m? kg MPa (kgficm?)
3H-204 A4 13 5.5 113 7 13.7(1400)  36(3670) 8000 0.012 422 534 TK-A528 2.0 (20)
3H-205 A4 13 55 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 7.1 TK-A533 2.5 (25)
3H-206 A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 | 14.9 TK-A646 2.5(25)
3H-208 A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 23.4 TK-A853 2.6 (26)
3H-210 A8 21 8.9 260 37 49.1(5010) 152(15500) 4500 0.32 375 43 TK-A1075 3.2(32)
3H-212 A1l 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 64.7 TK-Al1l512 1.9 (19)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 149  TK-2114 2.1(21)
3H-215 A1l 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 |143.3) TK-2114 2.1 (21)
3H-215 A5 25 106 405 49 71(7240)  180(18350) 2500 2.8 127 1356 TK-2114 2.1(21)
3H-18B  A15 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4 173.4 TK-2416 1.9 (19)
3H-221 | A15 28 12.9 530 105 90(9175) 234(23860) 1800 7.5 223 | 234 TK-2416 2.4 (24)
3H-224  A20 28 12.9 610 135 100(10200) 240(24500) 1500 15.8 270 @ 284 TK-2820 2.1 (21)
3H-232 A20 34 18 800 205 100(10200) 240(24500) 1200 47 546 = 560 TK-2820 2.1(21)

AT EENES 3H-2A. 3H-BA B1Z<H3% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

AUTOGRIP



- - RS &) 3K 58 = TBATL @R
’ 3 H 2I3 H 2A LAR:IG:E THRU-HSLE POWER CHUCK

5MNBYR < DIMENSIONS

Model A B C D D1 D2 E E1l F G max. G min. H J
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -9.5 18,5 175 12
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 81 91 140 104.8  82.56 116 5 15 53 13 28 -1 14 175 20
3H-208 A6 210 91 103 | 170 133.4 | 106.38 = 150 5 17 66 165 | 335 | -15 153 20 30
3H-210 A8 260 102 115 @ 220 171.4  139.72 190 5 18 86 105 285 -105 7.5 25 45
3H-212 A11 315 110 126 | 300 235 | 196.87 = 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 132 159 380 330.2 | 139.72 1714 6 33 145 1 44 -14 19 39 60
3H-215 A11 405 132 166 380 330.2 | 196.87 235 6 40 145 11 51 -14 26 39 60
3H-215 A15 405 132 153 380 330.2 285.78 330.2 6 27 145 11 38 -14 13 39 60
3H-18B A15 456 145 166 380 330.2  285.78 330.2 6 27 165 18 45 -5 22 40 60
3H-221 A15 530 140 161 380 330.2 285.78 330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 145 166 520 463.6 = 412.78 463.6 6 27 210 15 42 -13 14 41 80
3H-232 A20 800 150 170 | 520 463.6 412.78 463.6 6 27 275 24 51 -10 17 42 100

Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. R min. S] T U
3H-204 A4 M38x1.5 M32x1.5 3~M10 16.0 15 24 52 14 1275 6.75 25 2225 23 10 3~M10
3H-205 A4 M45x1.5 M40x1.5 3~M10 145 145 31 62 | 14 20.25 6.75 295 26.8 25 10 | 3~M6
3H-206 A5 M60x2 M55x2 6~M10 16.0 16 37 73 20 21.25 9.25 36 33 31 12 3~M6
3H-208 A6 M75x2 M60x2 6~M12 17.0 15 38 95 | 25  23.7 | 10.2 457 419 35 14 | 3~M6
3H-210 A8 M95x2 M85x2 6~M16 20.0 22 43 110 30 322 127 56.5 52.05 40 16 3~M8
3H-212 A11 M115x2 M115x2 6~M20 30.0 28 51 130 30 44.75 1475 67.8 625 50 21 | 3~M10

3H-215 A8 M155x3 M115x2 M155x3 M100x2 6~M24 36.0 24 63 165 43 49.75 19.75 90 847 62 255 6~M16

3H-215 A1l M155x3 M155x3 6~M24 36.0 31 63 165 43 49.75 19.75 90 84.7 62 255 6~M20
3H-215 A15 M155x3 M155x3 6~M24 36.0 34 63 165 43 49.75 19.75 90 84.7 62 255 3-Mil2
3H-18B A15 M175x3 M175x3 6~M24 38.0 36 63 165 43 64 | 205 102 96.7 62 255 3~MI12
3H-221 A15 M190x3 M190x3 6~M24 330 36 73 180 60 695 245 1135 1071 65 25 | 3~M12
3H-224 A20 M225x3 M225x3 6~M24 350 33 73 180 60 935 245 128 1215 65 25 | 3~M12
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 73 180 60 1505 245 166 157 65 25 | 3~M12

AR 3H-2A, 3H-BA BLZ 7% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

/7 =8 SRR T BB AFLIERE, TR 4'~10" NEBEEBE AR RFIR
EIEZRE, ARRBEACERFTRARERBDZAE, EEHCERATEIL
EETHBRZ LR, sHE A AR R,

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4"~10" are
common used in the industry.

If you find that you need different bore size or installation interface, please just contact us.
We have many standard and customized rotary cylinders for option and meet your needs.
Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 2



_ A EEHKE =M
’ 3HI3H A THR:S-HOLE PO\?LVER CHUCK )

o BME=TAREBAKL -
o RENMIIKECRBEEME WHEEHEE -
o SHIMEERSHEREE -
® WEDGE-HOOK type 3-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J EAEGIRIERERIE TR 2 AL,
K Default {E# K18 ERE 2 LKA,
K max B4 EAE RIS P BB RUME S 2 SR KFRAG, IR B IR R KETH,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.
G Serration Pitch s
e
E1 | HEEEEE 15
3H-15 A8 = ] ol
Refer to Fig.A ] 1=z
2EE A -4 o
N I it}
Q o
o Q
8 U
B
L L
L1 B L
Fig.A
& A 3H-A 3H
RERIBIELHIETR)
Subject to technical changes
FATFRH% SPECIFICATIONS
B BLE (”gg Ch?fcfnﬁg%ia. BHBAAN | BAKEH | BECEH | E8 | EEEHE  BAEEES
Plunger = Jaw stroke gk =/ Max. Clamping Moment of "
gl <trobe (Dia) WiE Min.  Max.D.B. pull ro— Max. speed . Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) kg *m? kg MPa (kgf/cm?)
3H-12 A8 25 10.6 304 34  54.9(5600) 143.7(14650) 3300 0.77 56.6 59.3 TK-A1291 2.5(25)
3H-15 A8 25 10.6 381 50  71(7250) = 179.8(18350) 2500 228 120 134 TK-A1512 2.3(23)
3H-15 A1l 25 10.6 381 50 71(7250) 179.8(18350) 2500 2.28 120 | 127 TK-A1512 2.3(23)
3H-18 A1l 25 10.6 450 50 71(7250) 180.3(18400) 2000 4.46 160 | 174 TK-A1512 2.3(23)
4MEYRST DIMENSIONS
Model A B c D D1 D2 E E1 F G max. G min. H J
3H-12 A8 304 110 122 220  171.4 139.72 190 6 18 91 10 28 -15 3 28 50
3H-15 A8 381 132 159 300 235 139.72 171.4 6 33 120 11 44 -14 19 39 60
3H-15 A1l 381 @ 132 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
3H-18 A1l 450 @ 132 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
Model K max. K Default L L1 M N P m(gx n?in mix m'?n 8 T U
3H-12 A8 M100x2 M100x2 6~M16 23 25 51.3 130 30 44.75 14.75 61.3 56 50 21 3~M8

3H-15 A8 M130x2 M115x2 M130x2 M100x2 6~M20 30 24| 63 165 43 49.75 19.75 775 722 62 2550r22 6~M16
3H-15 A1l M130x2 M130x2 6~M20 30 28 63 165 43 49.75 19.75 775 722 62 2550r22 3~M10
3H-18 A1l M130x2 M130x2 6~M20 31 29 63 165 43 82.75 21.25 775 722 62 2550r22 3~M10

AT EBEIES 3H-A BLZF3% (The dimensions and the specifications of 3H-A type are in red data.)

3 AUTOGRIP



_ EPW@Jj]%EE ZMERpTE
’2HI2H A THF\:_LI;_-HOLEPO\—/LVERCHUCK

BE_MAEBEAR - HFrlEaREYHRE -
REEISEERIBERME  WEREEE -

SIS RS RFIEE -

WEDGE-HOOK type 2-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J ERELIZERERBIRZ AL

K Default (B3 RISE R 2 HR(E,

K max {E#43E 451218 A R R ST 2 RAFRAE, eI KB R T KT R,
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.
K'is the maximum thread specification and it could be customize.

Serration Pitch

& .
G H i M HreEfE 1.5 "TS“
RSP 1T
e o
2H-208 A5 e o« @
2H-15 A8 I - L @,
Refer to Fig.A ©
279 A ] @
Subject to technical changes — 5 JLL
i #Ai#R#% SPECIFICATIONS 2H-A ~ 2H2A 2H~2H2
g momE | MR TRER  aepion BATSH | BEOER &8 ERUEE  BARRES
(BEf®) | Chucking Dia.
. PSIturg gr Ja\elei;r.c))ke ,\BA?; ?/I§|Irj1\ Max. D.B. pull Clamlp\)lliiglforce Max. speed M?:;?tri]; C Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgflcm?)
2H-204 A4 13 55 113 7 9.2(940) 19.4(1980) 8000 0.012 42 | 4.8 TK-A528 1.3(13)
2H-205 A4 13 55 138 10 11.4(1167) 32(3260) 7000 0.02 6.8 7.6 TK-A533 1.6(16)
2H-206 A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 13.1 149 TK-A646 1.6(16)
2H-208 A5 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 213 242 TK-A853 1.8(18)
2H-208 A6 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 21.3 224 TK-A853 1.8(18)
2H-210 A8 21 8.9 260 37 32.9(3355) 101.9(10385) 4500 0.31 33,5 36.2 TK-A1075 2.2(22)
2H-12 A8 25 10.6 304 34 36.7(3740) 95.8(9780) 3300 0.70 59.7 62.7 TK-A1291 1.7(17)
2H-15 A8 25) 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.42 115 | 129 | TK-A1512 1.5(15)
2H-15 ALl 25 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.34 115 122 @ TK-A1512 1.5(15)
4R~} DIMENSIONS
Model A B Cc D D1 D2 E El F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -95 185 175 12
2H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
2H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
2H-208 A5 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 39.5 | -15 | 21.5 20 30
2H-208 A6 210 91 103 170 133.4 106.38 150 5 17 66 165 335 -15 155 20 30
2H-210 A8 260 102 115 220 171.4 139.72 190 5 18 86 10.5 | 28.5 | -10.5 | 7.5 25 45
2H-12 A8 304 110 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
2H-15 A8 381 133 160 300 235 139.72 171.4 6 88 120 11 44 -14 19 39 60
2H-15 A11 381 133 149 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. | S T U
2H-204 A4 M38x1.5 M32x1.5 4~M10 16 15 24 52 14 1275 6.75 25 2225 23 10 3~M10
2H-205 A4 M45x1.5 M40x1.5 4~M10 145 145 31 62 14 2025 6.75 295 26.75 25 10 3~M6
2H-206 A5 M60x2 M55x2 6~M10 16 16 37 73 20 2275 9.25 36 33 31 12 3~M6
2H-208 A5 M75x2 M60x2 6~M12 | 17 18 38 95 25 | 23.7 10.2 457 419 | 35 14 6~M10
2H-208 A6 M75x2 M60x2 6~M12 17 15 38 95 25 28.7 10.2 457 419 35 14 3~M6
2H-210 A8 M95x2 M85x2 6~M16 20 22 43 110 30 322 12.7 56.5 52.05 40 16 3~M8
2H-12 A8 M100x2 M100x2 6~M16 23 25 51 130 30 44.75 1475 61.3 56 50 21 3~M8
2H-15 A8 M130x2 | M115x2 | M130x2 M100x2 6~M20 | 30 @ 24 | 63 165 43 | 49.75 19.75 775 722 |62 2550r22 6~M16
2H-15 A1l M130x2 M130x2 6~M20 30 28 63 165 43 | 49.75 19.75 775 722 62 2550r22 3~M10

A EEIEA 2H-A. 2H-2A BIZ 1% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.) AUTOGRIP 4



_ RS &) A58 TS &S E
’ 4HI4H A THF\?_LI;_-HOLE PO\TVER CHUCK .

o HEMNMAEBEARL  HrlEaREYHKE -
o REHEIIKB(ERBEME WEHEEE -
o SHItAEBRSRFIEE -
® WEDGE-HOOK type 4-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J ERELIZEERERBFRZ AL
K Default B4 K TEE K& 2 R (E,
K max B4 B4R IR r] R B S 7 S| KFRAR, Al R B R R RET R,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K'is the maximum thread specification and it could be customize.
4H-208 A5 G gfrraﬁtﬁion Pitch s
4H-210 A6 G, _H M BE 15
4H-15 A8 U £ \ / g —"
Refer to Fig.A EE e
SHEA 5 N s ﬂ, T ©r
o 8 B2 i)l e ) = >
: e BT |
\‘ i o| K ~TH = f N
olsl 5 < E RN « A A
SIS s Q ° 9 NZ\Z N4
J L. L1 L. b { g \\/
= ﬁ b=l &
v 1

L1 B L E T
REIRUBISELE0HER Subject to technical changes B
e 4H-A ~ 4H-2A 4H ~ 4H-2
FAT#R4E SPECIFICATIONS —_— —_—
™ P 1712 TRFER e e = [ = U, = ;
vy mome  TOE CWRE msmRAAN O RAKRH  REEEH EE  ORENE BAEREN
Plunger = Jaw stroke &A=/ Max. Clamping Moment )
Model Sae (Dia.) Max.  Min. Max. D.B. pull — Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
4H-206 @ A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125 16.7 TK-C646 2.5(25)
4H-208 @ A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 25.4 TK-A853 2.8(28)
4H-208 @ A6 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235  24.3 TK-A853 2.8(28)
4H-210 A6 21 8.9 260 37 49.1(5010) 152.0(15500) 3800 0.4 38.7 44 | TK-A1075 3.2(32)
4H-210 A8 21 8.9 260 37 49.1(5010) 152.0(15500) 3800 0.4 38.7  42.3 TK-A1075 3.2(32)
4H-12 A8 25 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 TK-A1291 2.5(25)
4H-15 A8 25 10.6 381 50 71(7250) 179.8(18350) 2000 231 117.6 130 TK-Al1512 2.3(23)
4H-15 A1l 25 10.6 381 50 71(7250) 179.8(18350) 2000 2.31 117.6 123.5 TK-A1512 2.3(23)
4H-18 ALl 25 10.6 450 50 71(7250) 179.8(18350) 1700 435 162.6 168.5 TK-Al512 2.3(23)
SNEIR~F DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J
4H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
4H-208 A5 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 395  -15 | 215 | 205 30
4H-208 A6 210 91 103 170 133.4 106.38 150 5 17 66 16,5 335 -15 155 205 30
4H-210 A6 260 102 | 122 220 171.4 106.38 133.4 5) 25 86 105 | 35,5 | -10.5 | 14.5 25) 45
4H-210 A8 260 102 = 115 220 171.4 139.72 190 5 18 86 105 28,5 -105 7.5 25 45
4H-12 A8 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
4H-15 A8 381 132 159 300 235 139.72 171.4 6 33 120 11 44 -14 19 39 60
4H-15 A11 381 132 | 148 300 235 196.87 260 6 22 120 11 88 -14 8 39 60
4H-18 A1l 450 132 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T U
4H-206 @ A5 M60x2 M55x2 4~M10 16 16 37 73 20 21.25 9.25 36 33 31 12 3~M6
4H-208 A5 M75x2 M60x2 4~M12 17 18 38 95 25 237 10.2 457 419 35 14 6~M10
4H-208 A6 M75x2 M60x2 4~M12 17 15 38 95 25 237 102 457 419 35 14 3~M6
4H-210 A6 M95x2 M85x2 4~M16 20 18 43 110 30 32.2 12.7 56.5 52.05 40 16 6~M12
4H-210 A8 M95x2 M85x2 4~M16 20 22 43 110 30 322  12.7 56.5 52.05 40 16 3~M8
4H-12 | A8 M100x2 M100x2 4~M16 23 25 51.3 130 30 44.75 1475 61.3 56 50 21 3~M8
4H-15 A8 M130x2 M115x2 M130x2 M100x2 4~M20 30 24 63 165 43 49.75 19.75 775 722 62 2550r22 6~M16
4H-15 A1l M130x2 M130x2 4~M20 |31 28 | 63 165 43 49.75 19.75 775 722 62 25.50r22 3~M10
4H-18 A1l M130x2 M130x2 4~M20 31 29 63 |165 43 82.75 21.25 775 722 62 2550r22 3~M10

AR 4H-A BLZ~T% (The dimensions and the specifications of 4H-A type are in red data.)
AUTOGRIP



VE

o BE=TUNEIPEIGE -
o RBEHMLIFLEBERINE WEHEES -
o BEFAMNELAEEHIK -
® WEDGE-HOOK type 3-jaw mini power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® Suitable for bench lathe.
3~M8x20L
3 35 22/
A
] -
max.15 7‘%77”7:@7# oo
min. 5 i Ng| 2
M8x40L oo
_ © =
[To] L < © S E
[ee] (::'): 0 N L |
Q| K| 9 §
Q
—
| \_3~M8x35L
11
36
RERRIELHIETR)
Subject to technical changes
FATFRHE SPECIFICATIONS
a3 pogr | VI RRER  jueiAh BAKESH  BSEEH | E8  EEESE  BAERES
8 (B®) Chucking Dia. = o™ = i i = =
Plunger Jaw stroke =72\ Max. Clamping Moment of )
Model o (Dia.) Max.  Min. Max. D.B. pull — Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) kg * m? kg MPa (kgf/cm?)
3P-03 10 4.6 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 1.2(12.4)

A 2 /24N Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03

40

Mounting Hole

MBI 447, ‘%
/ |

T

16

24.5
2.5

|

|

|
[ 1 \[
| L %1

[
896 8H7

5.5

AUTOGRIP ©



REHSIRE ()

POWER CHUCK

A 3r[3pP-A

o =B -
o REENEHIKECRIBEME THEES -
o SHIMAEBRSRFIEE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H G M H G E1l H G M PrEEE 15 S
3P-10A6 — U —] \ |
3P-12A6 T e
Refer to Fig.A gij!* a 3 L: ?‘}L a
2HE A L—F:i, oz 8 %Q ,I: JLJL 6’ z
o Ry X ! " RESIEN ‘ = -
oy JANE N \ i —— e e v e I
A = S o)
] z | o K g &/ sl W o
et @* B R
= e ] < O B <& Lt
Ll s g | SIS /1] SRS
Fig.A L/l | E L/ Ly | B L/ _E by Aty
& A B B
REB RIS REIER) 3P-04,3P-05 3P-A 3P
Subject to technical changes
F#R1& SPECIFICATIONS
o NP 1778 RRFER e e = o = e RAEA
I o = =
L WO (HIE  chamgDia,  BYRANA  EARSH  BmEsH B8 EF DA B
Plunger  Jaw stroke A = &/ Max. Clamping Moment )
. e (Dia.) Max. | Min. Max. D.B. pull o Max. speed T Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min?t (rp.m.) kg *m? kg MPa (kgf/cm?)
RK-75(N) 2.2(22)
3P-04 15 6.9 110 5 8.1(830) 22.5(2300) 6000 0.01 4.1 - RA-130 0.6(6)
RK-75(N) 2.2(22)
3P-05 15 6.9 135 14 8.1(830) 25(2550) 5500 0.02 6.2 = RA-130 0.6(6)
RK-100(N) 2.6(26)
3P-06 A5 20 9.2 165 16 17.9(1830) 52.4(5350) 5250 0.05 13 14 RA-170 0.6(6)
RK-125(N) 2.3(23)
3P-08 A5 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 28 RA-220 0.5(5)
RK-125(N) 2.3(23)
3P-08 A6 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 27 RA-220 0.5(5)
RK-125(N) 2.6(26)
3P-10 A6 25 8.8 254 24 28.9(2950) = 107.8(11000) 4000 0.3 35 42 RA.220 0.6(6)
RK-125(N) 2.6(26)
3P-10 A8 25 8.8 254 24 28.9(2950) = 107.8(11000) 4000 0.3 35 40 RA-220 0.6(6)
RK-150(N) 2.6(26)
3P-12 A6 30 10.5 304 24 41(4180) 155.8(15900) 3360 0.73 59 65 RA-270 0.3(8)
RK-150(N) 2.6(26)
3P-12 A8 30 10.5 304 24 41(4180) 155.8(15900) 3360 0.73 59 63 RA-270 0.5(8)
SNEIR~F DIMENSIONS
Model A B (€ D D1 D2 E E1l F G max. G min. H J
3P-04 110 52 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 80 100 - - 7 = - 9 = -6 = B5) 28
3P-06 A5 165 74 84 140 104.8 82.56 116 5 15 21 102.6 876 82.6 67.6 35 34
3P-08 | A5 210 85 103 170 1334 82.56 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170  133.4 106.38 150 5 17 25 127 110 106 89 36 38
3P-10 A6 254 89 109 220  171.4 106.38 133.4 5 25 34 158 133 133 108 36 45
3P-10 A8 254 89 102 220 1714 139.72 190 5 18 34 158 140 133 115 36 45
3P-12 A6 304 106 125 220 171.4 106.38 133.4 6 25 34 163 138 133 108 36 50
3P-12 A8 304 106 118 220 171.4 139.72 190 6 18 34 163 145 133 115 36 50
Model K L L1 M N P Q max. Q min. R max. R min. S| T U
3P-04 M10x1.5 3~M8 12 - 24 52 14 11.2 6.7 23.6 20.15 23 10 -
3P-05 M12x1.75  3~M8 14 - 31 62 14 15.7 5.2 30.4 26.95 25 10 -
3P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 33.65 31 12 3~M6
3P-08 A5 M20x2.5 @ 6~M12 20 17 38 95 25 25825 11.75 46.3 41.45 35 14 6~M10
3P-08 A6 M20x2.5 6~M12 20 18 38 95 25 25.25 11.75 46.3 41.45 35 14 3~M6
3P-10 A6 M20x2.5 6~M16 18 18 43 110 30 35.25 12.75 51.1 46.7 40 16 6~M12
3P-10 A8 M20x2.5 6~M16 18 25 43 110 30 35.25 12.75 51.1 46.7 40 16 3~M8
3P-12 | A6 M20x2.5 6~M16 18 18 51 130 30 48.75 12.75 61 55%/5) 50 18 or21 6~M12
3P-12 | A8 M20x2.5 6~M16 18 25 51 130 30 48.75 12.75 61 55.75 50 18o0r21 3-~M8

AR 3P-A BUZ T (The dimensions and the specifications of 3P-A type are in red data.)
7 AUTOGRIP



=EHKE (= =M
A 3p[3P-A TIEEES) :

B =M B35 -

RBEEISEERIBERME  WEREE -

S EE RS RFIEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch  #FEEEE

3P-215,3P-218 : 1.5 M s
3P-215A8 3P-221,3P-224 : 3.0 ——»‘ ‘«—»‘
3P-221A8
3P-221A11
3P-224A11 = — @%
Refer to Fig.A == S
28 A ST o E @

E1 8 L] =
o - 2
< 2
v 8 o S‘
S| <

1~ Jull 14
%(J_i L1 B e ”’lLE

B | [a5°)
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
BA
R IEDLRIHER]

Subject to technical changes

R iR & SPECIFICATIONS

)5 \=za | ATHE TEFERE s e = . = e = -
B BOTE g chuongbia  SERAND  BAKSH  REEEH 8 BREHE  RARREN
Plunger Jaw stroke #&A = &/ Max. Clamping Moment of )
T S (Dia.) Max. Min. Max. D.B. pull o Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgflcm?)
3P-215 | A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 122.4 RH-200 or 2.8(28)
RK-200(N)
RH-200 or
3P-215 | A1l B85 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 116 2.8(28)
RK-200(N)
RH-200 or
3P-218 A1l 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 2.8(28)
RK-200(N)
3P-221 | A8 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 200 RH-200 or 2.8(28)
) ) RK-200(N) )
RH-200 or
3P-221 All 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 194 RK-200(N) 2.8(28)
RH-200 or
3P-224 A1l 35 16 610 152 82(8360) 272.6(27800) 1750 7 230 246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 A15 35 16 610 152 82(8360) 272.6(27800) 1750 7 230 238.6 2.8(28)
RK-200(N)
4MURST DIMENSIONS
Model A B C D D1 D2 B EilS G max. G min. H J K
3P-215 A8 381 114 141 300 235 139.72 171.4 6 33 104 71 69 36 55 60 M30x3.5
3P-215 A1l 381 114 130 300 235 196.87 260 6 22 104 82 69 47 5 60 M30x3.5
3P-218 A1l 450 114 130 300 235 196.87 260 6 22 92 70 57 35 55 60 M30x3.5
3P-221 A8 530 125 152 380 330.2 | 139.72 171.4 6 &3 97 64 62 29 55 60 M30x3.5
3P-221 A1l 530 125 146 380 330.2 | 196.87 235 6 27 97 70 62 35 55 60 M30x3.5
3P-224 A1l 610 125 146 380 330.2 | 196.87 235 6 27 97 70 62 85 55 60 M30x3.5
3P-224 A15 610 125 146 380 330.2 | 285.78 330.2 6 27 97 70 62 35 55 60 M30x3.5
Model L L1 M N P Q max. Q min. R max. R min. S| T U
3P-215 A8 6~M20 30 24 63.3 165 43 51.25 18.25 77.5 69.5 62 255 6~M16
3P-215 | A1l 6~M20 30 33 63.3 165 43 51.25 18.25 77.5 69.5 62 2515 3~M10
3P-218 A1l 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 255 3~M10
3P-221 | A8 6~M24 31 24 71 180 60 96.5 24.5 86 78 65 25 6~M16
3P-221 A1l 6~M24 31 28 71 180 60 96.5 245 86 78 65 25 6~M20
3P-224 A1l 6~M24 31 28 71 180 60 96.5 245 125 117 65 25 6~M20
3P-224 A15 6~M24 31 34 71 180 60 96.5 245 125 117 65 25 3~M12

AT EEUES 3P-A B Z <% (The dimensions and the specifications of 3P-A type are in red data.)

AUTOGRIP 8



= ISIE] “MeEPEE
A 2p[2P-A EEDIE

o ME_MPERE -
o BENEMIKELRIBEME UTHEES -
o SHMAEBRSRFEE -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
H_ . G H _ G El H G M BB 15

2P-08 A5 r M ul -

2P-10 A6 = Smi gL e

Refer to Fig.A ,:Z%f o = = e

%E,g] A EHO o Z 8‘{ s - L [LSE S o

P | ! &t [z ‘ = «
E1 RSN - L = — i T
o = EC—— = | — -
ol u o I 1 .
&#j L L ) K Q K o L1 [a)
T 87 = Q < U\ S{_ i ! ,E
L §J -'tg’ SIS ] § 8 2P-04 Only 4 bolts
L 2P-05 (4381
Ly B L/l E L/ L1 B L/ _|E
) B B
Fig.A
A 2P-04 ~ 2P-05 2P-A 2P
RIS SRR
Subject to technical changes
BTG SPECIFICATIONS
5 NP miTig RIFER = = = = P = =
1) =] P~ = =
Ll BT (Ef8) | Chucking Dia. BEFRANT RAREFT =L E | 28 BEAEEI SAEHREH
Plunger  Jaw stroke &A &)\ Max. Clamping Moment )
— stroke (Dia.) Max.  Min. Max. D.B. pull — Max. speed i —— Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgf/cm?)

§ ) RK-75(N) 1.5(15)
2P-04 15 6.9 110 5 5.3(540) 14.7(1500) 6000 0.01 3.8 RA-130 0.4(4)

} RK-75(N) 1.5(15)
2P-05 15 6.9 135 14 5.3(540) 16.7(1700) 5500 0.02 58 - RA-130 0.4(4)

RK-100(N) 1.7(17)
2P-06 A5 20 9.2 165 14 12(1220) 35(3570) 5250 0.04 12 13 RA-170 0.4(4)

} RK-125(N) 1.5(15)
2P-08 A5 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 26 RA-220 0.4(4)

- RK-125(N) 1.5(15)
2P-08 A6 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 25 RA-220 0.4(4)

RK-125(N) 1.8(18)
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 42 RA-220 0.4(4)

i RK-125(N) 1.8(18)
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 40 RA-220 0.4(4)
2P-12 A8 30 10.5 304 22 27.4(2800) 103.9(10600) 3360 0.70 57 61 RK-150(N) 1.7(17)
2P-15 All 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 103 RK-200(N) 1.9(19)

MBI R~ DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - 6 - 85 28
2P-06 A5 165 74 84 140 104.8 82.56 116 5 15 21 102.6 87.6 82.6 67.6 35 34
2P-08 A5 210 85 | 103 170 133.4 82.56 104.8 5 23 25 127 104 106 83 36 38
2P-08 A6 210 85 97 170 133.4 | 106.38 150 5 17 25 127 110 106 89 36 38
2P-10 A6 254 89 109 220 171.4 | 106.38 1334 5 25 34 158 133 133 108 36 45
2P-10 A8 254 89 102 220 171.4 139.72 190 5 18 34 158 140 133 115 36 45
2P-12 A8 304 106 @ 118 220 171.4 139.72 190 6 18 34 163 145 133 115 36 50
2P-15 A1l 381 114 130 300 235 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S T U
2P-04 M10x1.5 4~M8 12 - 24 52 14 11.3 8.3 23.3 20.15 23 10 -
2P-05 M12x1.75 4~M8 14 - 31 62 14 13.5 6 30.4 26.95 25 10 -
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 33.65 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 22.3 11.8 46.3 41.45 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 22.3 11.8 46.3 41.45 35 14 3~M6

2P-10 AB M20x2.5 6~M16 18 18 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 125 = = 50 18o0r21 6~M8
2P-15 A1l M30x3.5 6~M20 30 33 63 165 43 48.8 23.3 77.5 69.5 62 255  3~-M10

A EEIESA 2P-A BLZ <1 (The dimensions and the specifications of 2P-A type are in red data.)
9 AuToGRIP



- HBEM1TIES8) /17KEE =MehzR
’ 3 LI3L A EXTRA LONG JEAW STROIZE POWER CHUCK

HRE - TEBAERARL - BRTUTE -

BENEIDKIECRIBERINE - TEEEE -

St EE RS REFEE -

CRANK type 3-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EAEGIRIE R BRI TR 2 AL,

K max B4 EAE RIS P B RME S 2 R KFRAG, IR B IR R KR,
J is the hole diameter of blank draw nut .

K is the maximum thread specification and it could be customize.

3L-208 A5 Serration Pitch
3L-210 A6 G BEEElE 1.5
3L-215 A8 " M
Refer to Fig.A E1 G H \
258 A u \ s N
, |
RN [ Ao o
= ol 2
K[ HI
K
©
T
<| O
[SIRN]

1%@{*@%«@&&3@*2%1 Subject to technical changes 3 L-2 A
F#T#R4& SPECIFICATIONS e
ng o IR CIEE  sugknn | BAKEH  BEOEH | ER EREHE  RAGAES
() Chucking Dia.
— Pslturgggr Ja\lesi;r.t))ke l\%ajx(. ﬁg\ Max. D.B. pull Max.fgrli;npmg Max. speed m?::t?; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mini(r.p.m.) kg * m? kg MPa (kgf/cm?)
3L-205 A4 12 18 138 6 15.6(1590) 17.2(1750) 4200 0.019 7.2 8 TK-A533 2.3(23)
3L-206 A5 15 24 170 24 23.5(2400) 26.0(2650) 3600 0.063 14.7 159 TK-C646 2.7(27)
3L-208 A5 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 25.7 TK-A853 2.8(28)
3L-208 A6 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 246  TK-A853 2.8(28)
3L-210 A6 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 0.35 395 46.5 TK-A1075 3.1(31)
3L-210 A8 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 035 39.5| 45 TK-A1075 3.1(31)
3L-212 A8 30 45 315 61 64.7(6600) 61.0(6220) 2100 0.827 67.3 70.5 TK-A1291 3.0(30)
3L-215 A8 35 52 405 52 84.3(8600) 85.0(8665) 1600 258 139 152 TK-A1512-35 2.7(27)
3L-215 ALl 35 52 405 52 84.3(8600) 85.0(8665) 1600 2.58 139 145 TK-A1512-35 2.7(27)
4MYR~F DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J
3L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
3L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
3L-208 A5 215 96 114 170 133.4 = 82.56 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 215 96 114 170 133.4 106.38 150 ® 23 52 7 30 -13 10 20 30
3L-210 A6 260 108 128 @ 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 260 108 @121 220 171.4 | 139.72 190 5 18 75 8.5 26.5 | -16.5 15 25 45
3L-212 A8 315 125 138 220 171.4 139.72 190 5 18 91 15 33 -15 3 30 50
3L-215 A8 405 150 @177 300 235 139.72 | 171.4 6 33 120 125 | 455 | -225 | 10.5 39 60
3L-215 A1l 405 150 166 300 235 196.87 260 6 22 120 125 345 -225 -05 39 60
Model K max. L L1 M N P Q max. Q min. R max. R min. S T U
3L-205 A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 38.5 295 25 10 3~M6
3L-206 A5 M55x2 3~M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~M6
3L-208 A5 M60x2 3~M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3~M12 18 20 38 95 25 19.25 10.25 63.5 47.5 35 14 3~M6
3L-210 A6 M85x2 M60x2 3~M16 24 20 43 110 30 24.75 11.25 80 61.25 40 16 3~M12
3L-210 A8 M85x2 3~M16 24 21 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3~M16 24 21 51 130 30 29.75 13.25 96.5 74 50 21 3~M8
3L-215 A8 M130x2 6~M20 33 | 275 | 63 165 43 34.75 13.75 119 93 62 2515 6~M16
3L-215 A11 M130x2 6~M20 33 31 63 165 43 34.75 13.75 119 93 62 25.5 3~M10

AT IR 3L-A BLZ~1IE (The dimensions and the specifications of 3L-A type are in red data.)
autocrip 10



- HBEN1TIE8) /17KEE = ez
’ 2LI2L A EXTRA LONG JEAW STRO}ZE POWER CHUCK

o MREL_TUBAEBBIAK  BRMNITRE -
o REHIIKE(ERBEME WEHBEHEE -
o SHIUAEBRSREFREE -
® CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J BEAREEIZEIERBERR R 2 FLIE,
K max {B# B 45 IR IE P] R BUEA S 7 | KRR, TR B R R KT R,
J is the hole diameter of blank draw nut,
K is the maximum thread specification and it could be customize.
G Serration Pitch
] 5
E1 G H MAM S
2L-15A8 v ﬁﬂ»
Refer to Fig.A =) i :fT
288 A g | e i
E1 o 1»\ Sk S NN R
N o K W] iy x r"o)
() I A T
s 88 o RIS
Q| @ Q J |
L’L_ EL —d| g Q)
i
Wan il
L1 B L E T
B
2L-A 2L
Serration Pitch -
HEeEEE 15
2L-208A5 G M
2L-210A6 S, G_ . H \
Refer to Fig.B E1 T I
2£5iE B U e
— -7 o
=) e o 2
N K \
~ Y |
© ad
T L
— O WT L L
[a)] Q| Q
& 4
L —= S
|5
L/ |
L1 B L E
T B
2L-2A 2L-2
REGHREBBIIEF) Subject to technical changes
FAT#RH% SPECIFICATIONS
n3, moe | T (PR smRAA)  RawEn  REDSE EE  ERENE  RARAES
Plunger  Jaw stroke A = &/ Max. Clamping Moment .
Model S (Dia.) Max.  Min. Max. D.B. pull o Max. speed A Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgflcm?)
2L-205 A4 12 18 138 6 10.4(1060) 11.4(1170) 4200 0.018 6.9 77  TK-A533 1.5(15)
2L-206 | A5 15 24 170 24 | 15.7(1600) 17.3(1760) 3600 0.063 14.4 15.6 TK-C646 1.8(18)
2L-208 A5 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 26 TK-A853 1.9(19)
2L-208 A6 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 124.2 TK-A853 1.9(19)
2L-210 A6 25 375 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 455 TK-A1075 2.1(21)
21-210 A8 25 375 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 @ 44 TK-A1075 2.1(21)
2L-12 A8 30 45 304 30 @ 43.1(4400) = 50.0(5100) 2100 0.8 60 65.5 TK-A1291 2.0(20)
2L-15 A8 35 52 385 26 = 56.2(5730) @ 53.0(5400) 1600 2.52 133 | 147 TK-A1512-35  1.8(18)
2L-15 A1l 35 52 385 26 @ 56.2(5730)  53.0(5400) 1600 2.52 133 | 140 TK-A1512-35  1.8(18)

A EBEEA 2L-A BLZTIE (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP



- BRN{TIE8) 17K EE Gt
’ 2'-/ 2L-A EXTRALONG JAW STROKE POWER CHUCK

$MUR~F DIMENSIONS
Model A B Cc D D1 D2 E El F G max. G min. H J
2L-205 A4 138 65 76 110 826 6351 96 4 15 32 1 15 11 3 20 12
2L-206 A5 170 84 97 140 1048 8256 116 5 18 = 45 65 245 -85 95 19 20

2L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30
2L-208 A6 215 9 114 170 133.4  106.38 150 5 23 52 7 30 -13 10 20 30
2L-210 A6 260 108 128 220 1714  106.38 1334 5 25 75 8.5 33 -16.5 8 25 45
2L-210 A8 260 | 108 | 121 220 171.4 139.72 190 5 18 75 8.5 26.5 | -16.5 | 1.5 25 45
2L-12 A8 304 127 140 220 171.4 139.72 190 5 18 91 15 33 -15 3 28 50

2L-15 A8 385 | 150 | 177 300 235 139.72 171.4 6 33 120 125 455  -225 105 39 60

2L-15 A1l 385 150 166 300 235 196.87 260 6 22 120 125 345 -225 -05 39 60
Model K max. L L1 M N P Qmax. Qmin. Rmax. R min. S| T U
2L-205 A4 M40x1.5 4~M10 15 15 31 62 14 1575 5.25 38.5 29.5 25 10 3~M6
21-206 A5 M55x2 4~M10 18 15 37 73 20 | 1525 | 7.75 51 39 31 12 3~M6
2L-208 A5 M60x2 4~M12 18 19 38 95 25 19.25 10.25 635 47.5 35 14 6~M10
2L-208 A6 M60x2 4~M12 18 20 38 95 25 19.25 10.25 635 47.5 35 14 3~M6

2L-210 A6 M85x2 = M60x2 4~M16 24 20 43 110 30 2475 11.25 80 61.25 40 16 6~M12

2L-210 A8 M85x2 4~M16 24 21 43 110 30 2475 11.25 80 61.25 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 46.25 19.25 77 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275 | 63 165 43 | 5125 27.25 9425 68.25 62 255 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 5125 27.25 94.25 68.25 62 25.5 3~M10

A EBEIEA 2L-A BLZ~TIE (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP 12



L BETITI2E /)5 —

EXTRA LONG JAW STROKE POWER CHUCK

HIRELEE M E2eE - BR/NITE -

BRRGEHEER T HAIRE -

SHMERRSRERE -

CRANK type single-jaw with the large through-hole and extra long jaw
stroke.

Suitable for clamping the jig or irregular work piece.

® High rigidity and high clamping accuracy.

Serration Pitch
HEEfE 15

c o M
- = <<
1L-08A5 3~U x‘f —
1L-10A6 S ol e i
Refer to Fig.A %Eéﬁ E i
SB9E A e B ERrH
H H
|
© i :
8o
=D
[SIESIRS] g
K
Kl .
=1 B (fro balance weight) 7‘3
. (e
Fig.A e
RERRAEHEONR A T1L-A 1L
Subject to technical changes _
FR1E SPECIFICATIONS
P BUIR IR OOUS BHBAN)  RAKSNH  EREEE | R GRESE  BARRES
Plunger BA =) Max. Clamping Moment of :
Model —— Jaw stroke Max. | Min. Max. D.B. pull — Max. speed T— Weight s Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg *m? kg MPa (kgficm?)
1L-06 A5 20 16 168 5 12.3(1250) 27.3(2780) 3800 0.05 125 143 RK-100 1.7(17.5)
1L-08 | A5 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 271 RK-125 1.4(14.3)
1L-08 | A6 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 25.3 RK-125 1.4(14.3)
1L-10 | A6 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 46 RK-150 1.3(13.7)
1L-10 | A8 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 44.3 RK-150 1.3(13.7)
4MUR~T DIMENSIONS
Model A Al B (& D D1 D2 B F G max. G min. H J J1 K max. L L1

1L-06 A5 168 9.5 80 90 140 1048 82.56 116 15 21 37 17 25 46 54 M30x1.5 M10 16 16
1L-08 A5 215 8 | 93 111 170 1334 8256 104.8 | 23 21 46 21 32 52 70 M33x1.5 M12 21 19
1L.-08 A6 215 8 93 105 170 133.4 106.38 150 17 21 46 21 32 52 70 M33x1.5 M12 21 20
1L-10 A6 254 135 108 128 220 171.4 106.38 1334 | 25 30 47 17 30 62 90 M45x15 M16 25 20
1L-10 A8 254 135 108 121 220 171.4 139.72 190 18 30 a7 17 30 62 90 M45x1.5 M16 25 27

Model M N P Qmax.  Qmin. R max. R min. S T U V(H6) V1(h9) V2 w w1 X Y 4
1L-06 A5 37 | 73 20 19.75 7.75 46 30 31 12 M6 30 15 45 64 M10 445 36 30
1L-08 A5 38 95 25 2525 10.25 54 34 35 14 MI10 35 18 45 70 M12 61 52 36
1L-08 A6 38 | 95 25 2525 10.25 54 34 35 14 M6 35 18 45 70 M12 61 52 36
1L-10 A6 43 110 30 3375 11.25 67 43 40 16 M8 40 20 5 90 M14 71 585 45
1L-10 A8 43 | 110 30 3375 11.25 67 43 40 16 M8 40 20 5 90 M14 71 585 45

A EEIES 1L-A BLZ<TIE (The dimensions and the specifications of 1L-A type are in red data.)
13 AutocriP



3M PER/MITIENRE (—) =mehm

LONG JAW STROKE POWER CHUCK

B =R E¥E - RTITE -

BENEIKECRIBERINE - TEEEE -

St EE RS REFEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch

M HrEEE 15 S
Iy
— 21
=l || BEH T
T ERL ol -

DA

aC

aJ
- =

i
i)
R
i

L,/ U B
3M-05
Serration Pitch
M HetalE 1.5 S
JR — — T
f = e
! Camia
a1 o] <
|
|
[_i\? |
s | .
S
L8
Q
L E
REB RIS REIER) B
Subject to technical changes
) 3M-06~3M-12
FR1& SPECIFICATIONS —_—
e S = 712 TRFER psre = o = S = :
B BB EIm chuongpia | SEEANT  BAKSH  BEEEH | EE  EROHE  RAEREN
Plunger = Jaw stroke = &K = Max. Clamping Moment of )
o —— (Dia.) Max. Min. Max. D.B. pull — Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/lcm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (5100) 4000 0.04 12.2 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4 (3000) 72 (7340) 3500 0.13 23.0 RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 34.3 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54.0 (5500) 150 (15300) 2500 0.71 59.4 RK-150(N) 3.6(36)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L L1 M N B Q max. Q min. R max. R min. S T
3M-05 3~M8 14 31 62 14 15.5 5 32.9 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 323 12.8 53.9 441 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AuTOGRIP 14



3M FERMITIZZRIE () =MeER

LONG JAW STROKE POWER CHUCK

=M B X - RNITE -

BEEIKEERIBRME  WEEEE -

S EE RS RFEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch HFE b

3M-215, 3M-218 : 1.5 M S
3M-221, 3M-224 : 3.0 E ]

::iﬁ
|
_31—‘7
Q

K L1

ul |

@

@
\SZ/ARAN)

I L

Q 2%
§ L ¥
_IE 5 30 30
3M-215,3M-218 3M-221
St e hanges
FXHTRRHE SPECIFICATIONS
my  momr R SEER O augion BAsn emesn T8 EFOHE BAEREN
(BX) Chucking Dia.
Model Psltu,ggzr Javglasiggke I\E?a{f. ilrjm\ Max. D.B. pull Max.fgrliénping Max. speed M?r:r:t?; i Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg *m? kg MPa (kgflcm?)
3M-215 35 25.4 381 20 91.0 (9280) 158.9 (16200) 2300 1.8 96 RK-200(N) 3.0(30)
3M-218 85 25.4 450 51 91.0 (9280) 158.9 (16200) 2000 2.32 124 RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280) 158.9 (16200) 1350 4.9 175 | RK-200(N) 3.0(30)
3M-224 85 25.4 610 160 91.0 (9280) 158.9 (16200) 1250 7.2 225  RK-200(N) 3.0(30)
4MEIR<F DIMENSIONS
Model A B C(H6) D B F G max. G min. H J
3M-215 381 114 300 235 6 2 104 69 55 60
3M-218 450 114 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S} T
3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5
3M-218 M30x3.5 6~M20 85 63.3 165 43 51.25 18.25 109.5 96.8 62 23,3
3M-221 M30x3.5 6~M24 31 71 180 60 90.5 24.5 92 79.3 65 25
3M-224 M30x3.5 6~M24 31 71 180 60 90 24 131 118.3 65 25

15 AutoGrIP



M PERMNITIZKE = Mg

LONG JAW STROKE POWER CHUCK

PR E¥E - RTITE -

BENEIKECRIBERINE - TEEEE -

St EE RS REFEE -

WEDGE-HOOK type 2-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch s
M HreEgE 1.5
== 1
E ;u:\ T
\ =0+ S
M A 14 gl z
a —
K ‘ ‘
ﬂ% il «
<| O
Q| Q

1

;{[
o

2M-05

Serration Pitch
M HkEEE 15 s

w |
[ e 4
‘ g@j:’_H ri‘\\ = m’

TP 1%

| - ==
<| 8 =1 ~er
Q
| o
= B
/e
RIS EONER B T
Sub hnical ch:
ubject to technical changes 2M_06~2M_’| 2
BHTHEG SPECIFICATIONS —
B3 moe | TEE JEEE  smeAA)  RAKEN  BEEEN 1 EE OSRENE  RARRAES
Plunger  Jaw stroke A =N Max. Clamping Moment '
Model stroke (Dia.) Max. Min. e D, [l force Wik, sppeed of inertia WeTE i Matching cyl. ks [PIESSUE
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgflcm?)
2M-05 15 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460) 24(2450) 4000 0.04 12.2 RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000)  36.6(3730) 3500 0.13 23.0 RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660)  49.3(5030) 3000 0.30 34.3 RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1 RK-150(N) 2.4(24)
$MUR~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5) 160 133 36 45
2M-12 304 106 220 171.4 6 70 40 46 50
Model K L L1 M N [ Q max. Q min. R max. R min. S T
2M-05 M12x1.75 4~M8 14 31 62 14 155 5 32.9 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AUTOGRIP 16



’ 3V-A MV ERPEEIKE(—) =MAREBADBE

POWER CHUCK FOR VERTICAL LATHE

o =P ENWHE -
o  UIBRIKEE - HRlIESERARIIIVER -
° WEDGE-HOOK type 3-jaw high speed power chuck.
° Sealed against swarf, chips and coolant, suitable for vertical lathe.
3v-21
) 3V-24
Serration Pitch S 3V-32
H o M, mEE P
§ u El‘[ o=
3V-15A8 i e
3V-15A15 TTAr HE
Natads e >
3V-21A11 T
g\/.f24A1;|'_:_ A <o 2 _'—‘—‘— j - § ¥¢‘ ~,—"%J 14
ﬁe er to Fig.. SIRSIESIRSIAS 8| 9 i m = g =
25908 A nl N s
L;_,i*
N 8¢ BT s
Refer to Fig.B L/ \ L
2RE B E
L B g
IREB IR IEREIER) )
Subject to technical changes F'BB 3V-A &
M SPECIFICATIONS
)3 N2 | TUTEE TRFER pesre = o — R = =
sk BT (E;Ig) St BEFRANT RAKE | mEOEH I - BREOHEI SAERESN
Jaw .
Plunger =¥\ =) Max. Clamping Moment of .
. strpke Max. Min. Max. D.B. pull o Max. speed . Weight . Max. pressure
Model (Dia.) Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) (rn;":;) kg * m? kg MPa (kgficm?)
V12 A8 30 127 304 30  41(4180)  156(15900) 3150 073 0.79 62.9 687 E'éjgg 2.6(26)
3Vv-15 A8 35 16 381 30 81.9(8360) 245.1(25000) 2900 197 2.27 1055 1285
3V-15 All 35 16 381 30 81.9(8360)  245.1(25000) 2900 197 2.27 1055 127
3v-15  Al5 85 16 381 30 81.9(8360)  245.1(25000) 2900 3.33 | 2.67 |105.5 142
3v-18 A8 35 16 450 80 81.9(8360)  245.1(25000) 2600 3.33  3.62 132.7 155.5
3v-18 | A1l 85 16 450 80 81.9(8360)  245.1(25000) 2600 3.33 | 3.63 132.7 1545 pk.ooo 2.8(28)
3v-18 | Al5 35 16 450 80 81.9(8360) 245.1(25000) 2600 6.83  4.02 |132.7 165 @ RE-200K 3.0(30)
3v-21 All 35 16 530 62 81.9(8360) 271.6(27700) 1800 6.83 | 7.46 |196.5 227
3v-21  Al5 35 16 530 62 81.9(8360) 271.6(27700) 1800 6.83 7.37 196.5 221
3V-24 All 35 16 610 136 81.9(8360) 271.6(27700) 1700 |11.19 11.83|241.7 272.8
3v-24  Al5 35 16 610 136 81.9(8360) 271.6(27700) 1700  11.19 11.73 241.7 266
3Vv-32 | Al5 35 16 800 136 81.9(8360) 271.6(27700) 1100  28.97 29.51 353.6 378
4MU R~ DIMENSIONS
Model A B © C1 D D1 D2 E El F G max. G min. H J
3v-12 A8 304 107 141 220 - 171.4 139.72 190 6 40 15 113 73 83 43 36 50
3v-15 A8 381 116 | 164 @ 300 - 235 139.72 | 171.4 6 54 | 1.5 | 153 99 118 64 55 60
3Vv-15 All 381 116 168 300 - 235  196.87 260 6 58 15 153 95 118 60 55 60
3v-15 | A15 381 116 | 172 - 380 235 285.78 330.2 6 62 | 1.5 | 153 91 118 56 55 60
3v-18 A8 450 @ 116 164 300 - 235 139.72 1714 6 54 15 153 99 118 64 55 60
3v-18 | A11 450 116 168 300 - 235 | 196.87 260 6 58 | 1.5 | 153 95 118 60 55 60
3v-18 | A15 450 116 @ 172 - 380 235 285.78 330.2 6 62 15 153 91 118 56 55 60
3Vv-21 All 530 @ 127 | 167 | 380 - 330.2 196.87 235 6 46 B 137 91 102 56 55 60
3v-21 | A15 530 @ 127 167 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
3v-24 | A1l 610 127 167 380 - 330.2 196.87 235 6 46 8 137 91 102 56 59 60
3v-24 | A5 610 127 167 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
3v-32 | A15 800 127 167 @ 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S T U
3v-12 A8 M20x2.5 3~M16 24 24 54 130 30 47.5 16 61 54.65 50 21 3~M8

3V-15 A8 M30x3.5 6~M20 35 24 66 165 43 51.25 18.25 77.5 69.5 62 2543 6~M16
3V-15 A1l = M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 77.5 69.5 62 25.5 3~M10
3Vv-15 Al5 = M30x3.5 6~M20 35 26 66 165 43 51.25 18.25 77.5 69.5 62 2515) 6~M24
3v-18 A8 M30x3.5 6~M20 35 24 66 165 43 51.25 18.25 108 100 62 25.5 6~M16
3V-18 All = M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 108 100 62 2543 3~M10
3V-18 Al5 = M30x3.5 6~M20 35 26 66 165 43 51.25 18.25 108 100 62 25.5 6~M24
3v-21 A1l = M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 6~M20
3v-21 Al5 = M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 3~M12
3V-24 All = M30x3.5 6~M24 41 S5 74 180 60 93.5 24.5 128 120 65 25 6~M20
3V-24 Al5 = M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 128 120 65 25 3~M12
3V-32 Al5 = M30x3.5 6~M24 41 35 74 180 60 189.5 24.5 128 120 65 25 3~M12

17 AUTOGRIP AI&2iE% 3v-A B2 1% (The dimensions and the specifications of 3V-A type are in red data.)



A 3v-A

VERAPEHIKE (D)

POWER CHUCK FOR VERTICAL LATHE

=MABEHKEER

U
= 1
8, B
0’\
~ g ik ‘
] S E' ) T
Qlgl8al © \ B
L1 ‘ El
3V-40A20
3V-50A20
Refer to Fig.A B -
2HE A -—
Fig.A
B A

RBIRIEIELEOIER

Subject to technical changes

iR SPECIFICATIONS

R BUTE
Plunger = Jaw stroke
Model stroke (Dia.)
mm mm
3v-40  A20 57 46+(60)
3V-50  A20 57 46+(60)
3V-63 60 48+(80)
3V-79 60 48+(80)
4R~ DIMENSIONS

Model A B
3v-40 | A20 1005 184 226
3v-50 | A20 1250 184 226
3V-63 1600 222 -
3V-79 2000 240 =

Model L L1
3v-40 A20 M24 37
3V-50 A20 M24 37
3V-63 M30 46
3V-79 M30 48

FEtIE KRk

B =M B KRR -
EMOEBFERETRE - LRIHERD -

B
AX A

T FRIESERARIAER -

WEDGE-HOOK type 3-jaw high speed power chuck.
With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

270
762 762 _

IR

Il 19.03

125

Em SJ-50 for V-40"~50"
Softjaw  $J-63 for V-63'~79"

©
<| T
S| o
o) Q
Q
o
d
REFER
Chucking Dia.
RBK =D
Max. Min.
mm mm
1005 310
1250 290
1600 390
2000 440
(& D
520 463.6
520 463.6
720 647.6
720 647.6
M N
110 270
110 270
110 270
110 270

BERANS
Max. D.B. pull
kN (kgf)
180(18350)
180(18350)
200(20390)
200(20390)
D1 D2
412.78  463.6
412.78 | 463.6

© ©0 0 o0 m

Q R
295
416
540

740

76.2
76.2
76.2
76.2

A BEES 3V-A Bl Z <7 (The dimensions and the specifications of 3V-A type are in red data.)

RAREN

Max. Clamping
force

kN (kgf)
320(32620)
320(32620)
360(36700)
360(36700)

El
50
50

max.
457
563
738
914

REEEH

Max. speed
min? (r.p.m.)
630
500
400
320

190
190
218
238

R min.
404
510
674
850

223
90
76.2| 38.1
n
[To) £ %
EamlG
19.03 ||
83
B -
Hardened jaw HJ-50 for V-40"~79
I s BRAEHEI  SAEREN
Mgmeqt @i Weight . Max. pressure
inertia Matching cyl.
kg * m? kg MPa (kgf/lcm?)
68 72 780 849 4.2(42)
RK-250
145 148 1000 1050 RE-250 4.2(42)
500 - 1900 - = RE-A250 4.6(46)
RE-L250
1250 | - 2800 - 4.6(46)
G max. G min. H J K
123 73 66 16 65 65 M36x4
123 | 73 | 66 16 65 65 M36x4
131 - 71 - 65 - M36x4
133 = 73 = 65 - M36x4
S T U Vv W
6~19.03 7~M24  3~M12 42 84
9~19.03 9~M24 | 3~M12 42 84
12~19.03 13~M24 - 42 110
16~19.03 17~M24 - 42 110

AUTOGRIP 18



MM BE

MV EAPEEIRE(—)

POWER CHUCK FOR VERTICAL LATHE

A 4v-A

AU M E K58 -

FothB &BhKEET - FRlESEARIIER -

WEDGE-HOOK type 4-jaw high speed power chuck.

Sealed against swarf, chips and coolant, suitable for vertical lathe.

Serration Pitch

HreEgs F s
. e —
gt = E of =
s
YT J x
e SEE (g
" e
N u\ —— _1
4V-15A15 1 L
RBIEAEERAIHER) = 5 S .
Subject to technical changes
BHIRR1% SPECIFICATIONS AVA v
we  mome TOE REE  amexan  mxwesn emEeR EE  ERESE BARAES
o /) i .
gl Pslturggzr Ja\g/Dsi;r.c))ke ;liaj; ]:/linJ] Max. D.B. pull Max.f(grlgzpmg Max. .s;?leed M?::S;Of Weight iatching oy Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min kg * m? kg MPa (kgflcm?)
(r.p.m.)
4v-12 A8 30 12.7 304 48 41(4180) 156(15900) 2520 0.72 0.79 59 67 52-128 2.6(26)
4V-15 A8 85 16 381 36 81.9(8360) 245.1(25000) 2300 2.10 | 2.39 108 @ 131
4V-15 All 35 16 381 36 81.9(8360) 245.1(25000) 2300 210 2.39 108 130
4V-15 A15 35 16 381 36 81.9(8360) @ 245.1(25000) 2300 210 2.79 | 108 @139
4v-18 A8 35 16 450 60 81.9(8360) 245.1(25000) 2050 3.51 | 3.80 139.3 162
4V-18 All 35 16 450 60 81.9(8360) @ 245.1(25000) 2050 351 3.80 139.3 160.9
4V-18 Al15 35 16 450 60 81.9(8360) 245.1(25000) 2050 3.51 | 4.20 1393 172 Eg-gggK gggg;
4v-21 All 35 16 530 62 81.9(8360) 271.6(27700) 1450 6.98 | 762 199 230
4v-21 A15 35 16 530 62 81.9(8360) @ 271.6(27700) 1450 6.98 7.53 199 2237
4v-24 All 35 16 610 152  81.9(8360) 271.6(27700) 1350 11.34 | 11.98 | 243.8 | 275
4V-24 Al15 35 16 610 152 81.9(8360) 271.6(27700) 1350 11.34 11.88 243.8 268.3
4V-32 Al15 85 16 800 152  81.9(8360) 271.6(27700) 880 32.58 3313 396 419.9
4MUR~T DIMENSIONS
Model A B (& (el D D1 D2 E E1l F G max. G min. H J
4V-12 A8 304 107 141 220 - 171.4 139.72 190 6 40 15 113 73 83 43 36 50
4V-15 A8 381 116 164 300 - 235 139.72 1714 6 54 15 153 99 118 64 55) 60
4V-15 A1l 381 116 168 300 - 235 196.87 260 6 58 15 153 95 118 60 55 60
4V-15 Al5 381 116 172 - 380 235 |285.78 330.2 6 62 15 153 91 118 56 55) 60
4V-18 A8 450 116 164 300 - 235 | 139.72 171.4 6 54 15 153 99 118 64 55 60
4V-18 All 450 116 168 300 - 235 196.87 260 6 58 15 153 95 118 60 55) 60
4V-18 Al15 450 116 172 - 380 235 | 285.78 330.2 6 62 15 153 91 118 56 55 60
4v-21 A1l 530 127 167 380 - 330.2 196.87 235 6 46 3 137 91 102 56 55) 60
4v-21 Al5 530 127 167 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-24 All 610 127 167 380 - 330.2 196.87 235 6 46 3 137 91 102 56 55) 60
4V-24 Al15 610 127 167 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-32 A15 800 147 187 380 - 330.2 285.78 330.2 6 46 3 137 91 102 56 55) 60
Model K L L1 M N P Q max. Q min. R max. R min. S) T U
4v-12 A8 M20x2.5 3~M16 24 24 42 110 30 51.75 15.75 61.3 54.9 40 16 4~M8
4V-15 A8 M30x3.5 6~M20 35 24 66 165 43 40.75 18.25 87.5 79.4 62 255 6~M16
4V-15 A1l  M30x3.5 6~M20 35 32 66 | 165 43 40.75 18.25 87.5 79.4 62 25.5 4~M10
4V-15 A15 M30x3.5 6~M20 35 26 66 @ 165 43 40.75 18.25 87.5 79.4 62 255 6~M24
4v-18 A8  M30x3.5 6~M20 35 24 66 165 43 51.22 18.22 108 100 62 255 6~M16
4V-18 A1l  M30x3.5 6~M20 35 32 66 165 43 51.22 18.22 108 100 62 255 4~M10
4V-18 A15  M30x3.5 6~M20 35 26 66 | 165 43 51.22 18.22 108 100 62 25.5 6~M24
4v-21 All  M30x3.5 6~M24 41 35 74 | 180 60 725 24.5 89 81 65 25 6~M20
4v-21 Al5 M30x3.5 6~M24 41 35 74 180 60 725 24.5 89 81 65 25 3~M12
4V-24 A1l  M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
4V-24 Al15  M30x3.5 6~M24 41 35 74 | 180 @ 60 93.5 245 128 120 65 25 3~M12
4V-32 Al15 M30x3.5 6~M24 36 35 74 | 180 60 189.5 24.5 128 120 65 25 3~M12

19 AUTOGRIP 4ltagiiE 4v-A B <F3% (The dimensions and the specifications of 4V-A type are in red data.)



A 4v-A

VHERARESHKE (D)

POWER CHUCK FOR VERTICAL LATHE

MR BE

4V-40 A20
4V-50 A20
4V-63 A20
Refer to Fig.A
2REA
E1
U —
&l
N| J
8|5 88l = i
11 .
G Q
L1
I
T
B.
Fig.A
BA
REB R IEREIRER)
Subject to technical changes
M SPECIFICATIONS
e SO M7
A5 BT (E—%TS_T
Plunger = Jaw stroke
Model stroke (Dia.)
mm mm
4V-40 A20 57 46+(60)
4V-50 A20 57 46+(60)
4V-63 60 48+(80)
4MURST DIMENSIONS
Model A B
4V-40 A20 1000 184 226
4V-50 A20 1250 200 242
4V-63 1600 240 -
Model L L1
4V-40 A20 M24 37
4V-50 A20 M24 38
4V-63 M30 46

B M P B 38 -
Mo BBFENR/EETE - DR ITHKRLD -
BptDiB K IhKeeET - FRIBSERARIIERK -
WEDGE-HOOK type 4-jaw high speed power chuck.
With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

©
<| T
el o
[S!
TEFER e =
Chucking Dia. BHBANT BARIST)
®A &N Max. Clamping
Max. Min. Y B2 (U force
mm mm kN (kgf) kN (kgf)
1000 310 180(18350) 320(32620)
1250 290 180(18350) 320(32620)
1600 390 200(20390) 360(36700)
(& D D1 D2 E El
520 463.6 412.78 463.6 8 50
520 @ 463.6  412.78 463.6 8 50
720 647.6 - - 8 -
M N P Q R max.
110 270 76.2 295 457
110 270 76.2 416 563
110 270 76.2 540 738

L BIES 4v-A B2 <H5% (The dimensions and the specifications of 4V-A type are in red data.)

Max. speed
min? (r.p.m.)
500
450

340

190
190
214

R min.
404
510
674

Moment of

inertia
kg * m?

70 94

222 | 224 1130 1180

565

G max.
123 73
123 | 73

131

S
6~19.03
9~19.03

12~19.03

-

Weight

kg
740 790

2000

G min.
66 16
66 16

71

T
7-M24
9~M24

13~M24

R DS ET

Matching cyl.

RK-250
RE-250
RE-A250
RE-L250

65 65
65 65
65 -

3~M12 42

3~M12 42

RAEREN

Max. pressure
MPa (kgflcm?)
4.2(42)
4.2(42)
4.6(46)

M36x4
M36x4
M36x4

84
84
110

Autocrip 20




A 3Hs = MR SRR E) /15 -

THRU-HOLE FULLY SEALED TYPE POWER CHUCK

o ETEINRET - KRR ERERR  RSEEWE -
o REFEAECIREEES - sEBLEUIHIK - BSIEDMNBA - BRI IEE R

FE -
o WEBESEALGMFRESS  S4NBRENEZANT - SELAE FMNIER - &5l
BEEARIIAER -

o OHRBECEETKIRPOEKIER(EL) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
—H Breage 5
G M S
EL
G|
u a
z
3 (o4
© o
INIR= < T
o|ala Ql o
SIRSIES) Q
L L
E
B
3HS-A 3HS
1REBHREIEELHIEF] Subject to technical changes
BHT#E SPECIFICATIONS
e S miT#2 TRFER e e = [, = O =
B BUFR Gl chcmobia SHRANN  BANEN  ESEEH ER BRI BARRED
Plunger = Jaw stroke &A= &/ Max. Clamping Moment )
Vodel o (Dia.) Max. | Min. Max. D.B. pull o~ Max. speed i — Weight Matching|cy! Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3HS-08 A6 18 7.6 220 22 31.9(3250) 92(9380) 5000 0.18 26.5 281 TK-A853 2.6(26)
ShEYR < DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
3HS-08 A6 220 98 110 170 133.4 106.38 150 5 17 52 20 15 2 -3 20 30
Model K max. K Default L L1 M N P Q max. Qmin. R max. R min. S T U
3HS-08 A6 M60x2 M55x2 | 6~M12 19 17 39 95 25 47.75 29.75 29 25.2 35 14 3~M6

4T EENES 3HS-A B1Z 3% (The dimensions and the specifications of 3HS-A type are in red data.)

21 AUTOGRIP



’ 3PS =MAERFRES)IKEE ST

FULLY SEALED TYPE POWER CHUCK

o ZETEANRE BHVREBEE  ESEEWE -

o REANEITIREEEE - BEFFLLUIHIK - UIBSEMNBA - BERKFERE
M RE -

o HEBEEALCERSS BAHNBRENZANI  sELARFILIE
- HRIBEERARIER -

o TIKEEEEEZKITRPLIEKIERER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
Beea b 15 M

S
I
o
— Z
H G
(o4
[ q
[ 1— @
o) I / =
Q = =
«/ "
[a)]
ol L1 Q
T
<0 \ \ = N
Q| Q I | RS
&
L/ E |
B
R IEBLHIRER]
Subject to technical changes
F M SPECIFICATIONS
\ j=70 miTiE TEFER BEFEA = =y = v 3 BAER
£} = = =
- BOTE (B Chucking Dia. A BRARFN EREEH | B8 BREEE B
" Plunger  Jaw stroke o = f Max. clamping Moment "
Sde (Dia.) & AMax. &/)\Min.  Max. D.B. pull - Max. speed of it Weight Matching cyl. Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min*(rp.m.)  kg:m? kg MPa (kgflcm?)
RK-150(N) 2.4 (24.4)
PS-12 . . .
3PS 30 12.7 315 22 38.5(3926) 160(16315) 3360 0.84 67 RA-270 0.7 (7.4)
4MYR~F DIMENSIONS
G G
Model A B C D E A o H J K
3PS-12 315 106 220 171.4 6 102 72 39 48 M20x2.5
Q Q R R
e - L i il i max. min. max. min. 2 U
3PS-12 6~M16 22 52 130 30 87.25 46.75 27 20.65 50 21

AUTOGRIP 22



’ 3N MM PE=THEE SMeEPERME

INCLINED MASTER JAWS POWER CHUCK

POMBEEREATERE IS IHEaBENEEERH -
AN EMNUEBEBRHQTENEBANRER) A= TEXREF LZFER - T
TR -

® The surface of the center through cover is grinding treated, it can be the
position base surface of the jig/workpiece.

® The slideway of main jaws is inclined. It improves the clamping force and
reduces the upfloat situation of the workpiece.

®  Work with standard top jaws.

R (B ) -
SBEAR T A -

Airtight pressure detect function is optional.
External gripping only.

Serration Pitch Axial jaw stroke
PeE&lE 15 dha MATiE
3~U
=
N 1
|
’H‘ il *T 1
;PE 4 \ o
i = pd
H G e o
\ ‘ 1
N | Y «
<| O] - - — /= 1
QI Q Na=
/ | I
K L1 ﬁ S
i LJ
e g —
3~L
E
B
REIEERITHER)
Subject to technical changes
FAT#RH% SPECIFICATIONS
y5 S T2 TEE e = =y = O = -
o BT (aE B BEEANN  BARES  EBENE 1 B OWONE  BARRES
Plunger Jaw stroke =K =/ Max. Clamping Moment '
Vodel sige (Dia.) Max. Min. Max. D.B. pull " Max. speed T Weight Matching i Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgf/cm?)
3N-06 20 8.1 (#IM0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 11.1  RK-100(N) 2.6 (26)
3N-08 23 9.4 (EhM1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245  RK-125(N) 2.2 (22)
3N-10 25 10.2 (EhE 1.1) 254 22 29 (2950) 108 (11000) 4000 0.32 345  RK-150(N) 1.8 (18)
4N R~ DIMENSIONS
Model A B C(H6) D E G max. G min. H J K L
3N-06 165 72 140 104.8 5 54.5 34.5 36 34 M16x2 M10
3N-08 210 85 170 133.4 5 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N B Q max. Q min. R max. R min. S T U
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 B 14 M6
3N-10 24 47 1.1 110 30 33.75 11.25 52.1 47 40 16 M8

23 AUTOGRIP



3D

E3VE DAL =Mepma

PULL DOWN POWER CHUCK

oI AR THHEORGAMEEL - ETHA LI I EMESELER -
SHMECEENAE AT EIUHE  WABMABE  BRRGEER
mAE -

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.
®  Almost no workpiece uplifting displacement.
® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.
RGN (ERC) -
Airtight pressure detect function is optional.
K
M s
e
bTFf*Lg,,,
" Yl
Siais
F G =
) [
|
< Ol wl T I
S 8 8 § - - -
2
7 S
1 [ EH,
1~J ‘ Q
S
R ]
e |
1l | l:J 3-R
L 3D-04 3 bolts only
REIREERITIR = 3D-05 {#3% 81
Subject to technical changes B
B SPECIFICATIONS
1= S 718 TRFER o = [N = U, = =
itk BiLTiE (E?@) Chucking Dia. BEFRANT RARE R EEE I BEE BREOEL  SAFERED
Plunger  Jaw stroke &K =/ Max. Clamping Moment )
— i (Dia.) Max. Min. Max. D.B. pull T — Max. speed of inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
4MEIR~T DIMENSIONS
Model A B C (H6) D E F  Gmax. Gmin. H J Kmax. K min. L L1 M N P
3D-04 110 60 85 706 25 20 22 15 25 M10 30 23 | 3-M10 15 19.5 50 22
3D-05 135 70 110 826 30 25 24 17 28 M12 35 28 | 3~-M10 16 24.5 56 23
3D-06 165 85 140 1048 | 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 133.4 | 45 36 38 28 38 M20 56 46 | 6~M12 15 41 84 31
3D-10 254 | 110 | 220 1714 55 46 47 32 50 M24 65 50 | 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 345 53  M27 70 55 | 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. Qmin. R S T T1 U V (h7) V1 w X Y(H7) Y1 z Z1
3D-04 37 34.5 M3 25 22.5 - 3~M6 8 25 35 2 8 6 - M10
3D-05 46 43.5 M3 30 27.5 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 57.7 543 M4 35 35 20 6~M6 10 2.5 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 8 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 101.9 96.5 M6 60 70 35 6~M10 20 3 90 12 17 7.5 36 M16
3D-15 135.6 1283 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 24



2D

‘AT B3R

ZMAER

PULL DOWN POWER CHUCK

oIE R THEEm R EmmEEL - fTHA I U EMESELR -
SHR(EEZENREEETRIEE - WABMARTE - BEKRFEE
B AE -

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
®  Almost no workpiece uplifting displacement.
® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.
AR (B ) -
Airtight pressure detect function is optional.
K S
M T T1
T ]|
f i a {}
| R
3 /f EJ::: ( }
— e |- 1/
F G = o ! w
@ 2
5
< ojlw/ = | _ _ L \ 4
ISR SIRNIRS = ¥
S
1 [ @,
1~J
X a)
L1 ”L* Q U
—T——H
|:J 3..R
5 - _
4-L B V h7 71
—
g -
ol D
i
|
REPARERIER H
Subject to technical changes
M SPECIFICATIONS
4=3F0 e
ng  moR MR KEEE  auminn  BARSH | EHEEH | E8  BEEHE  BAERES
(BE) Chucking Dia.
Plunger | Jawstroke =~ ®wA = &) Max. Clamping Moment of '
— S (Dia.) Vs Y Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379)  40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)
4MYR<F DIMENSIONS
Model A B C (H6) D E F G max. G min. H J Kmax. K min. L L1 M N [®
2D-06 165 85 140 104.8 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 1714 55 46 47 32 50 M24 65 50 M16 24 46 100 38
Model Qmax. Qmin. R S T T1 U V (h7) V1 w X Y (H7) Y1 z z1
2D-06 57.7 54.3 M4 35 35 20 4~M6 10 2.5 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 8 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 7.5 32 M14

25 AUTOGRIP



=G

PSRTEHIT\ B /) 2K ER

EXPANSIBLE PULL LOCK POWER CHUCK

3E

BRRAE I -

o] [E RS s TH IS @R SR EEN - FTHA D TR EESEER -
SEELEY  EamEREMmL -

Suitable for internal gripping.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

®  With high precision and stability that chuck suitable for end process.

RGN (EEC) -
Airtight pressure detect function is optional.

2Q1

3E-06 ~ 08~ 10 3E-05

Soft jaw : typeB
Soft jaw : typeA RAEEMBE

B TAR
3~P

RBIFIEIELEOIER

Subject to technical changes

73R 4& SPECIFICATIONS

‘ BE  BLEE ’(“g;*f ‘ Chﬁﬁ%a_ ‘gsﬁxm BAKSN  ESO0SH EE  ERESI BACEESH
\ mm Cmm mm o kN (kg) KN (kgf) mint (p.m) kg - m? kg MPa (kgficm?)
3E-05 6 3 83 29 13.0(1325)  42.0(4280) 7000 0018 75  RK-100  1.8(185)
3E-06 10 5 \ 110 44 \ 18.0(1835)  58.0(5910) 6000 0042 136 RK-100  2.5(25.6)
3E-08 10 5 150 50 | 25.0(2530)  80.0(8150) 5000 014 265 RK125  22(22.5)
3E-10 10 5 \ 190 60 \ 35.0(3570)  100.0(10200) 3600 031 395 RK-150  2.8(28.5)
4MEYRST DIMENSIONS

Model A B B1 (HCG) D E ‘ (:8) ‘ mi)(. m?n. H J K L L1
3E-05 135 98 72 10 826 25 18 18 12 25 M16  M10 15
3E-06 165 112 80 140 1048 35 18 22 12 30 M16  M10 16
3E-08 210 135 ) 170 1334 40 21 22 12 36 10 M20  M12 18
3E-10 254 152 102 220 1714 50 25 25 15 48 10 M24  M16 23

type A type B 1

Model M N P Qmax.yp Q min. Qmax.yp Q min. max. 7 min. R s T (p.léj.d) (D-\C/-d)
3E-05 20 25 M6 68 50 83 67 50 29 25  Méx12 110 55 110
3E-06 23 31 M6 ) 70 110 89 70 44 40  Mex12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49  Mex12 170 100 170
3E-10 35 40 M10 127 110 190 125 110 60 59  M8x16 210 120 210

AUTOGRIP 26



3U ZhEHE B 1K EE = gz

PULL LOCK POWER CHUCK

o EHMEIAL — TP ZEPRER -
o SHRENKRSEBE -
o FhESEARBEETHNGS -
®  Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.
® High radial gripping force and high accuracy.
® Suitable for heavy machining.
B w
E ’ ‘
[ _—
G el
| T q__M>
<l o S| 8| 1 w ,,,;)‘
Q| Q Q| E| QL= H Q v &‘
X I e
)] 1 Q
Q
X
] 0.5
L1 : L
Gt o e shanges B1
M SPECIFICATIONS
ve  mome TOE FREE  appog mamsn  BRESN 1 ER EPERE RARAED
— Pslturzgzr Ja\EvD?;r.())ke 53{3; iillrj]\ Max. D.B. pull | Max. Clamping force ~ Max. speed g/fl?r:g?;; Weight Matching cyl. Max. pressure
mm mm ‘ mm ‘ mm kN (kgf) kN (kgf) min? (rp.m.) = kg * m? kg MPa (kgflcm?)
3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 147  RK-100(N) 2.6(26)
3U-208 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 255 | RK-125(N) 2.2(22)
3U-210 10 5 163 34 31.0(3160) 100.0(10100) 4500 0.36 435  RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0  RK-125(N) 3.1(31)
4MEIRST DIMENSIONS
Model A B B1 C(H®6) D E F G max. \ G min. H J K L L1
3U-203 85 54.5 42 70 54 3.5 25 18 14 22 38 M20x1.5 3~M8 1
3U-204 110 72.5 55 85 70.6 4 30 16 10 24.5 42 M24x1.5 3~M10 12
3U-205 135 84.5 63 110 82.6 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 10 31 60 M38x1.5 3~M10 16.5
3U-208 210 137 92 170 133.4 5 52 23 1 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 171.4 5 75 25 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 171.4 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Q max. Q min. R S| T U(H6) \Y W max. W min. X
3U-203 12 26 M5 7.5 6.5 38 15 10 32 35 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 41.5 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 13.25 72 30 17 58 6 b -5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3uU-210 39 74 M14 20.75 18.25 107 40 17 93 6 5 -5 M8
3U-212 44 74 M14 44.25 41.75 130 40 17 114 6 5 -5 M10

27 AUTOGRIP



3U-K ZBhIE#EHI 8 SIPKEE =meEn

PULL LOCK POWER CHUCK

AT ERA — TP B AREE -

SRFARSEE -

BRlEEEARBEETHNGS -

olaRzeH  ETHRUERR  BaRERITBEMNEK -
Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

Can work with the airtight detection device to perform axial position confirm,
suitable for the precision of large length size process.

—_

RBIFAEIELEOIER B

Subject to technical changes

R #73R4& SPECIFICATIONS

oy o o SRR skmxon  mAmEn  REDER 0 ER O SBENE  RARRES
— PsltL:gEgr Ja‘EVD?;?ke %ajx( %ﬂ‘ Max. D.B. pull Max.f(oirl';?ping Max. speed M?:::g;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) kg * m? kg MPa (kgf/cm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 | RL-100, RL-A100N 2.0(20)
3U-206K 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.9 | RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.8 | RL-125, RL-A125N 2.2(22)
3U-210K 10 5 163 34 31.0(3160) 100(10100) 4500 0.36 44.0 RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 81 35.0(3570) 100(10100) 3600 0.68 63.8  RL-125, RL-A125N 3.1(31)
4N R~ DIMENSIONS
Model A B B1 C(H®6) D E = F1(H8) Gmax. = Gmin. H H1 H2 J K K1 L
3U-205K 135 845 63 110 82.6 4 35 14 16 10 42 12 - 50 M25x1.5 22 M10
3U-206K 168 118 80 140 1048 5 45 14 20 10 48 12 30 60 M28x1.5 24 M10
3U-208K 210 137 92 170 1334 5 52 16 23 1 51 15 30 80 M35x1.5 30 M12
3U-210K 254 152 102 220 1714 5 75 16 25 15 51 15 30 105 M38x1.5 34 M16
3U-212K 304 157 102 220 1714 5 100 16 25 15 51 15 30 135 M45x1.5 40 M16
Model L1 M N P Qmax. = Qmin. R S T T1 U(H6) \Y W max. = W min. X
3U-205K 15 20 41.5 M8 13.25 | 11.75 55 24 25 155 45 5 3 -3 M5
3U-206K 16.5 30 50 M10  15.75 13.25 72 30 30 26.5 58 6 5) -5 M5
3U-208K 18 34 63 M12  16.25 13.25 82 35 30 32.5 68 6 5 -7 M6
3U-210K 23 39 74 M14  20.75 18.25 107 40 30 36.5 93 6 5 e M8
3U-212K 26 44 74 M14 4425 41.75 130 40 30 36.5 114 6 5 -5 M10

AUTOGRIP 28



3W[3W-C EBZEm=mseE =
SWING TYPE 3-JAW POWER CHUCK

2N.
U

H#1E5Mm 2020
TAIWAN EXCELLENCE

=MEE R TH - (BEROE 3W)
BaBHLRESRMBETNL -

FRIEaERARBEEEHINEGS -

PERIHREZSE - ERETIEEMER -
BEEaRESHIUESMMMUBEIRECRE - DURAERFERSD -
—TEEEHRETH - (BOEIED 3W-C)

IHmOBES2mMm - POTESEL -

Swing and grasp the workpiece to three jaw. (3W is automatically positioned

to the center type.)

Suitable for such materials as the casting and forging to process.

Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when maintenance.

Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

® Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

® The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble.

i
s
3]
7
%
2

OIETCSR M - B T HIREER M A - (EEm)

RABMIEK - SMERFF O] e i AR AL H -

Carbide gripper is optional.

* The type of the carbide gripper is selected according to the work-piece conditions.

According to different processing requirements, O.D. Gripping and I.D. Gripping can be interchanged.

$58f ME = Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1

10 71 M5x0.8 14.2 7] M5x0.8

36 M5x0.8

—

(o
ITr
L]0

AR
165

(R

U
T
[HEAN

VAR
165
L ‘ !

EEC D
[
212.7

N 8
15977, 15977, ‘ 157
HHERS O.D. Gripping P3RS 1.D. Gripping S/VE$5EEE  Min. Gripping range
FE3/T
iz Clearance
min. 3(mm)
T AREFTE
7 KFFHE 5
| W SHEES Tgirgé’no%
)r 10°
} f
] 7 I TR RES/N
min. 7(mm)

29 AUTOGRIP



3W[3W-C EBZE=mseE =
SWING TYPE 3-JAW POWER CHUCK

-

M M1

DA
@C H7

@D
aJ
oF

RBIIEIELEONER

Subject to technical changes

73R 4& SPECIFICATIONS

B RUTR (UE ot RENE amwekAn  BAREN  BREEH | ER OEMOEE ARE
- Pslturggzr Ja\sz?;r.())ke ’:ii:::::(. '\::\j::( Max. D.B. pull Max.fglrig\ping Max. speed M?rr]g?t?;()f Weight Matching cyl. Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg mm
3W-08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23 RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23  RK-100(N) 2
3W-10 17.5 12.5 50~205 85~235 35.3(3600) 105.9(10800) 2500 0.37 48.6 RK-125(N) -
3W-C10 17.5 12.5 50~205 85~235 35.3(3600) 105.9(10800) 2500 0.37 48.6 RK-125(N) 2
3W-12 17.5 12.5 63~240 127~305  35.3(3600) 105.9(10800) 2400 0.73 65 | RK-125(N) -
3W-C12 17.5 12.5 63~240 127~305  35.3(3600) 105.9(10800) 2400 0.73 65 | RK-125(N) 2
3w-15 22.5 15.9 76~317 165~381 56(5600)  168.2(16800) 2000 181 97  RK-150(N) -
3W-C15 22.5 15.9 76~317 165~381 56(5600) 168.2(16800) 2000 1.81 97  RK-150(N) 3
4R~ DIMENSIONS
Model A B C(H7) D E F  Gmax. Gmin. H J K L L1 M M1 N P P1 P2
3W-08 210 89 170 1334 5 34 519 375 40 50 M18x2.5 M12 19 193 56.5 527 16 38 80
3W-C08 210 89 170 1334 5 34 519 375 40 50 Mi18x2.5 M12 19 193 b56.5 527 16 38 80
3wW-10 254 106 220 1714 5 42 675 50 48 58 M24x3 | M16 @24 29 605 656 17.8 44.4 100
3W-C10 254 106 220 1714 5 42 675 50 48 58 M24x3 | M16 24 29 605 656 17.8 44.4 100
3wW-12 304 106 220 1714 5 42 675 50 48 58 M24x3 | M16 24 29 605 656 17.8 44.4 100
3W-C12 304 106 220 1714 5 42 675 50 48 58 M24x3 | M16 24 29 605 656 17.8 44.4 100
3w-15 381 120 300 235 5 55 625 40 46 80 M27x3  M20 30 324 72 743 19 635 140
3W-C15 381 120 300 235 5] 55 625 40 46 80 M27x3  M20 30 324 72 743 19 635 140

Model P3 Q R R1 s T U V(h? VI WH7) WL X(H7) X1 Y Y1 z 71
3W-08 M12 95 2,69 224 60 57 2 794 3 1268 7 34 35 46 M6 32 | 32 MIO
3W-C08  M12 95 269 224 60 57 2 794 3 1268 7 34 35 46 M6 32 | 32 MIO
3W-10 M12 112 403 226 72 70 25 127 3 1903 7 45 5 60 M8 36 36 | MI0
3W-C10 M12 112 403 226 72 70 25 127 3 1903 7 45 5 60 M8 36 36 | MI0
3W-12 M12 1325 4.03 226 925 70 25 127 3 1903 7 45 5 60 M8 36 36 | MO
3W-C12 | Mi12 1325 403 226 925 70 25 127 3 1903 7 45 5 60 M8 36 36 | MIO
3W-15 M12 172 514 283 121 80 2 127 3 1903 7 56 3 90 M8 36 36 | MIO
3W-C15  M12 172 514 283 121 80 2 127 3 1903 7 56 3 90 M8 36 36 | MIO

autocrip 30



3RF i B HI| FH 2K 58 =M
RETRACTABLE-JAW 3-JAW SHAFT CHUCK

ITHROMBESIMm - POTESHEN - —TUEEIRFIHE -
OTEARETHRNIER NET XML - EEAREEDERRRE -
BBFHEETREETE  BINL - REES - FHEERARE -
&2 4008 ] (3RF-D) -

58 B 55 18 7 K/ OJ FR B $E 6] B2 ) 3% (3RF-D)

The workpiece compensation of eccentric is 1mm, fixed position for the center,
swing and grasp the workpiece to three jaw.

Second machining can be performed without reversing the workpiece, thus
significantly reducing setup time.

With compensating jaws clamping, the Rough and precision machining can be
carried out.

With sealed design, the maintenance costs can be reduced.

Can be paired with double-rod rotary cylinder (3RF-D type).

The driver pin thrust can be controlled by the pressure of the rotary cylinder
(3RF-D type).

oA
oD

aC H6

X
Y
%@
2~M10x18dp

MRS EREN H
Inside Draw Bar
reference style \

@14
]
i
p
Q
N

oA

&

gC H6
oF
PK1 H7

8
gEﬁ,\ Y_D—A)rﬁl‘ ,,,,, ‘ <§)77

oD

K/ 1 *70
K2|| K3 | |

J EREniH

- - Driver pin

3RF-D
SRR ZTEANAEREZRYT, FNEEEH.

2~M10x18dp

Note: The dimensions marked [*] are the dimensions of the inside Draw Bar,

Please don't change it.

RBIRIEIECLHIHER)
Subject to technical changes

31 AutoGRIP



’ 3RF % B3 Hl) F3 28R Sl
RETRACTABLE-JAW 3-JAW SHAFT CHUCK

R SPECIFICATIONS

e T R e RRER  sugann | BARES  RESOHH | B8 EEENE REE
(BE) Chucking Dia.
Plunger = Jaw stroke =K = Max. clamping Moment of ) )
Vodel S (Dia.) Vs Y Max. D.B. pull force Max. speed . Weight Matching oyl Compensation
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg mm
3RF-08 435 9.4 70 18  39.2(4000) 39.2 (4000) 4000 0.15 30 RS-1250 1
3RF-08D 435 9.4 70 18  39.2(4000) 39.2(4000) 4000 015 30  RDL-160S 1|
5MNBUR T DIMENSIONS
‘ Model A B ‘ C (H6) ‘ D E  F  Gmax ‘ G min. ‘ H ‘ J K KL(H7) K2 ‘ Ks‘ L L1
3RF08 210 155 170 1334 5 68 123 795 37 58 M20x25 - - - 3M12 18

'3RF-08D 210 155 170 1334 5 68 98 545 50 58 M36x15 405 6 24 3-M12 18

‘ Model M ‘ M1 ‘ N P Q R R1 max. R1 min. S ‘ T(H7) ‘ V] Vv Vi W X
3RF-08 62 58 78 235 62 - - - 0 12 28 16 3 7 M2
(3RF-08D 62 58 78 235 62 255 7 0 2 12 28 16 3 7 M12

& %8R Application Notes

LINTREFER

EEMGER, THER ORI REEIRI X
18, %8 i E SR 8 2R 1R 1Fo

1.Clamping diameter machining

The compensating jaws are retracted. The
workpiece is clamped between chuck center
and tailstock center. Additionally, it is driven
by the face driver.

28T
wIBHEE MREETHM T,

2.Rough machining

With compensating jaws clamping, the
rough machining can be carried out.

345mMT

FEITER, THESOTESH SR ETEH
%18, WiEBmEEEEN SN T, I TAAERY
BB, M RTEEIE O ENER,

3.Finish machining

Additionally, it is driven by the face driver.
The entire workpiece can be machined
with precise concentricity.

ek

AUTOGRIP 32



SWING COMPENSATING TYPE 3-JAW POWER CHUCK

’ 3R EBNE T = T\ 2K EE =Mt

ITHROMESZ2mm - POTESHEM - = TUEEIRFT LG -

FIREKEHE - HEKRMYHIR - EREIFEEMER -

BB aSMMUBRERECRME - LUIRAERERS® -

The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble, swing and grasp the workpiece to three jaw.

® Special seal proof for dust and cutting fluid, it is more convenient when
maintenance.

® Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

M
c L
L A o
ML H N = s
B o
=L =
<| O] QO I \ © s—1
s 8|8 | | S
|8
K ul™ I
g L
|
u = H
U T/ RS
1 ‘ ‘ Y 3R-08 fg3ximiz
E 3R-10 Only 3 bolts
L B ~157 ] 15
{REB IR IEREIER)
Subject to technical changes
T3 SPECIFICATIONS
ng  momR e KBEE  suskan BAKSH  REESH | B2 EMESE REE
(B Chucking Dia.
Plunger = Jaw stroke =R =2\ Max. clamping Moment of ) )
Model stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Compensation
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) kg * m? kg mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
3R-12 25 10.2 110 22 39.4(4000) 88.4(9010) 2000 0.75 72 RK-150N 2
4N R~ DIMENSIONS
Model A B C (H6) D E F G max. G min. H H1 J K L L1
3R-08 210 105 170 133.4 5 57 26 6 42.5 36 10.4 M20x2.5 3~M12 20
3R-10 254 115 220 171.4 5.5 64 36.5 11.5 25 39 15 M20x2.5 3~M16 22.5
3R-12 304 130 220 171.4 5 70 25 0 33 45.5 15 M24x3 3~M16 22
Model M M1 N p Qmax.  Qmin. R S T (H7) U v V1 w w1 X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 3 40 7 M14
3R-12 51 24 125 2.5 102.5 97.5 10 11.3 17 36 20 3 50 7 M16

33 AuTOGRIP



4T g MEsh B 2 5a mO R

FOUR-JAW TWO MOTION TYPE POWER CHUCK

AR R €& B i )T\ B BN F 2 45 7K DB -
BRIERATEMNEMIERRAZMRO T H -

CRANK type with two pairs of 2 jaws self center independent of each other.
The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

= EJERFES Patent numbers :
&7 : PAT.NO.M359385 (Taiwan)
AKPEE : PAT.NO.ZL200920009309.1(China)

H
Serration Pitch
G1 M HeEEE 15 ‘ S ‘
T
11 —
i HH ;\“\Eii
L) o
-Gl WJEf ol =
= N
S ||
| @
S I
[a)
- Q
K1 L1 =a
i
f 1 V=
%ﬁ—g
L E
B
REBIRRIE AT
Subject to technical changes
BHIRRH& SPECIFICATIONS
g moER | e RREE  sueian  BATHS  BEEEH 8 EPEEE ‘ BAGRES
(B Chucking Range
Plunger = Jaw stroke = &KX =N Max. Clamping Moment of . ‘
. S (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg ‘ MPa (kgflcm?)
4T-08 17 13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2 RD-120(N) 1.7(17)
4T-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 0.35 44.3 RD-125(N) 2.2(22)
4T-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6 RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780) 105.3(10750) 1200 2.25 118.3  RD-125(N) 2.7(27)
4MEUR~F DIMENSIONS
Model A B C(H6) D E G max. G min. G1 max. G1 min. H H1 J K
4T-08 210 91 170 133.4 5 32 15 25 -14.5 29 20 61 M14x2
4T-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-15 381 135 300 235 6 44.5 19.5 5 -20 45 28 110 M20x2.5
Model K1 L L1 M N [? Q max. Q min. R max. R min. S} T
4T-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T-10 M45x1.5 = 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T-12 M45x1.5 = 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

AUTOGRIP 34



3J SIS/ E) R -

FINGER POWER CHUCK

BRI ImERE - B LE TSR - EaEET4MmL -
REHERE - REARKE 2 TH -

Gripping at the end face and preventing deformation of workpiece.

Suitable for thin wall workpiece processing.

The gripping compensating mechanism can grasp the irregular surface
workpieces well.

SRR (LR ) -

Airtight pressure detect function is optional.

Clamping stroke Rotating Stroke
8MFFITIZ 12:0887712 Rotating Angle
WEAE

M\ / 3P
| b for 05",06"
TEHE 18
12 ] o
~ 1 11 o
<| T ) L
Q 8 Q &\ a
- _ 18
ey
—
=
Q
3~L
10 5 10 8
g g
~ T f
I /‘l T —'_’7 o /K
ol — e g AT 1§ (O,
Q 0 ™ ! 1=
REBPIEASRAER] ~
Subject to technical changes | 25 ‘ 5 ‘ 34 | 1 |
BTG SPECIFICATIONS
v EEGR SR EEE  JURT mEEAn BAREN  BEOEH | BB ODREEE  BAREEN
Rotating ~ Claming Jaw's gX &M Max. Clamping Moment of )
Model stroke stroke  compensation = Max. Min. S D2 2] force MERS inertia e Matching cyl. RS [RrESENiE
mm mm mm mm mm kN (kgf) kN (kgf) min® (rp.m.) kg * m? kg MPa (kgf/cm?)
RK-100 OR
3J-05 12 8 2 53 25 7.5(765) 6.0(612) 4000 0.02 11.0 RK-100(N) 1.0(10)
RK-100 OR
3J-06 12 8 2 79 55 9.0(918) 7.5(765) 4000 0.04 12.0 RK-100(N) 1.2(12)
RK-100 OR
3J-08 12 8 2 106 75 18.0(1835) 16.5(1680) 3500 0.13 23.0 RK-100(N) 2.5(25)
RK-100 OR
3J-10 12 8 285) 150 119 18.0(1835) 16.5(1680) 3500 0.30 33.0 RK-100(N) 2.5(25)
RK-100 OR
3J-12 12 8 25 200 169 18.0(1835) 16.5(1680) 3000 0.56 44.0 RK-100(N) 2.5(25)
4MYR~F DIMENSIONS
Model A B C D F G max. G min. J J1 K
3J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
3J-06 165 86 140 104.8 45 75 55 28 12 M16x2
3J-08 210 90 170 133.4 56 80 60 38 16 M20x2.5
3J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
3J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
3J-05 M10 15 56 36 20 M10 42.5 27 3~M6 50 -
3J-06 M10 15 56 36 20 M10 SiES 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

35 AuToGRIP



2J REIEA N/ I2KER ~MeEa

FINGER POWER CHUCK

BT IRES - Bl THIS SR, ma e THmT -
REFMEHE  URFARAmE ZTH -

Gripping at the end face and preventing deformation of workpiece.

Suitable for thin wall workpiece processing.

The gripping compensating mechanism can grasp the irregular surface
workpieces well.

RG] (FEEC) -

Airtight pressure detect function is optional.

Clamping stroke Rotatingistroke
8HRIHFTIZ 128837712 Rotating Angle
6. HAE

G M 2~P 56

,‘ | ] for 05",06”
Z LU R
1
S
12
3-8 o
~ @ \ x| @
< T| »
Q| ol v |-
Q
b=
=
Q
s
10 5 10 E
§ g
E E ‘ o n
9 9 = 8 [ °
Q Q) } Q ©
RIS BLBORER]
Subject to technical Ichanges 30 ‘ 52 ‘
BHT#EE SPECIFICATIONS
 omm mmeE seeE e JPET  semog  maousn  emEEM | BB SREWE BARREN
Rotating ~ Claming Jaw's BAX | &/ Max. Clamping ‘Moment of ) ‘
‘ Model stroke stroke compensation Max. Min. et [z il force b e inertia el Matching cyl. IMERS, (IESSE
‘ mm mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) ‘ kg * m? kg ‘ MPa (kgf/cm?)
RK-100 OR
23-05 12 8 2 53 25 5.0(510) 4.0(408) 4000 0.015 9.0 RK-100(N) 0.7(7)
RK-100 OR
2J-06 12 8 2 79 55 6.0(612) 5.0(510) 4000 0.035 9.8 RK-100(N) 0.8(8)
RK-100 OR
2J-08 12 8 2 106 = 75 12.0(1224) @ 11.0(1122) 3500 0.12 20.3 RK-100(N) 1.7(17)
RK-100 OR
2J-10 12 8 2.5 150 119 12.0(1224) 11.0(1122) 3500 0.28 30.7 RK-100(N) 1.7(17)
RK-100 OR
23-12 12 8 25 200 169 12.0(1224) 11.0(1122) 3000 0.52 41.2 RK-100(N) 1.7(17)
4MU R~ DIMENSIONS
Model A B (o] D F G max. G min. J J1 K
2J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 5] 55 28 12 M16x2
2J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
2J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N [® Q R S} T ‘ U
2J-05 M10 15 56 36 20 M10 425 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 B 40 4~M8 64 ‘ 30°
2J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 50 °
2J-10 M16 24 71 51 25 M12 99.5 755 6~M8 140 ‘ 50 °
2J-12 M16 24 71 51 25 M12 1245 100.5 6~M8 190 50 °

AUTOGRIP 36



’ IS BHE&)5 E&EE
POWER INDEXING CHUCK

THEEBREPETHOERE  INSETFH 2 EETREER -

RN F B U EIEERIBREVE - WHEEBS -

MoK KBt BRRET »

SHMtEERSEERE -

BENDERARRBLZE - KEEBRNRAEE R4S -

Indexing operates during the spindle rotation, can perform a quick change
between multiple working axles.

All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in
chuck, high reliability.

T
Clamp Stroke
| KR == |
118
,A'i 7
H ] =) f@ 2 \ @
8|8l §
b TNIS-315: >
== NN
4~M16 ®
— B2)|
@ e
® Q 4~-M12 FeEBFL
Bl Balancing Bore
B
S
r 1S-254~1S-315
&//\ REF

[

SR
Clamp Stroke DT1 D1(IS-500)

»

@C
OE
oF

4~M20

05500 f 4~M12 BETL

B1 Balancing Bore

W, S-400/1S-500
S1
REF

RBIFIEIELEONER

Subject to technical changes

37 AUTOGRIP



’ IS BHE#9 ERE
POWER INDEXING CHUCK

R iR SPECIFICATIONS

P NEAE  GR  JRE  spaEEn  Rassn  ReEEE 0 BB gULE wwen CREC
Vo] Index Angle Jaw stroke E,\ES 2 E,\/il)‘fn Max. pressure RS fgrligmping Max. speed M?[:gi?; el Weight ROTATING Mair:aﬁfeindle Cl\zjvrr;?g.r]]?w
Deg mm mm mm kgficm? kN (kgf) mint (rp.m.) kg m? kg JOINT mm kg
IS-254 4x90° 20 65 160 45 19.5(1990) 3100 0.41 41  IRJ-5E1  61BlE 0.6
IS-275 4x90° 20 80 220 45 25.4(2590) 2500 0.61 52 IRJ-5E1 61 PUE 1.2
IS-315 4x90° 20 100 230 45 25.0(2550) 1200 1.13 76  IRJ-BE1 6111k 1.8
*S-400 4x90° 30 170 260 45 34.5(3510) 1000 150 145 |IRJBE1 61 Bk 4.0
*S-500 4x90° 35 220 310 45 45.7(4660) 1000 25.4 230 IRJ-5E1  61LBE 6.0
4MEIR~T DIMENSIONS

Model A B B1 B2 C(H6) D D1 E F G H J K
IS-254 254 190 5 23 220 171.4 - 60 13 47.5 18 155 48
IS-275 275 213 5 26 220 171.4 - 60 13 58 20 171 48
IS-315 315 232 5 22 220 171.4 - 60 13 71 18.5 187 50
*S-400 400 260 6 30 300 235 - 60 13 99 20 220 60
*S-500 500 310 7 35 380 235 330.2 60 13 131 20 268 68

Model L M N N1 P Q(H7) R S(H7) S1 T T1 U v W
IS-254 13 M8 20 5 40 18 M10 20 - 106 - 57 46.5 5.5
IS-275 18 M10 20 6 80 18 M10 20 - 125 | - 67 57 7
IS-315 18 M10 20 6 75 24 M12 25 - 136 - 85 70 75
*S-400 23 M10 30 8 100 22 M12 22 60 - 330 112 100 10
*S-500 23 M10 35 8 | 100 22 M12 22 75 - 410 156 132 10

I ssosgecnERENRARSTES , BIFENBASAENERTRE LRFT -
THEBRUETOE  EESBRETHER BB EERE 50%, BRERTHERPBUERAR
EEANTERMEERS - Z, KBETHOENR , BRI ETHRERETHE -

Bk~ RNEELEEZRARE  BIREHE -
DERE 845 NHHR N EBE , BEBAATEB -

The maximum rotational speed can only be achieved when the hydraulic pressure is at its maximum.
Additionally, the operating pressure and the weight of the clamping fixture must not exceed the values shown
in the table above.

Indexing can be performed while the spindle is rotating. However, when indexing at high rotational speeds, it
is recommended to reduce the speed by 50% to avoid vibration caused by imbalance when the workpiece is
in an intermediate position. Furthermore, depending on the shape of the workpiece, indexing during spindle
rotation may not be possible.

The "*" model is produced upon order, with no stock available.
*Index Angle 8x450 or Specific Angle, Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 38



Rohees 5 ( — = TirhesH
AP KA T mENHEE (—) =Mepza
LARGE THRU-HOLE AIR CHUCK
BAOBICEE T - AT - BAEHNT -
SATRLS  TEHRASS  BEFIETHEEENE  T6eR

RRBEERE -

® [arge through-hole 3-jaw power chuck with build in air cylinder.
Patented air supply system, it is easy to install and maintain. No abrasion
issue of traditional sealed ring. Maintenance cost and time can be saved.
= EREMRFIR Patent numbers :
2[4 : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
HZK : 3169457 / 3178706 (Japan) / 58 : EP 2517822 B1 (EU)
ARPEE : ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)
&7 : M440159 / M415011 (Taiwan) / 3B : US8770222 B2 (U.S.A.)
EAF 1 0000278076(ltaly)
2~RC1/8" F—'SO'S 2~TH3/8" - 1 6~97
U] Position for fix;crew \'\
= ZEETEMNE \ 8
4~26.5 \\ -
/
S} ——
L %ﬁ Serration Pitct} \\ j f/
*Wﬁ % ,i BrEEE 1.5x60 \\ // g
\ 3/
/
ws][] ,
N N K
525 | |
.G |
_F S —
8 } = a
D,’: T _— :Tu_L o Z
T n | e
g s )
) 3 E
[a]
Q ﬁ
| H
L
L1 B
RBIREHRIER
Subject to technical Ichanges AP-A
BHIRRHE SPECIFICATIONS
o S AR = T TRFER = = S = SRS
1) {=] =3 =
i pEEIRE MITE(ETRE) Chucking Dia. RAEREN RAREFT ‘ RECEE | BEE ‘ (fEFIEES) okgflem?)
) Jaw strok = R Max. Clampi M t of . ) .
— Thru-hole Dia. a\EVDSi'ar.()J € ﬁ:xt ENi“/rJ]\ Max. pressure axfor?;nplng ‘ Max. speed (i)r:r:retri]ao Weight ‘ Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) ‘ min® (r.p.m.) kg * m? kg ‘ lit (at 6kgf/cm?)
AP-52 A6 52 5.9 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 | 30 3.1
AP-66 | A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 0.4 38 | 45 5.1
AP-86 | A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 112 12
4MEYRST DIMENSIONS
Model A B C D D1 E El F G H J K L
AP-52 A6 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 A6 265 134 153 170 245 | 106.38 6.5 19 66 21.5 65 215 2 6~M10
AP-86 A8 315 142 169 220 295 | 139.72 6.5 27 86 21.5 67 268 2 6~M10
AP-115 A8 370 154 181 220 350 | 139.72 6.5 27 115 21.5 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. S T U Vv
AP-52 A6 15 18 37 73 20 21.2 9.2 38 35.1 31 12 1455 | 6~M12
AP-66 A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 | 6~M12
AP-86 A8 16 24 43 110 30 32.2 12.7 62.2 57.8 40 16 184.5 | 6~M16
AP-115 A8 16 24 51 130 30 44.7 14.7 77 71.7 50 21 212 6~M16

AT EIES AP-A B2 <% (The dimensions and the specifications of AP-A type are in red data.)

39 AuTtoGRIP



A Ar AFLAEARES REIEEE (=) =

LARGE THRU-HOLE AIR CHUCK

.}\'. o BRBEAKRENNE NEREL BaEMMI -
’o\f o REANRB"BNRI"HE - SERAMMENEENIER - BRIEFZE - (RE
ABEiEM2018 PR SME IR F)

TAIWAN EXCELLENCE s R B e s b A R e T 4 1 PO
o FAIRZAM ZTERERH BEMISEIRERGHE . JHE

LIRBAEERT -

Large through-hole 3-jaw power chuck with build in air cylinder.
With build-in "pressure detection" device in chuck which can check the pressure is lowered
rapidly within the chuck, guarantee to the security of operating.(only for O.D. clamping)

®  Patented air supply system, it is easy to install and maintain. No abrasion issue of traditional
sealed ring. Maintenance cost and time can be saved.

= O =g

B ERERFSE Patent numbers :
2 : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
H7K : 3169457 / 3178706 (Japan) / BREE : EP 2517822 B1 (EU)
APBE : ZL 2011 2 0141324.9 / ZL 2012 2 0274549.6 (China)
B : M440159 / M415011 (Taiwan) / [ : US8770222 B2 (U.S.A))

= 1| - Position for fix screw
FAF : 0000278076(Italy) AT o)
2-RC1/8" 4~06.5
2~TH5/8"

pressure detection
(0.d clamping only)
B g (R AR )

1
Serration Pitch

o y o
3+ = BFEFEE 3.0x60
K
fl i
5 b W e || e
N { T o P
~ — \/\
. T
a1l < E s
o
I E
al »
L2 — 1 8| ®
2 H FV
L L@« T
B L1 H
REBRIEIEH AR L !
Subject to technical changes B
AP-A
M SPECIFICATIONS
o A MiT#8 TEFER = : = ——— = TRHES
] = =
Thru-hol J troki B = ) Max. Cl i M t of . . .
Model Tll)Jia.0 ° a\EvD?ar.()) € ;TZ; &/\Win.  Max. pressure ax forzranplng Max. speed (i)r:g?t?ao Weight Air Consumption
mm mm mm mm MPa (kgflcm?) kN (kgf) min?t (rp.m.) = kg *m? kg lit(at 6kgf/cm?)
AP-145 Al1 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 182 17.8
AP-185 A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 223 22
AP-230 A15 230 17 535 170 0.6(6.1) 150(15290) 1300 11.1 265 310 34
AP-275 A20 275 17 580 200 0.6(6.1) 160(16310) 1100 15.5 301 @ 346 39
AP-320 A20 320 17 658 200 0.6(6.1) 180(18348) 1000 27.2 415 = 505 45
AP-375 A20 375 24 738 260 0.6(6.1) 210(21406) 900 44.2 530 545 55
4MYR~T DIMENSIONS
Model A B @ D D1 E E1l F G H J K L L1
AP-145 A1l 400 198 231 300 365 196.87 8 33 145 34 120 420 3.5 9~M12 20 31
AP-185 Al15 460 198 238 300 405 285.78 8 40 185 44 120 460 35 9~M12 20 35
AP-230 A15 515 226 266 380 483 285.78 8 40 230 49 145 535 35 6~M16 24 35
AP-275 A20 560 232 272 380 528 |412.78 8 40 275 52 152 580 a5 6~M16 24 85
AP-320 A20 615 256 306 520 580 | 412.78 8 50 320 55 116.5 658 3.5 9~M16 25 33
AP-375 A20 690 272 322 520 650 412.78 8 50 375 55 127 738 35 9~M16 28 33
Model L2 M N P Qmax. Qmin. R max. R min. S T U Vv w X Y
AP-145 A1l 6~M20 63.7 165 43 53.5 23.5 98 91 62 25.5 57° 242 0° 38 20
AP-185 Al15  6~M24 63.7 165 43 53.5 23.5 118 111 62 25.5 58 ° 272 7° 38 20
AP-230 Al15 6~M24 71.7 180 60 48.5 185 145 136.5 64 25.5 30° 300 7° 33 15
AP-275 A20 6~M24 71.7 180 60 48.5 185 167.5 159 64 25.5 30° 322 7° 30 12
AP-320 A20 6~M24 81.5 210 60 60.5 24.5 190 181.5 74 30 52° 350 7° 27 9
AP-375 A20 6~M24 81.5 210 60 66.5 24.5 2235 2115 74 30 52° 387 7° 27 9

A EIRA AP-A B Z ST (The dimensions and the specifications of AP-A type are in red data.)
autocrip 40



’ APS AFUE R QB (1772 ) =eren

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

BAEASRENRE - NEREL - BaEMINT -
RIBAERE"BORA"HE - SEMA R AR ER - RIREFLE -
BIIRAS ZERZRES  BERIKTHIRERELE 068
ZRRBIERS -

o REAZRB"RFBH"HE - BEBRITIREUBTREPRELE  EMER
WA MR R TH R ET 218 - (RBRARIMERE)

o MERITE  JHEREMEERRE -

®  |arge through-hole 3-jaw power chuck with build in air cylinder.

®  With build-in"pressure detection"device which can check the rapidly decreasing pressure
within the chuck, guarantee to the security when operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

®  The build-in "clamping detection" device can avoid jaws clamping the workpiece during the rapid

stroke stage. This mechanism can also prevent causing the damage of the internal parts or
flying out of workpiece.(only for O.D. clamping)

® Extended jaw stroke design can shorten the processing time when gripping.
AR RRTEBRBEIRHEN 2RSS -

Notice:No clamping in rapid stroke period.

Position for fix screw

X G BRI AT E
‘ 4'-%6.1"'? 150
I}
D]
I[Te | oFe| el |
- o | offiele] 1 -
gl M SR o-07
i I
T v r— KT+
i
1
H‘m’_ﬁ Air supply device
j[[# o o
1 B L’—‘ Z
o
~
< I w| |
Q| o Q
Q
E S
r 1 |
‘—‘—’—LJ;
L L1
Rapid_st;oke
B lamping stroke
wRGE
[ I T T I
% 4 1 Rapidstioke  Clamping stroke
RETE REGTR
_ |
|
{REBIEIEEHIIZEF] Subject to technical changes *% =
3R SPECIFICATIONS
z S miTiz KFF ER = S = TREFRE
] — =
sk BILE (BEfZ) Chucking Dia. BAISN BHOHH : g8 (EF /] 6kgflcm?)
Vodel Thgji-;ole Ja\EvDsi:;)ke &A Max. &/JWMin.  Max. Clamping force Max. speed M?:;i?; el Weight Air Consumption
mm mm mm mm kN (kgf) min?(r.p.m.) kg * m? kg lit(at 6kgf/cm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
4N R<F DIMENSIONS
Model A B @ D E F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 35 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U \Y W X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

4] AUTOGRIP



CL BN Qs

COLLET CHUCK

BUETUE M 2 3eeE - BMECNCER - ERE - sSiE MR -

SiEE  SEEESHMERS -

ZEMIKEET - BLETIEIKEAFEBILE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

BREMEIARTS DIN 6343 #1% -
The collet used must accord with DIN 6343.

= EFEMFSR Patent numbers :
&7 : PAT.NO.M380842(Taiwan)
KPBE : PAT.NO.ZL201020113762.X(China)

L1

Lock Screw
5 E 121

DA
acC
@D
oK
aJ
|
|
|
ﬂ
|
]
!
OF
DAL

REBRABIELROER El

Subject to technical changes B

i AR1E SPECIFICATIONS

B ER el sy | BEEXAD  ExWSH  REESE | BE  RRAWK  ARERE | TLo"
- F';Iturr;ﬁsr Rﬁd H::fg?m Size Max. D.8. pul Max.fglrir:ping Max. speed 0“??::3; Weight | Matching steel Matching Cy1. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.)  kg-m? kg collet MPa (kgf/cm?)
CL-26 45 3~26 = 4~22  4~18 17.6(1800) @ 37.9(3870) 8000 0.040 43 161E TK-A533 2.4(24)
CL-30 45 3~30 4~26  4~20 19.6(2000) @ 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36  6~32 6~26  22.5(2300) = 48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42  6~36  6~29 24.5(2500) 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 8~45 7~36  27.4(2800) 59.0(6020) 6000 0.101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42  29.4(3000) 63.7(6500) 5000 0.098 14.1 185E TS-866 1.8(18)
CL-6022 6 5~60 8~52 7~42  29.4(3000) 63.7(6500) 5000 0.126 16.3 185E TS-866 1.8(18)
CL-80 6 20~80 18~69 15~56 34.3(3500) @ 71.5(7300) 4000 0.108 17.8 193E TK-A1287 1.6(16)
4R <) DIMENSIONS

Model A Al B C(H6) D E E1 Fmax. Fmin. Gmax. G min. H J K max. L L1 M
CL-26 120 85 100 110 826 4 23 26 3 7 25 15 12 M40x1.5 3~M10x25 16 4
CL-30 120 85 100 110 826 4 23 30 3 7 25 15 12 M40x1.5 3~M10x25 16 4
CL-36 155 100 120 140 1048 5 23 36 3 7 1 175 20 M55x2 3~M10x25 18 4
CL-42 155 100 120 140 1048 5 23 42 3 7 1 17.5 20 M55x2 3~M10x25 18 4
CL-52 185 130 1455 170 | 1334 5 27 52 5 9 3 24 30 M60x2 6~M12x30 20 5
CL-6017 185 130 1455 170 | 1334 5 27 60 5 9 3 24 45 M75x2 6~M12x30 20 5
CL-6022 234 130 142 220 1714 5 32 60 5 13 7 24 45 M85x2 6~M16x30 20 5
CL-80 234 156 163 = 220 1714 5 32 80 20 | 155 | 95 22 45  M100x2  6~M16x30 20 5

AUTOGRIP 42



- &) AR 2 G kA
’ CL-A COLLET CHUCK

AT TUE M 2R AER - BECNCER - SR - siEthizH A -

SiEE  SEEKSHIMERS -

ZEMIKEET - BLETIEIKEAFEBILE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

EREMEIARTS DIN 6343 #RE -
The collet used must accord with DIN 6343.

= EFEmFI Patent numbers :
& : PAT.NO.M380842(Taiwan)
APBE : PAT.NO.ZL201020113762.X(China)

L1 E
‘ L Lock Screw
— 4 [E92 15
g e i
T o =l
e |
= ||
SBEE RN
\/7\'\4 & i
/s it Il K
¥ fJ
Eoet e changes B
$ i #31& SPECIFICATIONS
g =2 Maﬁ:ﬁfﬂ?ﬁfpadw giik BAKEN REEER | EE | GRER  EmEsE Spn
Model Psltjrgi:r R:fd Hz(ifm Sz;j:fre WEESIRHER ] MaX'fglrig]ping Maxpreed 3??&?52 Weight - Matching steel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.)  kg:-m? kg collet MPa (kgf/cm?)
CL26 A4 45 3-26 4~22 4~18 17.6(1800) 37.9(3870) 8000 0.040 4.2 161E TK-A533 2.4(24)
CL30 A4 45 3-30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 4.1 163E TK-A533 2.7(27)
CL-36 A5 6 3~36 6~32 6~26 22.5(2300) 48.5(4950) 6000 0.058 6.3 171E TK-C643 2.3(23)
CL-42 A5 6 3~42 6~36 6~29 24.5(2500) 52.9(5400) 6000 0.057 6.1 173E TK-C643 2.5(25)
CL-42 A6 6 3~42  6~36 6~29 24.5(2500) 52.9(5400) 6000 0.061 7.5 173E TK-C643 2.5(25)
CL-52 A6 6 5~52 = 8~45 7~36 27.4(2800) 59.0(6020) 6000 0.093 13.8 177E TK-A853 2.0(20)
CL-60 A6 6 5~60 8~52  7~42 29.4(3000) 63.7(6500) 5000 0.091 135 185E TS-866 1.8(18)
CL-60 A8 6 5~60 8~52  7~42 29.4(3000) 63.7(6500) 5000 0.104 145 185E TS-866 1.8(18)
CL-80 A8 6  20~80 18~69 15~56 34.3(3500) 71.5(7300) 4000 0.120 19.8 193E TK-A1287  1.6(16)
4N~ DIMENSIONS
Model A Al B D D1 E Fmax. | Fmin. Gmax. G min. H J K max. L L1 M
CL26 A4 110 85 108 826 6351 25 26 3 9.5 5 15 | 12 M40x1.5 3~M10x30 15 4
CL30 A4 110 85 108 826 6351 25 30 3 9.5 5 15 | 12 M40x1.5 3~M10x30 15 4
CL-36 A5 135 100 130 1048 8256 27 36 3 14 8 175 20 M55x2 | 4~M10x30 14 4
CL-42 A5 135 100 130 1048 8256 27 42 3 14 8 175 20 M55x2 | 4~M10x30 14 4
CL-42 A6 165 100 130 1334 106.38 32 42 3 15 9 175 20 M60x2 | 4~M12x35 16 4
CL-52 A6 170 130 154 1334 106.38 27 52 5 105 45 24 45 M60x2 @ 4~M12x35 20 5
CL-60 A6 170 130 154 1334 106.38 27 60 5 105 @ 45 24 45 M75x2 | 4~M12x35 20 5
CL-60 A8 210 130 1475 1714 13972 35 60 5 35 25 24 45 M85x2  4~M16x40 22 5
CL-80 A8 210 156 175 1714 13972 35 80 20 75 15 22 45 MI100x2 @ 6~M16x40 22 5

43 AUTOGRIP



o8 M 2 A B R
STEEL COLLET

oD1
oD

|

—1
L — 15

DIN 6343 Collet standard

B FRE
RERAEIE W ROMER
Subject to technical changes
SMEIR < DIMENSIONS
BRAKRFFEET] i A
BRI Max. Chucking Capacity (mm) d 5 ‘ Bl 1 A ERIR
Collet Ei av=Lo} 7 ‘ _
Matching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
163E 3~30 4~26 4~20 85) 48 ‘ 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
173E 3~42 6~36 6~29 48 60 ‘ 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
185E 5~60 8~52 7~42 66 84 ‘ 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
AIFED(S H) ‘ ADIN
L mm
Test Bar D(S,H) ‘ Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~1.6 6 ‘ 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 R
10.0~18.0 40 ‘ 0.020 0.030 L/,J\_J\
18.0~24.0 50 0.020 0.030 i |
24.0~30.0 60 ‘ 0.020 0.030 /
T
30.0~50.0 80 0.030 0.040 - — @
50.0~60.0 100 ‘ 0.030 0.040 a

7 —MRARIR BES DIN Z4&
Note: Collets chuck are conformed to DIN 6343 Class2.

AUTOGRIP 44



ESiE

BT S 23 5R

DRAW BACK COLLET CHUCK

A cB/cB-A

o JEECNCEIK - B - sEMiEHIHM - FEMIOEMIA -
o BHIE  BRmIFEMEMYMANE  BEEAL -
o SiEE  BERRSHIMERS -
o ZMEPMIKERET - BALETIHIAGEA E8BILE -
® |deal for CNC lathes, specialized machines, and turning equipment for bar stock
or shaft machining.
® Draw-back clamping with radial clamping and axial fine-tuning torque, featuring
through-hole.
Offers high precision, speed, and rigidity.
Features a comprehensive waterproof design to prevent cutting fluid from
entering the spindle through-hole.
J EREAE IR R BRI T IFRO AL -
K max EREFIRIEOBERIET 7 HAFE  AEBRFERTH -
J is the hole diameter of blank draw nut.
K is the maximum thread specification and it could be customize.
L1
CB-ERKEFH T
CB type Clamping method R
7°7'3 §
} _
dobsts
Radial clamping
- % % g al =
3| 8 £ s 8 8 E 5 H [T & g g
|-
G |5 )
SO : S
TR, THHEE BRI RS, 1 (N
During clamping, the workpiece
shifts slightly backward along with M
the collet.
B
SUbjet t echmica changes cB
F1li#1& SPECIFICATIONS
= s
g EBOR | . R asgBkAN BARSH BEENN ER | BREX  ERESE | BACRE
ax. Chucking Capacity
Plunger Bt NEM F Max. clamping ) )
Model . Round | Hexagom | Sguare Max. D.B. pull — Max. speed = Weight MatChI“gSteel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg CoeL MPa (kgf/cm?)
CB-42 45 4~42  7~36 | 7~30 34.3(3500) | 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 4.5 4~42 7~36 7~30  34.3(3500) 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 45 4~42  7-36 | 7~30 34.3(3500) | 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 45 4~52 = 7-36 | 7~45 39.2(4000) = 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 45 4~52 | 7~36 | 7~45 39.2(4000) | 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 45 4~52  7~36 | 7~45 39.2(4000) = 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 45 4~52  7~36 | 7~45 39.2(4000) | 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 45 4~65 = 8~56 | 8~46 = 44.1(4500)  103(10500) 5500 15 RG-65 TS-866 3.0(30)
CB-65 A6 4.5 4~65 8~56 8~46 = 44.1(4500) 103(10500) 5500 13.6 RG-65 TS-866 3.0(30)
CB-65 A8 45 4~65  8~56 | 8~46 = 44.1(4500) = 103(10500) 5500 17.6 RG-65 TS-866 3.0(30)
CB-80 45 5-80 8~68 | 8~56 50.0(5100) = 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 A8 4.5 5~-80 8~68  8-56  50.0(5100)  115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
4MEIR < DIMENSIONS
Model A Al A2 B C(H6) D D1 E El F Gmax. Gmin. H J K max. L L1 M N
CB-42 150 125 102 815 140 104.8 - 5 31 43 105 6 175 30 M55x2 3~M10x25 11 60 4~M8
CB-42 A5 140 125 102 915 - 1048 8256 - 415 43 255 21 175 30 M55x2 4~-M10x25 12 70 4~M8
CB42 A6 165 125 102 915 - 1334 106.38 - 45 43 | 29 | 245 175 30 M55x2 4~M12x35 18 73.5 4~M8
CB-52 150 125 102 83.5 140 104.8 - 5(315| 53 | 11 6.5 17.5 30 M60x2 4~-M10x25 16 62.5 4~M8
CB-5217 180 125 102 @ 87 170 1334 - 5 3 53 145 10 175 30  M60x2 4~M12x30 18 66 4~M8
CB-52 A5 140 125 102 935 - 1048 8256 - 415 53 26 215 175 30 M60x2 4~M10x30 16 72.5 4~M8
CB-52 A6 165 125 102 99 - 1334 106.38 - 47 53 315 27 175 30 M60x2 6~M12x35 18 78 @ 4~M8
CB-65 185 145 120 100 170 133.4 - 6 50 66 135 9 215 32 M75x2 6~M12x40 20 73.5 4~M8
CB-65 A6 165 145 120 111 - 1334 10638 - 61 66 305 26 215 32 M75x2 4~M12x40 20 84.5 4~M8
CB-65 A8 207 145 120 107 - 1714 13972 - 57 66 265 22 215 32 M75x2 4~M16x40 24 80.5 4~M8
CB-80 235 175 150 112 220 171.4 - 5 37 825 135 8 25 45 M85x2 6~M16x30 22 87 6~M10
CB-80 A8 210 175 150 125 - 1714 13972 - 50 825 265 21 25 45 M85x2 6~M16x50 24 100 6~M10

45 AUTOGRIP



- BHEMNNZB &R TE ey
’ CBEICBE A END STOP CgLLET CHUCK

o BHIEMUIYE EGERREHE BEOIGHMEMANE  tEEE
UTHARRE  SREBREZEHIENBEAE -

o ERURHPIEERC GIREEER - BREBINEE TR -

®  The pull-back positioning clamping, combined with the workpiece stop block
mechanism, features radial clamping and axial fine-tuning torque, enabling
precise positioning of the workpiece feeding length for enhanced length
accuracy control.

®  The blocking block and dust cover can be swapped for versatile use and chip
protection.

JEREFRZEEREEZETRAAR -

K max BRELIZEJERET 7R RS dREREKRETH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

CBE-E# A Block Block
CBE-type Clamping method ‘ G }l\é%ﬁ%lockset E l\éﬁg\ockset
B g sa = R
M125E KA B, M12iE B2 E AL
B = ——
BLOCK/ —{ *; maRS rraod T
; | <a——1V : | Radial clamping \ |
L6508 2] {11 75 —
__|.__V Slight axial displacement €  —
x H ] 2
| ® Bl T] = 2
! ‘ HEEEE -3 & 8§ 8| S
5
A TERIAE, SR80y, THAEER D — B I v—t

- C—1
s, REEHLFBR. 1
With the material stop mechanism 7 . ool 1 - Collet set bolt
in place, the workpiece does not Eﬁfjse‘ olt L EREe s
shift backward during clamping, v/ | E BRI = TR
although there may be slight scuff M Block I
M Block set bolt lock set bolt
marks on the surface. EREEES | ERREMRE
(REBIRE BRI B B
Subject to technical changes
CBE-A CBE

17 #84& SPECIFICATIONS

il EETR o ook eoacy | BREAAN | BAKEN  BEEWH B | @REX | OREWI | BARRE)

Plunger =~ [ElE  AB®  HH Max. clamping
Max. D.B. pull force

Max. pressure

Model stroke | Round | Hexagom Square Max. speed | Weight Matcg(i)rﬁ%lsteel Matching Cyl.
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg MPa (kgf/cm?)
CBE-42 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-52 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 A5 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CBE-52 A6 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 8.6 RG-65 TS-866 3.0(30)
CBE-6514 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.3 RG-65 TS-866 3.0(30)
CBE-65 A5 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 10.8 RG-65 TS-866 3.0(30)
CBE-65 A6 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
CBE-65 A8 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
4MUR <) DIMENSIONS
Model A Al A2 B C (H6) D D1 E E1 F G max. G min. H J K max. L L1 M
CBE-42 150 @ 132 100 95 140 104.8 - 5 20 48 5.5 1 17 45 M55x2 | 4~M10x25 19.5 58
CBE-4212 132 = 132 100 95 120 100 - 5 - 48 5.5 1 17 45 M55x2 | 4~M10x25 19.5 58
CBE-42 A5 132 132 100 @105 - 104.8 82.56 @ - - 48  20.5 16 17 45 M55x2 | 4~M10x30 16 68
CBE-42 A6 160 132 100 105 - 1334 106.38 - 35 48 205 16 17 45 M55x2 | 4~M12x35 18 68
CBE-52 150 @ 140 @107 99 140 104.8 - 5 - 52 5.5 1 17 56 M60x2 | 4~M10x20 14.5 60
CBE-5212 140 140 @107 99 120 100 - B - 52 B3 1 17 56 M60x2  4~M10x20 14.5 60
CBE-5217 180 140 107 109 170 1334 - 6 - 52 145 10 17 56 M60x2  4~M12x30 18 70
CBE-52 A5 140 140 107 @109 - 104.8 8256 @ - - 52 205 16 17 56 M60x2 @ 4~M10x30 16 70
CBE-52 A6 160 140 107 @109 - 133.4 106.37 - - 52 205 16 17 56 M60x2 | 4~M12x35 18 70
CBE-65 180 @ 157 | 122 114 170 1334 - 6 24 56 5| 105 175 68 M75x2 @ 4~M12x30 @18 72
CBE-6514 157 | 157 | 122 116 140 104.8 - 6 - 56 17 125 175 68 M75x2 @ 4~M10x30 @18 74
CBE-65 A5 157 157 122 114 - 104.8 82.56 @ - - 56 21 16,5 175 68 M75x2 @ 4~M10x25 16 72
CBE-65 A6 157 157 | 122 112 - 133.4 106.38 - - 56 19 145 175 68 M75x2 @ 4~M12x35 185 70
CBE-65 A8 202 157 122 116 - 171.4 | 139.72 | - | 38 | 56 23 185 175 68 M75x2 @ 4~M16x35 24 74

AUTOGRIP 46



’ CBDICBD'A AR E 12 B & 23R T8 AR
DEAD LENGTH COLLET CHUCK

o RIMERF . BREREH#E BERORFROEBMA - dBEEMTIHARE
E - EREBEERIEINEE -

o FEBECAUTOGRIPEEBEN® ASELE—REMHIN THERMENER - oL
HrREARIE -

o ERIRHEFEZLMRBRER  BLEAEGBEINEDTLIFE - B8 Talk
5 oR D RENRENIRS -

® The push-forward clamping, combined with a stop block mechanism, features radial
clamping with zero radial displacement, enabling precise positioning of the workpiece
feeding length for improved length accuracy control.

® AUTOGRIP rubber tube clamping eliminates forward pushing, minimizing surface
damage.

® Interchangeable workpiece stopper and dust cover enable through-hole applications

and chip protection, suitable for sub-spindle clamping, reducing tension and
compression.

J EREAE IR R B FIR T ISR LIS -

K max EREEIRIE O BERIZT 7 HAKRE  AERFERKTH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

CBD-ERIFF A

CBD-type Clamping method N N
]“7'30":%
fiztors]
BLOCK / * BEKF —
Radial clamping T

H IE=E 5 |

TR, TH AR GRS,
When clamping, the workpiece does

not shift forward. M L1 E1

DA2
DAL

DA
@D
ZD1
m
2J
DA2
DAL
DA
[4]9]
@D

K max.
@

@
@

IRERABIEROEF)

Subject to technical changes CBD_A CBD
Rfii#4& SPECIFICATIONS

L EETR o o ety | BFRAAY  BAKEN)  REEWH  EE  @RER  BRERE BARAE.

Plunger | B | ABHM - HM o pp pull | Max.clamping v sheed  weight Matching steel Max. pressure

Model stroke Round = Hexagom & Square force collet Matching Cyl.
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 7.3 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 10.9 RG-52 TK-A853 3.0(30)
CBD-52 A5 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 8~56 8~46 44.1(4500) @ 103(10500) 6000 8.6 RG-65 TS-866 2.7(27)
CBD-6514 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.3 RG-65 TS-866 2.7(27)
CBD-65 A5 4.5 4~65 8~56 8~46 44.1(4500)  103(10500) 6000 10.8 RG-65 TS-866 2.7(27)
CBD-65 A6 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
CBD-65 A8 4.5 4~65 8~56 8~46 44.1(4500)  103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
4R ST DIMENSIONS
Model A Al A2 B C (H6) D D1 E El F  Gmax. Gmin. H J K max. L L1 M
CBD-52 150 @ 140 116 99 140 | 104.8 - 5 - 52 7 2.5 17 56 M60x2 @ 4~M10x20 14.5 57
CBD-5212 140 @ 140 116 99 120 100 = 5 - 52 7 2.5 17 56 M60x2 @ 4~M10x20 14.5 57
CBD-5217 180 140 116 109 170 | 1334 - 6 - 52 16 115 17 56 M60x2 @ 4~M12x30 @18 67
CBD-52 A5 140 140 116 109 - 104.8 8256 @ - - 52 22 175 17 56 M60x2 | 4~M10x30 16 67
CBD-52 A6 160 140 116 109 - 133.4 106.38 - - 52 22 175 17 56 M60x2 | 4~M12x35 18 67
CBD-65 180 157 132 112 170 | 1334 - 6 24 54 155 11 175 68 M75x2 | 4~M12x30 18 70
CBD-6514 157 157 132 114 140 | 104.8 - 6 - 54 175 13 175 68 M75x2 | 4~M10x30 18 72
CBD-65 A5 157 157 132 112 - 104.8 8256 - - 54 215 17 175 68 M75x2 4~M10x25 16 70
CBD-65 A6 157 157 132 110 - 133.4 106.38 - - 54 195 15 175 68 M75x2 | 4~M12x35 18.5 68
CBD-65 A8 202 157 132 114 - 171.4 139.72 - 38 54 235 19 175 68 M75x2 | 4~M16x35 24 72

47 AUTOGRIP



A cME BRI TS AR 5 I —

END STOP COLLET CHUCK

5 ~ #55 - BWE(EERE
REBHEM RS - BRERIREE - BEEOIS K Em MR D EINEE -
EEEUTIHARRE - B REBELES -
BERUREER ] GRER - RRSREBEAN IFKENBINEE -
Simple, concise, and lightweight design.
Rear pull positioning clamping, with a stopper block mechanism. Equipped
with radial clamping and axial fine-tuning torque, it can precisely position the
workpiece's material entry length, ensuring more accurate length control.

® The stopper block and dust cover can be interchanged, allowing for through-
hole applications and dustproof functionality.

JEREEBEARERETGAALE -

K max BAELBRIEVERIET THEARE - oIIRERBKETEH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

G L
- & 1% Block
/ M12 KRR EFL
M12 Block Set Hole
BIESLIRIE
CME-@3EFH T [ 1/ Collet set bolt
CME-type Clamping method i‘ =

Ly
LT
BEKH [a) -

Radial clamping

i
18 3 6] 11 75

Slight axial displacement

DA
@C
K max.
[%N]
DA2
DAL

FRSIERIAE, TR0, THR GRS,
REEHLEFTIER,

With the material stop mechanism in
place, the workpiece does not shift
backward during clamping, although I ——
there may be slight scuff marks on the
surface. —

N EESRE (iRt

Block set bolt

RBRE B LR
Subject to technical changes

i #R1E SPECIFICATIONS

" N BASHEED
B ERfTRE Max. Chucking Capacity

Plunger [EiE | AEH | 5

o

TRAATD | BARFN  ESOEH  EE AR BREEL | RAEREN

i

PN
=

Max. D.B. pull Max.fclamping Max. speed ~ Weight

. Max. pressure
Round S )
Model stroke oun Hexagom >quare orce - Matcgérﬁgtsteel Matching Cyl.
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg MPa (kgf/cm?)
CME-80 4.5 5~80 8~68 8~56 50.0(5100) 115(11730) 6500 13.6 RG-80 TK-A1287 2.3(23)
4R <) DIMENSIONS
Model A Al B C (H6) D E E1l F G max. G min. H J K max. L L1 M
CME-80 230 170 101 220 1714 6 33 58 12 7.5 18 83 M95x2 = 3~M16x35 24 61

AuTOGRIP 48



A cmp AT HE 2 218 P 5 D5 B s

DEAD LENGTH COLLET CHUCK

o= oo

ISR IS ERRET - AIBEE -

BUHEZRES - BECERIREE - KRRESU%  AREH THELARE -

BEAUTOGRIPZ B =2 - B THWIED - RELHRE -

BrUREER O G - REBAMIEREINGE - ERARE R - EER

FHIEES] -

Compact and lightweight design with simplified structure.

® Dead length clamping with a built-in work stop ensures zero axial movement for
precise workpiece positioning.

® Compatible with AUTOGRIP rubber collets to prevent forward push and protect the
workpiece surface.

® |nterchangeable work stop and dust cover for through-hole machining and chip

protection. Ideal for sub-spindle clamping with reduced axial clamping force.

J ERIEFIBERERIZT S -

K max EREFIBIECBERZF TR ARE - akERFERKTH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

L1
. L
ihe
\ T/
\ e
CMD-E3 3’ FHF S ]
CMD-type Clamping method
L— L))
ey o = ]
BLOCK * wERES H E

4

|
\

OA
acC
K max
aJ
A2
A1

AN
~
Radial clamping 2
/
|

— 5
G

SRR, TR BRI, ELL

When clamping, the workpiece does not =

shift forward. —

E1
M

(REBIAE SRR B
Subject to technical changes

i iR 15 SPECIFICATIONS
e /=20 RARIFRES P — —_ = - s - _
B EMTB o Chuoking Capacity | SEFEANS  BASKS)  EEDEM  EE  @EREX GREME | RAEREN

Plunger = [Eli% NAM it Max. clamping

Model stroke Round @ Hexagom  Square Wik, (3, ol force Max. speed  Weight Matc:(i)“ztsteel Matching Cyl. Max. pressure
mm mm mm mm ‘ kN (kgf) kN (kgf) min' (r.p.m.) kg MPa (kgf/cm?)
CMD-80 4.5 5~80 8~68 8~56 = 50.0(5100)  115(11730) 6500 6.3 RG-80 TK-A1287 2.3(23)
SMEUR ST DIMENSIONS
Model A A1 A2 B C (H6) D E Ei F Gmax. Gmin. H J K max. L L1 M
CMD-80 230 170 150 101 220 1714 6 33 58 125 8 18 85  M95x2 | 3~M16X35 24 61

49 AUTOGRIP



STATIONARY DRAW COLLET CHUCK

’ SCB &I B E M EE E

o EHIERK - HHRSIIHIPOMEER -

o SIEERSHIMLERE -

° BESIMERC 1 UM BT -

o LEAS  EILEERETMI -

o RERRGRMGBHN - BMIEFERE -

o RHAIEECEHE RENMERMEHET -

®  Build-in cylinder, ideal for drilling machines, milling machines and machining
centers

®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
runtime.

® Two modes for the media supply: side-supply mode or baseplate-supply
mode.

L1 K
\ @ /
e —
< O w (U - o
O
Q9 Q 3 g 0
E % — n
2~OfIE N B b = e N
Trir;l\l\ % Unclamp Clamp AN
< EIIN
& || T
1 1 B I P
2-MEmsmEA | |G | H Unclamp Clamp
Baseplate T R o
Pressure Port B 2~RC1/4" RE 4R
Side Pressure Port
REBRBIELAETR
Subject to technical changes
F1l7#R4& SPECIFICATIONS
mam e RAKRFFEET] BRAIE T BAEAEN = pos
e M&REE) Max. Chucking Capacity Max. clamping force Max. pressure =4 LIEISES
" sawswoke BB | ARH | AH RE HE U SHE Weidht
(Dia.) Round = Hexagom | Square Pneumatic Hydraulic Pneumatic Hydraulic 9 Matching steel collet
Model mm mm mm mm kN (kgf) kN (kgf) MPa (kgf/cm?) ‘ MPa (kgf/cm?) kg
SCB-52 +0.5 4~52 7~45 7~36 8.2(837) 101(10300) 0.6(6) 4.0(40) 8.6 RG-52
SCB-65 +0.5 4~65 8~56 8~46 10(1020) 105(10700) 0.6(6) 4.2(42) 10.2 RG-65
SMEUR~F DIMENSIONS
Model A (g6) Al B c D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 24.5 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S]
SCB-52 10 51.5 4~M10 12 4.2 P7 3~M6x12 160 42 69.5
SCB-65 10 61.5 4~M10 12.5 4.2 P7 3~M6x12 175 50 7

Autocrip 50



RG 1% 1B 5 2K BB

RUBBER GRIP COLLET

o TIARATIETUE BTN ET AU IR -
FlREEIIZ OB ISR - BAEHIEN
BEAES5EEIH -
BRE—HEIHRY -
BRI EREEL0.5mm -
BIRRIESE -
FhEERA B RR T -
Rubber grip collet for push type or draw type collet chucks.
Full griping area: high rigidity, more gripping force.
Gripping smoothly: prevent to damage the workpiece.
® More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.
®  Grip Range: +0.5mm.
Quick change and easy.
®  Dust-proof and swarf-proof design.

o | | [a) - o ()
Q Q Q Q
0oog
15° \/Lls"
L / L
IREBMIBIE AR
Subject to technical changes RG_RT RG_R
17384 SPECIFICATIONS -
e RAFFHE O —
Bk Max. Chucking Capacity § 5 . BERTIGA
Model Ll [Rount Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 11~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 11~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 11~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65

A& D(S,H) L ADIN
L Test Bar D(S,H) mm Class1 Class2
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020
10.0~18.0 40 0.020 0.030
= = g 18.0~24.0 50 0.020 0.030
e 24.0~30.0 60 0.020 0.030
30.0~50.0 80 0.030 0.040
;‘\/ 50.0~60.0 100 0.030 0.040

1 —RAEIKIEER DIN Z4&

i 2 AQEH L DIN — R R iR%E

Notel : Collets chuck are conformed to DIN 6343 Class2.

Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

51 AutocrIP



VH Rz ETUAREE G

STATIONARY CHUCK WITH THRU-HOLE

o UEBNPEHNKE BB - HARSTIHIPOEER -
BIMR=NmErw -
VH2-22008Y 0 Frfic i 7 BeBE AR A& &~ A B 2H-2 80 AR [E) -
VH2-32002Y = PRECES 7 BeBEfR4E R~ AR E3H-2BU T AR (E) -

® Stationary Chuck with two or three jaws for drilling, milling and other

machines.
® Specification and size of matching chuck for model VH2-2200 is the same
as model 2H-2.
® Specification and size of matching chuck for model VH2-3200 is the same u
as model 3H-2. =
=
Lo
98
L Bresge
*’—‘* Serration 1.5

O
88/ H—8——- +
1 L | <
1 ﬁ— Q
E
] v
&
i
J
VH2-3204,VH2-3205 VH2-2204,VH2-2205
#3292 0nly 3 bolts | £43712420nly 4 bolts |
REB RIS AR
Subject to technical changes
FR1E SPECIFICATIONS
BISE SEZEEFAER. Piston area TUTIR(ER) RAERED B8
Vodel RElExtend fiffiRetract Jaw stroke(Dia.) Max. pressure Weight
oce cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 46.7 55 2.0 (20) 9.5
VH2-3204 52.4 46.7 515 3.0 (30) 9.5
VH2-2205 63.7 57.9 55 2.0 (20) 13.1
VH2-3205 63.7 57.9 515 3.0 (30) 12.6
VH2-2206 97.1 88.5 6.0 8(17.9) 21.5
VH2-3206 97.1 88.5 6.0 2.7 (26.8) 21.5
VH2-2208 128.9 113.6 7.6 2.1(20.7) 329
VH2-3208 128.9 113.6 7.6 2.9 (28.6) 334
VH2-2210 189.2 174.3 8.9 9(19.2) 55
VH2-3210 189.2 174.3 8.9 2.9 (28.7) 59
4MU RS DIMENSIONS
Model A B © D(H7) E F G H J K L M N P Q
VH2-2204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-3204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-3206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-2208 210 217 195 80 5 55 29 44 91 160 14 13.5 30 75 RC3/8
VH2-3208 210 217 195 80 5 55) 29 44 91 160 14 185 30 75 RC3/8
VH2-2210 260 266 246 100 6 76 32 47 102 192 17 13.5 30 75 RC3/8
VH2-3210 260 266 246 100 6 76 32 47 102 192 17 185 30 75 RC3/8

AUTOGRIP 52



hvi
8
b
%
B8

VP E B ZKEE PE
STATIONARY CHUCK
o UEACEENNE BABE - SESTIM D OEERE B TRSM

MmER -

VP-2008 0 PR 7 JRERAR I8 K <A 2P RV AR -
VP-300Z U FRECHY 2 JRBRARAE R~ /EHA3PRIAEE -

Stationary Chuck with two or three jaws for drilling, milling and other

machines.

Specification and size of matching chuck for model VP-200 is the same as

model 2P.

Specification and size of matching chuck for model VP-300 is the same as

model 3P.

REBIFAEIELEOIER

oB
aC
@D

U=

|m
[9]
T

s

=
=
=
=
—L T

Subject to technical changes

K #73R4& SPECIFICATIONS

Rigge SEZEMEAEES. Piston area MTITIR(ER) =AERES 58
Vodel $R{AIEXtend fifiRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgficm?) kg
VP-204 28.0 24.9 6.4 2.1(21) 71
VP-304 28.0 24.9 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 5815/ 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 133.5 8.8 1.5(15) 52.8
VP-310 153.1 133.5 8.8 2.2(22) 54.5
4MEUR~F DIMENSIONS

Model A B © D(H8) E F G H J K L M
VP-204 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

53 autocrIP



LONG JAW STROKE STATIONARY CHUCK

A sm B BT e

B ERE - RIMTE -

REZMEL - EERAREBMSERE - R RERAY -

ZERES  ELEEMETNT -

BRI S bR - WOl FREREL MEIREREN -

OlkEaRBRA - ETHEUEES -

BE—EBHL  EPEB -

WEDGE-HOOK type power chuck, and long jaw stroke.

Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

Easy to install. Installing the tubes and then operating.

® Thin and compact design. Use standard soft jaws or standard hard jaws.
® Air-tight pressure detect function is optional.

fefERERAl.
Equipped with Airtight pressure detection function.

hvi
B
=
T
98

F
jpu—| 7
e
il y
<o g L
9 8 §
=
=l
i
13.5
27|
7,,J 2~RC1/4” air supply port
40 ‘ for open/close 45 Lock valve(Option)
B FEERLL 70 (R EER(SEARFV-01)
RC1/8 BB EER A
RC1/8 Negative pressure
dustproof connection hole
REBIRRIERAIET)
Subject to technical changes
BHIRR1& SPECIFICATIONS
prpee S BRI BAERESN SRR
EiCh B R R wIEERES BES
(B85 X B AE SHIE . S TEREE16.0 kgflom?
Chucking Dia. Max. clamping force Max. pressure
Jawl;troke Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) ~ MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SM-306 13.1 168 14 18.0(1830) 32.2(3280) 0.7(7) 1.2(12) 2 1.5 18.7
SM-308 16 210 18 26.2(2670) 45.0(4590) 0.7(7) 1.2(12) 2 2.7 32.5
SM-310 19.6 254 20 37.0(3772) 63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4N R~ DIMENSIONS
Model A(h7) Al B © D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 16.75 4.75
SM-308 248 210 127 230 15 41 95 25 23.75 8.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R S T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 35 14 M10x1.5 11 160.5 125.5 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

AUTOGRIP 54



SP BT AKEE M =M g hE R
STATIONARY CHUCK

o UESXPERMMUBANPZENRE  BMER=TMEHRTEI -
o (NEMEGL - MOl ERIRERE - ZIEREEE -
o /MBS - BBEMIREEM -
o RERME FELAERTMBEFE -
o ECGHIE - OIRERCIRELMEMER -
o UHEBUERMERETSHRIEIMIER -
o ERANREML  JJZERBHESMIE -
& ® Stationary Chucks — Non-Thru-Hole and Thru-Hole Types.
®  Available in two jaw configurations: 2-jaw and 3-jaw.
B ® Equipped with a built-in hydraulic cylinder; compatible with lock valves and can
B also be operated using air pressure.
?Z ® Features a small thru-hole, making it ideal for machining long bar workpieces.
d ®  Side and bottom air/hydraulic inlets available; either can be used for operation.
®  Slim and compact design. Compatible with standard soft jaws or hard jaws.
®  Suitable for rotary machining and can be installed on mill-turn machines.
® (Can be integrated with multi-plate setups for enhanced versatility.
F 6~N
—F -
SRl o = d
593 CERaE 4
=] 1 )
D_| DIy :E): | DI X ; Clos F pen
=1 fzf;rRQc19/:’}Czruorsseu;);:ly port [t e #\ﬁj_t 1
ol |27] BB AL 45| |\ @mmpameyon
‘——46 & 70 Lock valve(Option
B B
SP-304 SP-306~SP-312 SP-206,5P-208,SP-210
-—F
— ‘L’ S -
= [ =
P et = - T
e T o
g = im
LT [0} -
SEE f 58 L z
s 1
B i
= ] o — Close 7]
056 t
I - 2~RC3/8” air supply port L i 1 2~RC3/8" air supply port  (f i
f /cl 0 (R EFV- _p [ [o1 for open/close 68 (R BERS (B ACFV-03)
2 a8 = F%%Eéi ‘ ]s: ﬁﬁﬁjﬁze(%/pg?n) 35 R ‘ 105‘ Lock volLve(Option)
56
|56 | RC1/4 B @i, " B RO SR
B hof for st protection hoor abist protection
SP-316 SP-320/SP-324
REIE SRR
Subject to technical changes
IR SPECIFICATIONS
. T2 FTIFER RASEFS RAERES o _ TRERE -
1) B
. BT 8k ) R SHIE RE SHIE RERRED  smmie0giom EE
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . i
- . . . X . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.7(7) 1.2(12) 2 0.5 7
SP-206 55 168 30 34.1(3477)  46.1(4752) 0.7(7) 1.2(12) 2 14 16
SP-306 55 168 30  355(3620)  60.0(5252) 0.7(7) 1.2(12) 2 1.4 16.5
SP-208 6.8 210 42 43.2(4405)  74.0(7545) 0.7(7) 1.2(12) 2 25 27.7
SP-308 6.8 210 42 51.5(5251)  88.3(9004) 0.7(7) 1.2(12) 2 25 28.7

55 autocriP



’ SP A B T ZKEE =T/ ST RER R

STATIONARY CHUCK
1752 FERE RAKRE & X SRNEE
= Té—gg E‘ff ﬁETEE'i/J\ RE i SHEE ﬁ@ﬁkﬁmg’(?ﬂiﬁ RiEERED ﬁﬁﬁz—_@i:ij/cmz EE
Jaw stroke ~ Chucking Dia. Max. clamping force Max. pressure . . . .
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic 0, B e Welght
mm mm mm kN (kgf) kN(kgf) MPa(kgf/lcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-210 7 254 52 60.5(6169) 94.5(9636) 0.7(7) 1.2(12) 2 4.2 41.8
SP-310 7 254 52 68.2(6955) @ 118.7(12104) 0.7(7) 1.2(12) 2 4.2 42
SP-312 9.3 304 60 75.8(7729) 148 (15091) 0.7(7) 1.2(12) 2 6.4 71.3 7
SP-316 14.5 400 30  120.7(12305) 120.7(12305) 0.7(7) 0.7(7) 2 10.6 147.8 =
SP-320 16 500 45  155.6(15865) 155.6(15865) 0.7(7) 0.7(7) 2 15 232.7 il
SP-324 16 600 140 215.9(22015) 215.9(22015) 0.7(7) 0.7(7) 2 22 338.7 g;
4N R~F DIMENSIONS

Model A(h7) A1 B C D D1 E F G H J max. J min.
SP-304 148 110 84 130 15 13.5 - 25 52 14 3.75 0.75
SP-206 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-208 248 210 108 230 15 13.5 32 41 95 25 16.25 8.75
SP-308 248 210 108 230 15 13.5 32 41 95 25 16.25 8.75
SP-210 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75
SP-310 300 254 12 280 16 13.5 54 46 110 30 23.25 12.75
SP-312 350 304 130 330 18 13.5 65 54 130 30 30.75 12.75
SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25
SP-320 540 500 170 500 22 20 - 74 180 60 87.5 24.5
SP-324 640 600 175 600 24 20 - 74 180 60 87.5 24.5

Model K max. K min. L M N P Q R S T T U \
SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -
SP-206 47 44.25 &l 12 M10x1.5 1 139.5 104.5 55) 18 - - 6~M8x1.25
SP-306 47 44.25 31 12 M10x1.5 1 139.5 104.5 55 18 - - 6~M8x1.25
SP-208 53 49.6 35 14 M10x1.5 11 160.5 {2515 68 25 - - 6~M8x1.25
SP-308 53 49.6 35 14 M10x1.5 1 160.5 125.5 68 25 - - 6~M8x1.25
SP-210 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-312 77.5 72.85 50 21 M12x1.75 13 207.5 172.5 100 35 - - 6~M10x1.5
SP-316 70 62.75 60 255 M16x2.0 17.5 271 236 115 45 80 110 12~M10x1.5
SP-320 82.5 74.5 65 25 M20x2.5 22 301 266 165 - - 130 3~M16x2.0
SP-324 129.5 121.5 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0

AUTOGRIP 56



SD T ENBRIREE =MehgER

STATIONARY PULL DOWN CHUCK

REZHEL - SERKBURBNIRES - oERREBEAT -
O ARG TH MR R TR mER - FIHA DF U EMESEER -
SHMECEBNAZEETBEE  LABHMABE BRRSKEBEE
HAE  #E58YHISE -
OB EARR R A S ETNT -

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

® The body with heat treatment and the organization of cylinder pull-down and fine
boring, which guarantee to the high clamping precision and durableness, it’ s
suitable for heavy duty machining.

® Can work together with multi-plate.

feEmEmAl.
Equipped with Airtight pressure detection function.

hvi
8
b
%
i

S 6~W
T e I 4~@K
PN
6~J1
7 Bo
1™
<| o lal e, A &
S| 8 Tf [ § Y N T
Bl b “
™
=
> — =
] )
- 1 2~RC1/4" air supply port
) [ for open/close
Fll 1.l 1135 BEERL
RC1/8" air supply port
21 for gripping-confirmation ‘ 45 Lock valve(Option)
40 EERERAIL 70 REERI(EAFV-01)
B
REBIARIEDLBIER
Subject to technical changes
AT SPECIFICATIONS
- frpeen SIS BAKISS BAEREA o SRARE s
" (Ef%) P ) S SR S wE 6.0 kgfiom? -
Chucking Dia. Max. clamping force Max. pressure
JawD§troke Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 110 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3 (13) 2 0.26 8.1
SD-306 7.2 165 35 11.5 (1173) 25.0 (2550) 0.6 (6) 1.3 (13) 2 0.58 20.6
SD-308 7.2 210 28 21.7 (2213) 47.0 (4793) 0.6 (6) 1.3 (13) 2 1.02 34.1
SD-310 10.8 254 40 36.0(3680) 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55
4MURSF DIMENSIONS
Model A(h7) Al B © D(H7/h7) E F G H J J1 K L max. L min.
SD-304 148 110 93.5 130 35 2 15 M3 225 10 M5x0.8 9 30 23
SD-306 206 165 116 188 52 7 18 M4 35 20 M6x1 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 11 56 46
SD-310 300 254 151 280 75 12 20 M6 55) 30 M8x1.2 13 65 50
Model M N P Q max. Q min. R S] T U \ W
SD-304 19.5 52 19 37 345 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 85 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

57 autoGRrIP



SU TERAMEREAIKIE =MeE

STATIONARY PULL LOCK CHUCK

NEMEL - EERAREBEURBNRE - JELFREREY -
Y EAREC R THREORGEMEEL  ETHEA DI RMES
BEM - BEERK - SRS P OKER -

o SHIMELEENAERBTRAKE LABMARBE BESKFEE
HMAE  BEEUHISE -

o TIHAVERBENRMASETNT -

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

®  Suitable for drilling, milling and other machines.

® The body with heat treatment and the organization of cylinder pull-down and
fine boring, which guarantee to the high clamping precision and durableness, it's
suitable for heavy duty machining.

® Can work together with multi-plate.

R R,
Equipped with Airtight pressure detection function.

hvi
B
=
T
98

S w
B L oK oK
= I w
— - &
[a! —
— >
G min. L z g {} % @
< B [a] I.I.IT —‘ 2 N
g © = S) &l S
| R @ o
il § . 28
E=a 9 ==
135 ¥ 3-] =
\@? 15415 N
== | L OLS5 ) A ﬂWﬁéMm
:4‘ J\' .\.\ ‘ 2~RC1/4" air supply port 1 nwﬁww I EiClose |FOpen
[ /cl
. I »7 I %%’g%?f iClosé. fOpen Fh F
RC1/8" air supply port 7 fi i
40 for gripping-confirmation 45 . SU-303
R R Lock valve(Option)
REBATHASHOIER Bl 05 FERERAL 70 {RERRE (= AZFV-01)
Subject to technical changes -
SU-304,306,308,310
FFR1& SPECIFICATIONS B
. iz REFET BAKEN SAEREN _ ] SENER _
| R =
£ EH 8k BN AR S 7 wm | CORRED e eokgiom T
Jaw stroke Chucking Dia. Max. clamping force Max. pressure ) . . .
. . . . . . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 5 7 (683) 16.0 (1632) 0.6 (6) 3 (13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) | 40.0 (4079) 6 (6) 3(13) 2 0.58 18
SU-308 5 132 32 37.0 (3773) 80.0 (8158) 0.6 (6) 3 (13) 2 1.02 1B
SuU-310 5 163 44 46.2(4710) 100.0(10100) 0.6(6) .3(13) 2 2.1 53
4MUR~F DIMENSIONS
Model A(h7) Al B B1 c D(H6) E F G H(H6) J K L max. L min.
SU-303 122 85 80.5 68 104 28 22 12 35 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 4.5 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 115 230 55 45 18 7 156 M6 4~11 17 7
SU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1
Model M N P Q max. Q min. R S T U Y w X (p.c.d) Y
SU-303 12 30 7 3.5 25 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~M10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 71 35 125.5 160.5 M12 6~M10x1.5 95 6~M6x12
SU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M14  6~M12x1.75 115 6~M6x12

AuTOGRIP 58



=meEn

I BT IREHIKER

STATIONARY EXPANSIBLE PULL BACK CHUCK

SE

o NEHEL - EFRKBMABNIRE - oIERRBEMEG -
o EAMRAEREF -
o SRELZTEY BEHEEREML -
o TEAVERIAMERAGETML -
®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
®  For internal gripping.
®  With high precision and stability.
hvA ® Suitable for the precision large length size process.
= ® Suitable for end process.
= ® Can work together with multi-plate.
s
g KRB (FEK ).
Airtight pressure detect function is optional.
- El E F
Ri= 1
<| O h=s ﬁ} (DL H‘ 2
[SHERS] T Q é Q
H] 1 —
-
135
| s
r [
] ‘ Clq
D 27
2~RC1/4" air supply port
forop?ngose T
‘ 40 ‘ BIRRERAL 0 ‘ cetaons
|| | S —— ock valve(Option)
14 fREZRE (ERCFV-01)
Bl RC1/8" air supply port
for gripping-confirmation
s EBRHFRAL
Soft jaw : type A Soft jaw : type B(Option)
EEETAR RAEATIB BU(EERR)
REAFIEIEELBIER
Subject to technical changes
K #T#E4% SPECIFICATIONS
. e TS EE BAKEN BAERES - SRNEER .
Ll G N N e . BB
2 ®®  sx b HE SHE 7 wr | PPN w560 kgtiom 8
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . )
- . . : . : Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgflcm?) kg
SE-305 3 83 29 14.3 (1459) 41.0 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 110 44 20.0 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 32.0 (3263) 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4MYR~F DIMENSIONS
. type A type B
Model A(h7) Al B B1 c D = (=il Fmax. = Fmin. G . .
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 7 5| -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9 5 -5 49 110 90 150 108
H1
Model . J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 275 275 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 11 125.5 160.5 50 35 3~M8 M10x1.5

59 autocriP



MP4 A B AR BERER
STATIONARY CHUCK BASE PLATE

OJRARBEARSEM IO £ RSN IZETIH -
EELERUN R ARER -

oJEIE2 - 3 - 6 THEHEE -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

hvi
B
=
T
98

D
B
Lock valve(Option)
{RIEZR(EECFV-01)
/
0 I .
‘ 4
& ? H L ‘ ﬁ -
2 et i sl s i
! T T
IREB R IEREIER) x
Subject to technical changes
u
4MUR~T DIMENSIONS
‘ Model ‘ A B C1 Cc2 ‘ C3 C4 D ‘ E F G
‘ MP4-06206 460 580 400 320 ‘ 250 200 544 ‘ 210 220 120
‘ Model ‘ H J ‘ K L M N P Q R ‘ S T u
‘ MP4-06206 20 45 ‘ 18 17 20 140 *B 33 18 ‘ 20 20 206
*B #Y BB P ARAC AREREL SR 2 ~PIE B -
The dimension *B:Please refer to the dimension B of the chuck model assembled.
VH-201 274
HAND OPERATED AIR VALVE
REBRIEIEREIET)
Subject to technical changes
RABHFEN BRIFRE FEOR
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90 ° Rc1/4

AuToGrip 60



B3 B A ER

A rRAP

HEFARER=T3EE
PNEUMATIC ROTARY CHUCK

R

o ANERI ZHIVERIRGE - FrGEE/) - BEEUHIES - WOl FEREEYE
MEREERE T -
o ERAMRDERLETHEML -
o KEIRMEHERE  MIPUIBASEARER -
o REEIISWERIBEME WEBMESE -
® Rotary chuck with built-in pneumatic cylinder, compact design, suitable for light
machining, compatible to standard soft jaw/hard jaw.
Can be installed on a rotary table for indexing machining.
Sealed against dust and cutting chips.
® Matching surfaces of all parts hardened, ground and lubricated directly.
AR AREBEERRIRENIEARE B REEE - Sy ERNREH
BUHASR TRAT -
Note: To overcome friction force between distubritor ring and chuck body, the
rotating torque of rotary table must be highr than the requirement shown in
the table.
Serration Pitch S
HEEEEE1.5
M
I fai sl
[ i}
s L
SH40 [ o %
3l
2 L Y x
wl o O -
g o o © - % -
——= | 3-w
Hll /| E
L mm 6-L
KLU |V 2~RC1/4" air supply port
J for closeloggnsupp yper 5 ] 2~RC1/4”
BEER 3L Open Close
RBIDAGERIIER Bl
Subject to technical changes B
BHT#E SPECIFICATIONS
miTig TEFEE RAKEES - TRHHEE
1) gy = = ==, 5 =
= (EfF) Chucking Dia. S (EREH6.0 kgflcm?) BARAEN | BRER B (EFEF16.0 kgflcm?) e
Jaw stroke = EBRA | i) Max. clamping force Max Rotation Air consumption )
Model (Dia.) Max. | Min. Pneumatic( at 6.0kgf/cm?) Max. pressure  Max. speed o qicrance torque (at 6.0 kgflcm?) Weight
mm mm mm kN (kgf) (kgflcm?) (r.p.m.) Nm lit (kgflcm?) kg
RAP-306 55 170 25 21.0 (2141.4) 7 72 40 31 16.2
RAP-308 6.8 215 37 34.2 (3487.4) 7 60 60 3.1 30.6
RAP-310 7 254 53 48.0 (4894.7) 7 53 85 4.2 42.4
4MU R~ DIMENSIONS
Model A B Bl C (H6) D E F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N P Q max. Q min. R max. R min. S T U \% w
RAP-306 6~M8 11 36 73 20 10.75 6.25 47 44.25 31 12 19.5 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 35 14 19.5 14 3~M8
RAP-310 6~M8 14 42 110 30 23.25 12.75 64.5 61 40 16 19.5 14 3~M8

61 AutoGrIP



SELF-CENTERING 3-JAW MANUAL CHUCK

’ 3MF BEIFE) K0 =TSR =R

BRRKSERIABARAMO EREAFKHMIE  IRDEBINFRZER -

|
7i

DO ERERE - RUBASEAKBAR - DEAKBHNERSHR

® Thin and lightweight design and increase the z-axis machining range.

® With the center hole cover and dustproof design for the accuracy and
service life of the chuck.

®  For 5-axis indexing plates and milling machines.

RRHEMTATEFELREREANNHIINER - FRIFEEIR M 5050 E B4
ZBERAETZE -

3MF series are not designed for the vertical or horizontal lathes,
unless there is a rigid plate and providing adequate support rigidity and
strength.

DA
@C Hé6
OF

REBRABIELRORER
Subject to technical changes

1T #31% SPECIFICATIONS

‘ RISE MITEER) J&f5 & Chucking Dia. BRABFHRE BRARE TS ReEEYH B8
‘ Vodel Jaw stroke (Dia.) BA Max. &/ Min. Max. allowable torque  Max. clamping force Max. speed Weight

mm mm mm N - m (kgf - m) kN (kgf) min* (r.p.m.) kg

3MF-16 60 350 95 175 (17.8) 59 (6000) 1450 66.9

‘ 3MF-20 80 450 135 170 (17.3) 71.2 (7300) 1150 121

SMEUR~F DIMENSIONS

Model A B C (H6) D E E G H J (HY) ‘ K L L1 M
3MF-16 400 80 140 375 10 135 0l4 27 19.03  4~M12 6~M12 23 60
‘ 3MF-20 500 ‘ 85 170 465 12 ‘ 160 o019 38.1 19.03 ‘ 4~M16 6~M16 23 80
Model N P1 P2 P3 Q max. Q min. R max. R min. S T (h8) U Vv
3MF-16 148.5 27.16 54 112.5 184.5 164 103 62 40 12.7 15° 28
‘ 3MF-20 192.5 29.5 76.2 135 254 214 139.7 99.7 50 12.7 15° 40

AUTOGRIP 62



VR

B e /O

POWER CENTERING VISE

o HMNUHE - E - BURAFREZEAMA -

o NEMEL - I AREIHEEE -

o HERIERBWARNE IREREFSE -
o ERRBAEMI PO -

[ ]

Slim and short profile for improved workspace utilization.

Built-in hydraulic cylinder operable by either pneumatic or hydraulic

pressure.

® Input ports available on both the side and bottom for flexible

connection options.

® Suitable for milling machines and machining centers.

Vi

Ul

2~M4 Bottom lubrication oil hole

MARE R AL (& EPAEER)
M4 Bottom air vent for
Negative Pressure Dust Prevention

(VR-1012:M5; VR-1214:M5 )

RMERABE

Max. Jaw Height

mm
60

60
60

JJil
40
48
51

ul

10
12

P Q
2~MAJRER L
a0k (B | h— M5 FEEMASHT, A
{( T t ) M5 Bottom oil inlet A
[ 5900 ? [XIOERY
 fo—o ool - >
L 15 oHes {l} 54166 |
T ‘ P w@\
+ -
| N2 2 ‘ 23 N
~ ottom oil inle
et ‘ s ‘ T ‘ 2~@8(H7) HH#3
A 2~@8(H7) Master hole
Bl
G
D
R M H7 M1 E 2~M6HEHTL
‘ MSEREFL — MEO
| ‘ | | (BB ER) ‘ ‘ 2~M6 Oil hole
Lt e et M5 Air hole kL
f I = ‘ 7 M for Negative i
j @ (D I Pressure Dust
| | s Prevention
| | r
o A
h | h g N
i | i | *
T T T T & T
J 2~RC1/8” #&3Mm7FL
2~RC1/8”Pressure port
REBRBIBRRER
Subject to technical changes
R fli#1& SPECIFICATIONS
e =0 g = 7 P BARE BAGEREN
5 MiT#2(B19) BATISEE Max. clamping force Max. pressure
Jaw stroke Max.Chucking RE SR RE JHE
Model (Dia.) (Dia.) Pneumatic Hydraulic Pneumatic Hydraulic
mm mm kN (kgf) kN (kgf) MPa(kgf/cm?) MPa(kgf/cm?)
VR-808 8 100 2.0(200) 7.7(785) 0.9(9) 2.1(21)
VR-1012 12 120 4.4(448) 12.2(1244) 0.9(9) 2.1(21)
VR-1214 14 160 8.6(876) 31.1(3171) 0.9(9) 2.1(21)
ShEUR~T DIMENSIONS
Model A B B1 © D E(h6) F Gmax Gmin H H1 H2 J
VR-808 120 80 52 63.5 36 16 2 125 117 335 24 26.5 36
VR-1012 150 100 64 76 45 20 2 158 146 39 30 32 46
VR-1214 188 125 82 82.5 60 24 2.5 196 182 41.5 44 34.5 57
Model L M(H7) M1 M2 N [ Q R S S1 T T1 U
VR-808 M6 6 21.5 2.5 27 9 6.5 49 95 65 70 65 24
VR-1012 M8 8 27 2.5 32 12 8 63 120 80 90 80 30
VR-1214 M8 8 30 3 43 12 10 80 158 100 128 100 44

63 AuTOGRIP

16

S

i

Weight
kg
3.55
7
12

K
M5x0.8
M6x1
M8x1.25

\ Vi
36
46
57

18
20
25



A Mvsc

TSRO R EH

5-AXIS SELF CENTERING VISE

o BEEORKET  BANR4#MES &8 CNC e TFS - IJBRAN NI
W -

o SEERTEMEE  POLEEEMUBEE £0.01 mm - BEIHBERGEIRE
mL -

o SHMMMLERE AERRSHESEMEN  BEEASEMEE (HRC45
ML)  BEEEMEMREZEY -

o EHHEMRIHO  SHOMBELAZMIWHEEZE HRC 55 DI L - RETOJIERM
- WoJBi - KigeAEREm -

o EAZRBMIRE GRER  RFGE BosVE - SHRENNIER -

® Self-centering design ideal for 4-axis and 5-axis CNC rotary tables; compatible
with horizontal and vertical machining.

® Centering repeatability of £+ 0.01 mm ensures precise and stable workpiece
positioning.

® Vise body made of high-grade alloy steel with hardened sliding surfaces (HRC
45+) for excellent wear resistance and rigidity.

® Jaws are made of fully hardened steel (HRC 55+), reversible and interchangeable
for extended service life.

® Precision-built and easy to operate, ideal for demanding machining environments
requiring high efficiency and accuracy.

o [

A
G et o techmicalchanges
MR~ DIMENSIONS
Model A B c D

MVSC-764 76 102 35 21
MVSC-1275 127 127 42 33
MVSC-1276 127 153 42 33
MVSC-1278 127 210 42 833
MVSC-12710 127 255 42 33
MVSC-15010 150 255 57 37

FIFh4RE (Clamping curve)

& ol on =
15
@K@ 2 10

5
@ G} @ 0 10 20 30 40 50 60 70

[Nm]

=2

(kg)
185 25 45 78 82 49 51 38 30 52 52 2.02

30 2.5 a7 91 96 52 635 635  50.8 96 96 5.82
30 2.5 73 117 122 78 765 635  50.8 96 96 6.64
30 2.5 130 167 172 135 1055 635 50.8 96 96 8.26
30 2.5 175 219 226 180 1275 63.5 50.8 96 96 9.5

34 25 143 207 212 148 1275 75 100 96 96 15.54

AUTOGRIP 64



\lgEn,—\‘—{: =AY >
A MVRH MC H5 T2 iR e i

o RIHABEZFHO—LIRE —REREABER=EDMREREY  BS
SEEMI -

o NEIN "HIKE, HE  AIHEREIDZFEBETHERN - BHREBREIRE
REETENE  RAEUBELTERHEOSS -

o SHMEKBREEETE (FCD60 - HEMR GGG60 ) - EEFAMAME 60
kgf/mm?2 ( % 80,000 psi ) ZIKEiFE - REMA - BRAREVHIRE -

o EENEDEIB(EE HRCA5°  RAMEMAERASZS - REEBTREEE -
REHRRBRIE MIMREBEERE -

® One-piece casting of the vise bed and movable jaw offers outstanding rigidity
and stability, ideal for precision machining.

® The down-thrust spherical segment mechanism applies downward clamping
force to eliminate jaw lifting and workpiece tilting, enhancing positioning
accuracy and jaw longevity.

® The body is made of high-tensile ductile iron FCD60 (equivalent to GGG60),
offering durability and strength for heavy-duty machining.

® Slideways are flame-hardened to HRC 45 ° for excellent wear
resistance, maintaining long-term accuracy during extended use.

ki

J2 J3
‘ F J
q i -
1=
I
. 1
B
C
BRSSO RER
Subject to technical changes
SNEUR<F DIMENSIONS
SHOSRRE (&K ) K57 e
MODEL A B 8 D E F G | Jaw Opening(Max.) Clamping Force | Weight
J J1 J2 J3 (kgf) (kgs)
MVRH-100 101 380 480 85 48 80 125 16 135 200 240 330 4000 26
MVRH-130 131 445 545 95 55! 85 150 18 190 250 300 390 5000 40
MVRH-160 161 535 635 105 58 100 165 18 250 330 370 480 5500 61
MVRH-160L 161 585 685 105 58 100 165 18 300 380 420 530 5500 65
MVRH-200 201 610 710 110 63 108 190 18 300 370 430 550 6900 82

65 AuToGRrIP



A MVRE

MC {52571 R EH

MC POWER VISE

FREHRSELREHO—ERIRE - — IR ERTRHUEEZN M - BAKRFTRE
MERAM Y -

NEI "THIKER , #E - ARUEKRHEIFEETHER - BREBRETENR
FRELENENE  AURSMIBERILERERS -
SREIKEEE T (FCD60 - HERGGG60 ) - FHERRAMAREE
60 kgf/mm? ( 47 80,000 psi ) BEIMEMHE - BRARSREEMIIRE -
REBENEAXIGIEEEEZE HRC 45° - RIATMESD - MR EEE
BERRRBEENT - EFREISHEE -

One-piece casting of the vise bed and movable jaw ensures excellent rigidity,
enhancing clamping stability and durability.

The down-thrust spherical segment mechanism generates downward force
during clamping, preventing jaw lifting and workpiece tilting—improving
machining accuracy and jaw life.

Constructed from high-tensile ductile iron (FCD60 / equivalent to GGG60) with
a tensile strength of 60 kgf/mm?2 (approx. 80,000 psi), suitable for demanding
machining conditions.

Flame-hardened slideways (HRC 45° ) provide superior wear resistance,
maintaining consistent clamping performance even under prolonged use.

J2
N

RIS EORER

Subject to technical changes

SMUR T DIMENSIONS

MODEL A B Cc

MVRE-100 101 400 490
MVRE-130 131 645 555
MVRE-160 161 555 645
MVRE-160L 161 615 705
MVRE-200 201 630 720

85
95
105
105
110

J1
= - =
13 ‘ F J
i = [
I=P|

i

. It

B

C
IRE G G 5] g8
E F G I Jaw Opening(Max.) Clamping Force | Weight

J J1 J2 33 (kgf) (kgs)
48 80 125 16 155 200 240 33 3000 27
55 85 150 18 230 250 300 390 3500 41
58 100 165 18 300 330 370 480 4000 62
58 100 165 18 350 380 420 530 4000 65
63 108 190 18 340 370 430 550 4500 83

AUTOGRIP 66



FHEG 25 & H <t &
FA RJJ¥E &R MR EE
SINGLE-SLIDE FACING HEAD
o EXRMBEMNEREANBH ALY  ERARERTE  ERREHTE
WREEFEES -
o RFEILBHERBERME  BIMERALIFERY -
o EMHEE:+0.03mm -
® Feed mechanism is Wedge Plunger, with steady feed speed. Simple
adjustment for feed speed and stroke.
® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.
®  Stopper accurancy: +0.03mm.
BT RN eE B GT FEECE F -
BRZAR BB ERSERRIKEERBHBEERIMNIT -
Suitable for using with RS type cylinder.
For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.
BRZEE)
WEDGE PLUNGER
FA-408 Max.26 7 24
Min.12 14 | 4[—1»3 W
| == © ]
= ] |
[ i 0 0 ' |
30 1O| | 14~MB6x10 Lu(');,:r $_ i
[ | £
~ = g = $ !
S 4= 5] 8 . B Lt
SRS |
Q ~H ‘é’ ’
|
M12x1.75 | | éﬁ - < |
1T T T |
(IS~ 3l
st ~}H
58.5 4~M10x60 10 H
69 36
IREBRIBIE AR
Subject to technical changes
Hli#1& SPECIFICATIONS
Eitk BOTE BETE EROEY BHBAAN 58 BB BAEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)

67 AUTOGRIP



FA BJ)iEEuR B8 45t B
SINGLE-SLIDE FACING HEAD

o EAMBRUEBMEZANEHAXAY  ERRERTE  ERFEEETRENS
BIFEES -
REEIABEERBBME  BIMEFAEIFERRY -
EMEE:£0.03mm -

® Feed mechanism is Wedge Plunger, with steady feed speed. Simple adjustment
for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

®  Stopper accurancy: +0.03mm.

BT R SRR G e E M -

BRI R IROBREREENRIKIEEEEBHEER ML -
Suitable for using with RS type cylinder.

For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.

BN EE
WEDGE PLUNGER

FA-610 FA-812 L N IR Q1
Kk T A OB —©
| M||T 7
] -
< N7\
<Ot —/—( _ ﬂ— —_%L € - @Q ~
SURSIR ST —T |- ; T
™ @ PN
N /AN o]
G N @ )/
| ﬂ D | D ©
a - f L@J ’—%_‘_u I'
E B
D
B Q
REBIIEIE W HOHEF
Subject to technical changes
} 1T #31% SPECIFICATIONS
BISE BOTi2 BT RoaEH BRFEAAN £ BREET BAFERET
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min(r.p.m.) kN (kgf) kg MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
SNEYR ST DIMENSIONS
@ F G G R
Model A B (H7) D | E (H7) max. min. H|J K L M N P Q 01 (H8) S T U
FA-610 156 110 140 107 5 20 66 48 +5 20 M12x1.75 4-M10x90 12 2-M10x45 104.8 45 28 8 4-M10x16 40 40
FA-812 198 130 170 127 5 25 84 63 16 25 M16x2.0 4-M12x105 12 2-M12x60 133.4 54 32 10 4-M10x16 50 50

AUTOGRIP 68



f& JJ¥EBRR

SINGLE-SLIDE FACING HEAD

Y A7)

o ENWBRLUEGRAGWESSARY  ELHRERTE EREREHATE
WRBFEES -

BEEIOEBRERBEENE - BIEEmMAMIFEERY -

EMEE:£0.03mm - HFEEEMUIER -
Feed mechanism is transmitted by Rack and Pinion with steady feed speed.
Simple adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.
®  Stopper accurancy: +0.03mm , work with stoper screw.

BT BV R B B R ER -
Suitable for using with RS type cylinder.

| &5 55 (8 RACK AND PINION

FA-615 FA-830 FA-1570

HE1E Keyway

6B X4F
%%i © < D
. B, o
K LA PN (DY PNECE
—Af — @ - R @9 =)
< O = i A>+ _ ]
[SHIRSEEN Ei @ f + {f} NN
H |G T O
el %ﬁg} | o @
% @ | R T%Q) @
L/ E
REBIRAEIE R RER)
Subject to technical changes
$ i #31% SPECIFICATIONS
A% BOTiE B2 ReaEH BRIERAAN 2 BAEE RAFEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min(r.p.m.) kN (kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
4NEIR < DIMENSIONS
Model A B C (H7) D F (H7) G max. G min. H J K
FA-615 150 107 110 102 25 43 28 35 20 M12x1.75
FA-830 198 126 140 121 30 55 25) 45 25 M16x2
FA-1570 400 200 300 192 60 110 40 75 50 M30x3.5
Model L M N P Q R S T U \% W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 - +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 +15 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 - +17.5

69 AuToGRIP



’ FD )R ) ER B

DOUBLE-SLIDE FACING HEAD

o HEAWBELUMWNEHSAAZ  ELRERE  ELREHATENREI
BRS -
R EOLBECRBEENE - BIMENAMEERY -
EMEE : £0.03mm - FREEAER -
Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

® Stopper accurancy: +0.03mm , work with stoper screw.
BT EVEE BRI B -
Suitable for using with RS type cylinder.

| #4788 CRANK TYPE
FD-632 FD-840 FD-1060

H 4x2~T

o
1
-E8-
| i LW
K | <
<l oluw! 777:7‘ 7777777 11 A =
QR Q S
L ‘ s
s Ja)
I -ee=—-
e N
! I
6~L
5 W D
) B N
REBIASIE B HOHER)
Subject to technical changes
$: T #5348 SPECIFICATIONS
RIS BLLTIE BETEER) EaEEH BIFEAAT 2 AT EE BAGERES
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min?(r.p.m.) kN (kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
SMUR <) DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 25 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -2.5 4 36 M20x2.5
Model L M N P Q R S T U V W(H8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

Autocrip 70



CP Bk 3=! SMESR
SYNCHRONOUS CLAMP
o HME_TMELRKRE  MITER -
o REHEIIKBERBEME WEHREHEE -
o SHREIEE - PIEMRFEE -
® CRANK type 2-jaw synchronous clamp with long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
e
_/I.'/:
P
- ‘ w1 ‘
xf:ik \%w\_l
| =T | B
hid ‘ © | @ ‘ Ng ;-
] ! __ N
=—0-651 =
SlENe | @ EY S
SARINASS AR
8~L ‘ U ‘ 2~08(H7)
V; Master hole E#7|,
u1 B1
S D
G N Adjusting hole
‘ R M NFEEREH# E.
| a,p,p 23K ] ‘ ‘
= i A =i iz{ @
L L A AL L L A L ~—
T F RCM‘&‘Lubncategus?‘va;“é;“\LE;ﬂ T g T J LL@L
A,/ g EEER ;3 @
2 I & [
‘ ‘ CJ— T
| | Y~
A
€ =
= 2~RC1/4" =
(REBBIBIELRORER =~
Subjecllo‘lechmca\ changes ‘—J—l Pressure port A AL /‘ J1
2 Afr#21% SPECIFICATIONS
Gt SEZEETE Eff. Piston area MTRER) BRAFEFFAE RARSET BRAEREN £
. ## Extend #Iffl Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
ode cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 11
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) BI5(85) 30
4MUR <) DIMENSIONS
Model A B B1 C D E(6) F Gmax. Gmin H H1 J Ji J2 K L M
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 58 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 @ M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 @ M10 14
CP-50 300 110 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 @ M10 16
CP-70 346 120 126 89 55) 32 5 430 360 114 15 115 115 146 M14x2 M12 16
Model N P Q R s T u U1 u2 % w w1 w2 X Y z
CP-20 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 23.5

71 AUTOGRIP



cCW Fr s WP g = sipmE

WEDGE-DRIVEN SYNCHRONOUS CLAMP

RPABEELRE - TEE  ENIBEY  FESREN -

BYEOLIEERBEENE - WEEEE

SRIFHEE - PEURE -

This wedge-driven synchronous clamp features a long jaw stroke, ensuring

continuous high clamping force throughout the machining process.

® The sliding surfaces are hardened and precision ground, with direct
lubrication to enhance performance.

® High clamping accuracy and excellent dust protection.

Gl
&
*

\
/

u2

W2

U3
B

%
Y@
o &
o
ng o

8~L U 2~@8(H7)
Master hole E#7,

\Y
Ul
G N Adjusting hole D
R M NFEERA E
Q. P _P_ ]
%‘» ‘ ‘ ‘ 2x3~K mymn
= = &
T o ] =
I RN I I 1 I
| Sy T T R A R /)\\ NN T =
. ¥y ¥ Y/ N\Y Y Y 10 6%
S0 NN AN 2
AR AN VN T
=R SRR O L s
O O 1 I I i s
° Bl
## H!\\ ﬂ!\
J 2~RC1/4”
Pressure port #A5HL
REBIEIEBLOMR
Subject to technical changes
K 1li#1& SPECIFICATIONS
il SEZEETE Eff. Piston area TTR(ER) BARFFEES BAREEN BAERES 58
## Extend #Iffl Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
Model
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CW-30 31.10 24.10 30 150 34.3(3500) 7.0(70) 32
SMEIR~F DIMENSIONS
Model A B © D E(h6) F Gmax Gmin H H1 J J2 K L M
CW-30 260 145 86 50 22 4 304 274 102 10 100 100 M12x1.75 M10 10
Model N [ Q R S U Ul U2 U3 V W w2
CW-30 M6x1 28 20 86 25 80 200 120 73 140 30 30

AUTOGRIP 72



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK BrAEEPZEEMETT (—) BEsERED

R RAGIGEER R - S RESWRIMN2Z/3 -

PRI L B SRS R R TR RS -

LRSI HEREEZ -

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

IR AR M TE A S A1 AE - (BREMm)

Linear sensor can be attached.(optional)

= EHF|ERFHE Patent numbers :
&% : PATNO.M491534(Taiwan)
KPBE : PAT.NO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 ot P ﬁ 6~L1
LA
LA _
| _ =
— o3 N <&
N S H 9 x o = w al o m
O’[ Q § 8§ § g 8 ¥ ¥V B8
2x2~Q3
Pressure Port
e 4/
4~Y2 L
B — Z
T \Y i X i
RC1" L] g a2 | . e
Drain Port #37, = | =5
233 AllB 2 K
T
RBBIEIERAOHR
Subject to technical changes
i 1li#1& SPECIFICATIONS
pith JEZEEEES. piston area 712 EaOEH EaEREN | 88 mERE
# {8l (Extend) HirfAl(Retract) Piston stroke Max. speed Max. pressure  Moment of inertia ~ Weight  Total oil leakage
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 11.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 [I55¥%3) 25 5500 4.5 (45) 0.065 17.4 4.2

g

*EKERTERIEEFSHEMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.

\

73 AUTOGRIP



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK B A ch ZE J0 BB BRG] (— ) BEEEEEn

ShEYR<F DIMENSIONS

A E Gl G2
Model & B © D F H J K L L1 L2 M1 M2 M3
I DI h7 max. min. max. min.
TK-A528 105 | 141 125 125 110 45 12 0 38 | 26 49 775 123 6~M8x20 M8x55 14 M38x1.5 25 13

TK-A533 105 141 125 125 110 45 12 O 38 26 49 775 123 6~M10x20 M8x55 14 M38x15 25 13

TK-C643 128 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13

TK-AG646 128 162 147 147 130 65 15 O 44 29 56 85 125 12~-M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 100 65 15 0 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140 120 65 15 0 44 29 56 85 125 12~-M10x20 M8x60 12 M55x2 25 i3

TK-B846 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15
TK-A853 145 185 170 165 140 70 20 O 48 28 66 95 135 12~-M10x20 M8x70 12 M60x2 30 15
TK-B853 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 16 M75x2 85 15
TK-A1075 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 @ 16 M85x2 35 15

TK-A1078 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 16 M87x2 85 15

o1 02 R s
Model N1 N2 N3 P Q1 Q2 Q3 T u VoWl w2 X1 X2 Y1 Y2 z
H8 H8 g7 | HT7

TK-A528 M39x1.5 25 8 35 28 79 85 30 RCl4 37 62 70 98 6 62 110 49 M6x6 83 M5x6 5
TK-A533 M39x1.5 25 8 35 33 79 85 30 RC1/4 37 62 70 98 6 62 110 49 M6x6 83 Mb5x6 5
TK-C643 M52x15 29 9 45 43 87 85 36 RC38 50 | 76 |8 116 95 74 120 64 M6x10 98 M5x6 5
TK-A646 M52x1.5 29 9 50 46 87 85 36 RC38 50 76 8 116 95 74 120 64 M6x10 98 M5x6 5
TK-B646 M52x1.5 29 9 50 46 97 85 36 RC38 50 76 8 116 95 74 120 64 M6x10 98 M5x6 5
TK-C646 M52x1.5 29 9 50 46 87 85 36 RC3/8 50 76 |8 116 95 74 120 64 M6x10 98 M5x6 5
TK-B846 M58x1.5 30 8 50 46 97 85 36 RC3/8 56 85 96 128 115 79 130 73 M6x12 110 M6x6 5
TK-A853 M58x1.5 30 8 55 53 97 85 36 RC38 56 85 96 128 115 79 @ 130 73 M6x12| 110 M6x6 5
TK-B853 M58x1.5 30 8 55 53 97 85 36 RC38 56 85 96 128 115 79 130 73 M6x12| 110 M6x6 5
TK-A1068 M84x2 34 9 70 68 110 12 40 RC1/2 81 | 108 121 164 10 98 160 98 M6x12 155 M6Xx8 5
TK-A1075 M84x2 34 9 80 75 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 5

TK-A1078 M84x2 34 9 82 78 110 12 40 RC1/2 81 | 108 121 164 10 98 160 98 M6x12 155 M6x8 5

AUTOGRIP 74



8 Ag AU ch ZE JE BEOH AR AT () BEEREET
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

TK

o BRE - RALBUEEMEL - 2REDUKE2/3 -

o NEYIMEHEEEREIEER -

o LERFUHEBIKHEEZ -

® Super short form, light weight large Through-Hole, just as 2/3
of typical model length.
Built-in safety check valves and pressure relief valves.

°

Can screw it from the rear end of the cylinder when mounting.

Oy INAR M BN R RS - (EfEm )
Linear sensor can be attached.(optional)

HREmZFI Patent numbers:
&% : PATNO.M491534(Taiwan)

(=N
APBE : PATNO.ZL201420584274.5(China)

. Q1 P L2
W1 3~Mounting Hole 6~X2 25 i i 6~L1
N1 *H* A5 =
= _
- I
a — I
o Og = v x o EJ._.NZ“ét;L w w o o m
o g8l 8§ § § O = 8 8 8§ 8§ 8
Ca
2x2~Q3 M1
Pressure Port
o, 4/
a2 | | L
Zl
\Y
RC1” g G2 H Gl
Drain Port H#HFL | ;
233 Al B K
REBIIEE R “
Subject to technical changes
K 1li#4& SPECIFICATIONS
itk JEZE HETEES. piston area 1112 EeE EaERAES | 52 HwERE
— {8 (Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
ode cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 2175 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 2175 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
TK-A1512-35 336.4 315.2 35 3000 3.5(35) 0.38 53.8 7.0
TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
SMEUR ) DIMENSIONS
A B Gl G2
Model A B © D : ) H J K L L1 L2 M1 M2 M3 N1
ID. h7 max. min. max. min.
TK-A1287 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 14.5 M95x2 35 15 M99x2
TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 14.5 M100x2 35 15 M99x2
TK-A1511 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M120x2 45 15  M129x2
TK-A1512 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M130x2 45 15 M129x2
TK-A1512-35 250 300 275 275 230 140 35 0 63 28 102 161 231 12~-M16x36 M12x115 21 M130x2 45 15 M129x2
TK-2114 265 320 295 295 240 165 35 0 60 25 115 173.5 247.5 12~M16x32 M12x120 17.5 M155x2 45 20 M149x2
Model N2 N3 o1 02 [ i, 2 Q3 R S T U Vv w1 W2 X1 X2 Y1 Y2 A
ode H8 | H8 ] g7 | H7
TK-A1287 38 9 90 87 1275 15 45 RC1/2 96 120 138 180 7 110 185 108 M6x10 @165 M6x10 5
TK-A1291 38 9 95 91 1275 15 45 RC1/2 96 120 138 180 7 110 185 108 M6x10 165 M6x10 5)
TK-A1511 38 9 115 110 153.75 17 |50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6X9 6
TK-A1512 38 9 125 120 153.75 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6X9 6
TK-A1512-35 38 9 125 120 158.75 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6X9 6
TK-2114 38 9 145 140 170 17 50 RC1/2 146 170 190 250 7 145 210 160 M6x10 230 M6x10 6
*EKBRITERREEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

75 AUTOGRIP



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK BERPEEEEEL (=) @EmEnED

SRR AL CEQIBEE -
PRI L R B SRS K JER )0 R -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

I AR E AL R AR - (EFEm)

Linear sensor can be attached.(optional)

m EFERFEH Patent numbers:
& : PATNO.M491534(Taiwan)
AP : PAT.NO.ZL201420584274.5(China)

Wi 25 Qi P

6~X2 i 6~L
N1 I
E*j E/ _
k —H— )( ! —
j} \ 9 N2)
N \ - I
& f * ﬂ*\f—‘xﬁl—wn:g @} 5 Liw|lo|lm
1] | | = M RSERSURCEES 50 & 2 w3 Me® | Q| 8|8
2x2~Q3 Ul
Pressure Port #55H 5L X == % = o
Q AMA1
=
| 4
4~Y2 7
L Vv H G1
RC1” @
Drain Port 3#H7FL X G2 ‘ J
(TK-2820:M40x1.5) ] \@33 (TK-2820:039) | | === " K
T T
Dr
T B\_‘
RBIRAIEBAORER
Subject to technical changes
R iili 7515 SPECIFICATIONS
Bk SEZEEE Eff. piston area 172 EeEy EaERAES I B8 BRRE
848 (Extend) HiIf8l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight  Total oil leakage
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TK-2416 418.4 375.4 35 2000 3.0 (30) 1.12 78.0 9.0
TK-2416L 418.4 375.4 51 2000 3.0 (30) 1.31 79.2 9.0
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
9NEIR~F DIMENSIONS
A E Gl G2
Model o B © F § - H J K L M1 M2 = M3 N1 N2
AEILD. h7 max. min. max. min.

TK-2416 290 340 300 260 190 35 0 60 = 25 129 1855 275 M16x32 M180x3 45 20 M174x2 38
TK-2416L 290 340 300 260 190 51 0 76 25 145 2015 291 M16x32 M180x3 45 20 M174x2 52
TK-2820 340 395 360 320 235 51 0 76 25 152 2125 316 M20x40  M220x3 45 20 M218x2 52

Oo1 02 R S
Model P Q1 Q2 Q3 T U Vv w1 w2 X1 X2 Y1 Y2 A
H8 H8 g7 H7

TK-2416 170 166 186.5 20 50 RC1/2 171 202 220 292 |7 167 | 250 188 Mé6x1l 260 M6x12 5
TK-2416L 170 166 2025 20 50 RC1/2 171 202 220 292 7 167 | 250 188 M6x1l 260 M6x12 6

TK-2820 210 205 216 21 50 RC1/2 215 262 285 360 @7 2025 300 240 M6x12 320 M6x12 6

*EKBRITERIDEEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
AUTOGRIP /6



2K X0 Ao FF > J [=r [ AR AT
AL 8 g AU o 28 900 BE 5 [BR ] KB
SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

i Ts

EHIREERET - AL LB S ER G -
BAASNEEACREMIN 2 EBALNERIERX -
RS | B SR AR R R TR R -

ZERFERERHEEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O] 208 040 5 @60 MABEKE R -

oI MNAR BN RS - CEBMm)

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, J60.

Linear sensor can be attached.(optional)

EHREmZFI Patent numbers:
&% : PATNO.M491534(Taiwan) / APE : PAT.NO.ZL201420584274.5(China)

W1
2~ BRI AL
Mounting Hole 6-X2
v _
— -
= Bl 3 53 :
o - Slele|zl 8 8 S
Al g 35888
2x2~Q3 A = .
el - 4
Pressure Port o~
=
) >
4~Y2 )
B gg 3
Drain Port~
‘(333
| |
REBIRBIEHER) -
Subject to technical changes Al B ﬁr
E1li#4& SPECIFICATIONS
Fith JEZHEE Eff. piston area 112 BB EeEREN | ES RS
- #{8)(Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure |~ Moment of inertia = Weight = Total oil leakage
ode
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TS-539 72.4 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 555 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
TS-1210 231.7 222.0 30 3500 3.5(35) 0.193 35.6 6.0
SR ST DIMENSIONS
A = Gl G2
Model RS B Bl @ D F . . H J K L1 L2 M1 M2 M3
ID. h7 max. min. max. min.
TS-539 107 143 141 125 125 110 52 15 0 425 275 57 91 124 6~M10x20 M8x60 12 M45x1.5 25 12
TS-866 165 211 207 190 190 168 85 25 0 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 35 15
TS-1081 180 226 222 205 205 168 100 25 0 58 33 74 115 166 12~M10x20 M10x80 16 M90x2 | 35 | 15
TS-1210 210 263 260 240 240 200 125 30 0 64 34 935 136.5193.5 12~M10x20 M12x100 20 M115x2 35 15
Model N1 N2 ' N3 ol oz P 1 2 8 R S T U vV wl w2 X1 X2 Y1 Y2 z
ode (H8)  (He) o @B @ o
TS-539 M44x15 26 8 | 42 39 85 85 30 RCl4 42 69 72 103 10 62,5 100 54 M6x10 90 M5x12 5
TS-866 M74x1.5 37 8 | 72 66.5 105 12 45 RC12 72 100 111 154 12 95 140 88 M6x12 140 M6x10 5
TS-1081 M89X2.0 38 9 85 81 109 15 45 RC1/2 86 113 123 175 16 103 160 103 M6x12 160 M6X10 5
TS-1210 M118x2.0 47 9 110 106 131 16 46 RC1/2 115 145 151 210 16 103 160 133 M6x12 195 M6x1l 5
*EKBRITERIEERLSHSMHEEE - “Coolant Collector and Confirmation Device. Please See Accessories pages.

77 AUTOGRIP



[
il
[
iy
il
ft

TH Ch 72 3000 §3 5 BR ]
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

HBEE K8 KAKLEIREHRET -
WL |7 B SHEE - oML BRI ESACE MBS - BIREBNAR
B - MEERHAERBNRIFIEY -
Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

CIFfINAR M TE AL S AR TAE - (BREMm)

Linear sensor can be attached.(optional)

A
i
[
)
]
il

P |
| h
-
ol Lw oo o
Ql M3 M2 [SIESIESIRSIERN
L1
W M1
L
i w 5L
\ \ \ \
(TH-428:RC3/4") / = 3 G2 — H Gl
RC1" Drain Port E% E%
SEHA L J
@33 | (TH-428:226.5) ‘ K
RIS BB
Subject to technical changes
K ifi#R4% SPECIFICATIONS
itk JEZHTE Eff. piston area 112 REABH EaEREN I B8 BERE
{8 (Extend) HIfAl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight  Total oil leakage
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
SN~ DIMENSIONS
A
Model NE B € D E | g | G |6 G G, K L M1 M2 M3
ID. (h7) max. min. max. min.
TH-428 920 130 120 100 80 40 10 0 35 25 45 1275 155 6-M8x15 M33x1.5 25 12

TH-A536 105 150 135 115 100 48 15 0 40 25 40 118 166 < 6-M10x20 M42x1.5 25 15

o1 02 R
Model N1 N2 P 1 2 3 S T V) \ W1 w2 X1 X2
(H8)  (H8) Qe | Q Q (@7)

TH-428 M34x1.5 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7

TH-A536 M44x1.5 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

*EKERITEBREEZESHEMAEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 78



’ TR BQ 5 AU oh ZC 28 #8 5 ER f] BEERRER

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

S REER  ESKI -

NEEFFIFRER R Z2RIEEEE -

RéamA BB - AREKN - HOHIRE -

BHLEREARNHETEME - ZHEHEEE -

O ERMR I 0BT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIft MNARMEE AL R AR AT - (ERBm )

Linear sensor can be attached.(optional)

=z O =n0,

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
AKPBE : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
6~V2 »WH - Hl
21 1 }
N1 ]
g N
1 i 5 N2 [ N3 -
ST @6 \¢ Oﬁ x 8 *4’—_1 @ 8 g
g W E=] SIIES s | &
2x2~Q3 N — 7
Pressure Port [T
@l d::h B
"
v\ ut 4~W2 —
| 4~We,
b | B iy
Drain Port
S, J z1
G2 K Gl
I
REBIEEWH R
Subject to technical changes Al Jr
¥ 1li#4& SPECIFICATIONS
Eith JEZEHETE Eff. piston area 712 B E=EREN I B8 RS
- {8 (Extend) HIfAl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia =~ Weight  Total oil leakage
ode cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TR-539 72.4 67.1 15 8000 4.0(40) 0.010 6.8 3.0
TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
TR-853 135.3 125 20 6300 4.0(40) 0.032 11.5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 42
TR-1291 234 2175 30 3500 4.0(40) 0.092 29.5 45
MR~ DIMENSIONS
A E Gl G2
Model R B © D F . . H J K L L1 L2 M1 M2 M3
h7 max. | min. max. min.

1.D.
TR-539 107 143 125 125 110 52 15 O 34 19 4 97 133  6-M10x20 M8x60 12 M45x15 25 12

TR-646 128 165 147 147 130 65 15 0 34 19 | 35 97 135 | 12-M10x20 M8x60 11.5 M55x2 25 13
TR-853 145 185 165 170 130 70 20 0 47 27 45 1185 160 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 212 190 190 160 95 25 0 52 27 45 1295 181 12~M10x20 M10x85 16 M85x2 35 15
TR-1291 200 248 225 215 180 110 30 0 59 29 5 146 240.5 12~M12x24 M10x95 16 M100x2 = 35 15
o1 02 R
Model N1 N2 N3 P Q1 Q2 Q3 s T U v w1 V2wl w2 z 71
H8  H8 a7

TR-539 M44x1.5 8 25 42 39 925 65 26 RC14 42 40 103 525 55 | 53 M5x8 90 M5x9 RC1/2
TR-646 M52x1.5 8 25 50 46 95 5 32 RC38 50 50 116 59 62 615 M5x9 98 | M5x9 RC1/2
TR-853 M58x1.5 8 30 55 53 114 8 34 RC38 56 50 128 65 67 70 M5x10 110 M6x11 RC 1/2
TR-1075 M84x2 9 33 80 75 1235 12 40 RC1/2 81 50 164 83 86 95 M5x10 155 M6x11 RC 3/4
TR-1291 M99x2 9 38 95 91 139 14 45 RC1/2 96 50 180 915 93 110.5 M6x12 165 M6x12 RC3/4

*EKERITERIDEERLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
79 AuToGRIP

o o o o O



il
[
i
il
ft

RA b & 700 42 78 [BR ]

ROTATING AIR CYLINDER

OEMEAMRESRARARESSRENN - E8K -
LEESSRRET  EFRRERAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

FAR  FRAMENRE -
When used, a little oil mist should be contained.

L
A 1LD.AE
| /]
{;’;"
= S _
il ==
_ — M- Shel w o] Ol @
N — 2l 81 Q) 8 Q| Q| 8
[o¢]
™ K
/ L |
oo il I
‘15 36.5
‘ N
,,,,,,,, _ Silencer 2~RC1/4”
;F L OHER Pressure Port
| | wsil
i ! 95 H G
i | J
RIS ERAER
Subject to technical changes
R li#31& SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 ReOEE BefEREN | 582 ERAERE
{8l (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia~ Weight | Air Leakage( 6kgf/cm?)
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg cc/sec
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 225.4 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
SMEIR < DIMENSIONS
E G G
Model A B © D ) F B it H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35!
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

autocrip 80



il
%
s
il

RH oh 8 300 88 BR ]
ROTATING HYDRAULIC CYLINDER

ft

LDEREREIRERAERESSREMNMN  E85K -
EEBAARKRET  EEABNEEERINEB R LA - MAEm S &
L IEREM -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

®  Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

R REB Y EEELREE  DBRESEE -
The drain port should be independently connected to oil tank to avoid back

pressure.
L
1 \\}
o A B | Dr - alo
w:[;
1<)
RC1/4"
Drain Port SEJHFL
2~P
13(RH-200:14) Pressure Port #45#70
6
102 H G
J
RIS B R
Subject to technical changes
FAfr#21% SPECIFICATIONS
sk JEZHE Eff. piston area 112 EeEEY EeEREN I 58
{8 (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 2.9
RH-80 47.7 42.8 15 6000 3.5(35) 0.01 34
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
4MEIR < DIMENSIONS
E G G M
Model A B © D (7 F g | @i H J K L (H8) N P Q R
RH-65 65 15 98 80 60 22 45 30 73 175 M12x1.75x30  6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 112 90 65 25 45 30 74 176  M16x2.0x30 = 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 20 135 100 80 25 45 25 | 885 1905 M16x2.0x30 6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 25 160 130 110 30 50 25 955 1975 M20x2.5x35 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

81 AutocriP



SRR

P30 | E 6] o BB 2 83 5P [ER (T

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

A RK

o A . HiF . KSIVEEHEG -
o NEI IR SHIAE KR TR BR R -
o LRRUBEIKHEELY -
®  For short form, light weight and high speed rotary cylinder.
® Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
SRMAREBNERZELHEE DUBRELTRE -
The drain port should be independently connected to oil tank to avoid back
pressure.
L2
He—=——==
6~L1 /|
. A:1.D. RfE | N1 ]
& B:St f7% || T [I—
T u’\’ N -
_ AB |Dr éJ ,,,,7,74#,,, SRS
& A
< S|
f ‘ N KK
RC1/4” i
Drain Port 37, ‘ e —
2~RC3/8” (RK-200:RC1/2") LQ
(RK-75:60) Pressure Port #5387, S
H G
2~RC1/2"
4AY
Pressure Port #5A7FL o P J
NA) M
=t AL J
-
Q
RC3/8” ﬁL
Drain Port JEHFL R
(REBIEIERAOHR RK-250
Subject to technical changes —
K 1li#1& SPECIFICATIONS
pidh JEZEETE Eff. piston area 712 e aE EafERER I B8
- {8 (Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
ode cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RK-75 44.2 37.1 15 6000 4.0 (40) 0.01 29
RK-100 78.5 715 20 6000 4.0 (40) 0.03 4.4
RK-125 122.7 113.1 25 6000 4.0 (40) 0.05 6.9
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 95
RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 154
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
SMEIR < DIMENSIONS
E G G M
Model A B C DI D2 o F max mn M7 K L L1 L2 tny NONOP Q R S
RK-75 75 15 107 90 90 65 30 45 30 57 148 M20x2.5 6-M8x16 M8x60 12 21 35 5 415 10 275 26
RK-100 100 20 132 115 100 80 30 45 25 72 163 M20x2.5 6-M10x20 M8x75 12 21 35 5 395 10 285 32
RK-125 125 25 160 140 130 110 35 50 25 82 172 M24x3.0 6-M12x20 mM8x85 12 25 45 5 385 10 285 32
RK-150 150 30 190 170 130 110 45 55 25 95 184 M30x3.5 12-M12x24 M10x100 155 32 45 5 37 10 285 32
RK-200 200 35 245220 145 120 55 70 35 115 201 M36x4.0 12-M16x30 M10x125 21 38 60 5 38 6 285 28
RK-250 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 12-M20x35 M16x175 28 45 65 12 33 18 6 -

AUTOGRIP 82



RK-N S 3000 B3 5 [BR ] ST AL
ROTATING HYDRAULIC CYLINDER

RE . S - KSIVEERERT] -

LRI HERHEEZ -

For short form, light weight and high speed rotary cylinder.
Can screw it from the rear end of the cylinder when mounting.

R EBEMEBELREE DR EESE -

The drain port should be independently connected to oil tank to avoid back

pressure.
=
[
——F — L,
g 6~L1 - ]
> L _
N ) @
] ~ A:1.D. A& N1
ABIDr ¥ m Bost 7 || T
/1 =S W W o —
D - B N &l Q Q| O O 8
g L o 1 Q| Q
1 o N K
RC1/4" !
Drain Port JEA7L ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5\ L
(RK-75N:60) Pressure Port #5587 —
77.5(RK-250N:90) H G
J
RBBAEIERAOHER
Subject to technical changes
#li#1& SPECIFICATIONS
itk SEZEMEME Eff. piston area 712 e EEE BefEREN I 58
818l (Extend) Hifil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min(r.p.m.) MPa(kgficm?) kg-m? kg
RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
RK-100N 78.5 71.5 20 6000 4.0(40) 0.03 4.3
RK-125N 122.7 113.1 25 6000 4.0(40) 0.05 6.8
RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2
4MEIR < DIMENSIONS
£ G G M
Model A B © D1 D2 ") F e min H J K L L1 L2 (H8) N N1 [ Q R S

RK-75N 75 15 107 90 90 65 30 45 30 57 1345 M20x2.5 6~M8x16 M8x60 12 21 35 5 28 10 275 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 21 35 5 26 10 285 32
RK-125N 125 25 160 140 130 110 35 50 25 82 159.5 M24x3.0 6~M12x20 M8x85 12 25 45 5 | 26 10 285 32
RK-150N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5 12~M12x24 M10x100 155 32 45 5 26 10 285 32
RK-200N 200 35 245 220 145 120 55 70 35 115 1925 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285 28

RK-250N 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 6~M20x2.5 M16x175 28 45 65 12 37 18 6 =

83 AuTtoGRrIP



’ RS P30 | E 1 17 A2 122 ) B 300 55 P BR R B

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

R BE - TREEHIAEERE -

RENOERR - TEEESS - JEDHBIIIERES -

ST LR B SR AR R R TR BR R -

ZERREHEREEZ -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

SEMAREBNEREOHEE  DUBRELTR -
TEBRIEBUEBURBETEURRESE - (F]#m)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

T
N
L2
6~L1
2x2~M5x0.8
R S —
ALD. RN 5 r
B: St 1772 %Tj‘ oo
T ST Wi w
-—sE CEEEE
o | ke
! B | RC1/4” _n
31[3_‘&* 3,18 Drain Port JEHFL _E
78 78 27(RS-200:29.5) 5 L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port  #8H7L J
RS-200 RS-75,100,125,150
RBBIEIEREOMR
Subject to technical changes
Hli#1& SPECIFICATIONS
sl SEEEE Eff. piston area 17%2 EaOEH EaERAESN I £
Vodel # il (Extend) HiIfAl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
odel
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RS-75 43.0 371 15 6000 4.0 (40) 0.01 34
RS-100 77.4 71.5 20 6000 4.0 (40) 0.04 4.9
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
SMEIR~F DIMENSIONS
E G G M
Model A B @ D1 D2 ") F v | H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 65 30 45 30 57 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35

RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 | 50 25 82 41 144 226 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 55 25 95 39 142 237 M30x3.5 12~-M12x24 @ M10x100 155 32 45

RS-200 200 35 245 220 145 120 55 70 35 115 34 1425 2575 M36x4.0 12~M16x30 M10x125 21 38 60

* 3T #%BARA : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 84



A Rs-N GEERmesam man

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A S - (TI2EHI AR ER ] -

BTV BRR - TERERS - aERHBRILEEES -

LRSI HEREEZ -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

SRMAREBNEBZEOEEE  DBRELER -
RSB BN SREEN R TS - (F12m)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2% A Lor 6-L1 L2
i e—— ;;“
g | ResE ]
T R ECEEE
RC1/4" E%‘L%ﬁ A_!_— S
Drain Port J#5H 7, 271 | 28 =5
RECIRA 1, S
2~RC3/8"(RS-200N:RC1/2") | 131RS-200N:134.5) H G
RS-200N Pressure Port  #&#FL J
Sbloct 1o ochar hanges
K li#31& SPECIFICATIONS
itk JEZEMATE Eff. piston area 712 REEEE BeEREN | 52
#{8(Extend) Hirfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 3.3
RS-75N 43.0 37.1 15 6000 4.0(40) 0.01 3.3
RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
RS-100N 77.4 715 20 6000 4.0(40) 0.04 4.8
RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 85 5500 4.0(40) 0.29 15.9
SMEUR~F DIMENSIONS
Model A B Cc D1 D2 (rlé) F m('jx. m(i;n. H J K L L1 L2 (I-’;AS) N
RS-6520N | 65 20 97 80 80 60 25 45 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 30
RS-6530N = 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 107 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N = 75 30 107 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 85
RS-100N 100 20 132 115 100 80 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x3.0 6~M12x20 M8x85 12 25 45

RS-150N 150 30 190 170 130 110 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 155 32 45
RS-200N 200 35 245 220 145 120 55 70 35 115 2495 M36x4.0 12~M16x30 M10x125 21 38 60

* 3T #%BARA : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 autocRriP



P38 11 f8 ) 7K B 2 855 BR 1 T i

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

y A

EKEVEERERTT - DA RER A TIHIK -
WL 5 1F B SE R R B IR B -

To allow coolant to be feed from the rear end of the distributor through the
rotating union

® Built-in safety check valves and pressure relief valves.
Efmﬂﬁﬂmi‘“ﬁ“é%?%@ﬁ}é_z% DUB G A AR
EKAERISRBR B EE -
The drain port should be independently connected to oil tank to avoid back
pressure.
The rotary cylinder should not run without liquid through coolant port.
L2
6-L1 »ﬁ«
RC1/4" w h _
Coolant Port {£7K#, — g\ Is?f__?g 8
/_‘ﬁ . St T»H«
<> N e — —lls wlalg o
o T / H?M_;g, SIESIES
™ Ly ™
s n i NK
RC1/8" ‘ I
Coolant Drain Port 87K, j—
< 20 H1 >
T
RC1/4" 11 5 L
13,13 E Drain Port S83#7, Ho H 5 =
60 CiA
1 I~ J
(
5
C-Dr T 2~RC3/8"(RL-200:RC1/2")
A B\ Dr Pressure Port #5587
PV Limit value 14400 MPa-r/m
PV FREIE
RGBT
Subject to technical changes
F2 i #21% SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 Syt BEERES FKAERBERRES | £
Vodel B (Extend) HiIil(Retract) Piston stroke Max. speed Max. pressure CO&';‘:[ F;:;r;r;ﬁ(;gon Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg:m? kg
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1
RL-100 77.0 71.5 20 6000 4.0(40) 3.5(35) 0.04 4.6
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 7.1
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
SN~ DIMENSIONS
E . M
Model A B © D1 D2 (h7) F Gmax. Gmin. H  Hl H2 J K L L1 L2 (H8) N
RL-75 75 15 107 90 90 65 30 45 30 57 42 137 194 M20x2.5 6~M8x16 M8x60 12 21 35
RL-100 100 20 132 115 100 80 30 45 25 72 | 42 | 137 209 MZ20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-125 125 25 160 140 130 110 35 50 25 82 41 | 136 218 M24x3.0 6~M12x20 M8x85 12 25 45
RL-150 150 30 190 170 130 110 45 55 25 95 39 134 230 M30x3.5 12~M12x24 M10x100 15.5 32 45
RL-200 200 35 245 220 145 120 55 70 35 115 36 | 132 | 248 M36x4.0 12~M16x30 M10x125 21 38 60

AuTOGRIP 86



’ RL-N & 7K BU 300 8256 [BR 1] S

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

o B HKAVEEMEG - o] AHEREATIHIK -

o ZEFUHERHEEY -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

RSB N BB ERODHEE  DBREESE -

AKAERRERE  FYEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

A
i
B
]
il

6~L1 »’L_Z‘«
o~ =
(1
RC1/4” }
Coolant Port {#7Kf, ALD. A [17g I
B:St. 7% || ..
N /I | T
. S el | [ Hfstl-l- o=
\\QJ “Q 1 HLQQgDQC@J
& - 9 8
iyl NK
RC1/8" : h
Coolant Drain Port J87KHL j—
~o 20 28 S
RC1/4” \ 5 L
L 13 Drain Port J8H7. 1/245 10 H G
60 :
C, J
( 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port  #HFL
C-Dr H-3
PV Limit value 14400 MPa.r/m A B | Dr
PV BRHIME
(REBRIEBAOHER
Subject to technical changes
i #2148 SPECIFICATIONS
itk JEZEMETE Eff. piston area 112 ReOEE EEERESN FKAERBERES | £
Vodel #81{8(Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Co&l;;t;fensr;crzgon Moment of inertia ~ Weight
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg
RL-75N 42.6 371 15 6000 4.0 (40) 3.5(35) 0.01 3.0
RL-100N 77.0 71.5 20 6000 4.0 (40) 3.5(35) 0.04 45
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 312.5 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
SMER < DIMENSIONS
Model A B C DL D2 (hE7) F Gmax Gmin. H  J K L L1 L2 (F“"E';) N
RL-75N 75 15 107 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 21 35
RL-100N 100 20 132 115 100 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 | 35
RL-125N 125 25 160 140 130 110 35 50 25 82 205 M24x3.0 6-M12x20 M8x85 12 25 45

RL-150N 150 30 190 170 130 110 45 55 25 95 218 M30x3.5 12-M12x24 M10x100 155 32 @ 45

RL-200N 200 35 245 220 145 120 55 70 35 115 240 M36x4.0 12-M16x 30 M10x125 21 38 60

87 AuTOGRIP



RL-AN ¥ 7 AU 3 e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

o BE IRIEEMEL - IAHEREETESR -

o ZEFUHERHEEY -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.

FERE - FEANENHEE -

ARABRERAR  FYEHE -

When used, a little oil mist should be contained.

The rotary cylinder should not run without air passing through the air port.

6~L1 »’E‘«
RC1/4”
Air Port &7, A 1.D. A [] ) I
B:St. 712 ||
T
Tl sSTw! ol =
88 Aol Q
C) . SIS g 5|8
® ~IN K
N
RCLA4" il
\g%/ Drain Port %5+l 57 28
\ 5
1 13 2~RC3/8"(RL-A200N:RC1/2") 10 Nt
Pressure Port #3HFL 1095 H G
60 Air
[ A |
J
It
A BLDr
REBIRBIE LT
Subject to technical changes
#2348 SPECIFICATIONS
itk JEEETE Eff. piston area 112 EeEEg EeEAES FRIEEERREN | B8

f Air connection — .
[ |
#8{8(Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Ve e Moment of inertia =~ Weight

Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg
RL- A75N 42.6 37.1 15 6000 4.0(40) 0.8(8) 0.01 3.0
RL- A100N 77.0 71.5 20 6000 4.0(40) 0.8(8) 0.04 4.5
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 3125 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5

MY <F DIMENSIONS

E G G M
Model A B Cc D1 D2 () F i | i H J K L L1 L2 (H8) N
RL- A75N 75 15 107 90 90 65 30 45 30 57 166 M20x2.5 6~M8x 16 M8x60 12 21 35
RL-A100N 100 20 132 115 100 80 30 45 25 72 | 181 M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-A125N 125 25 160 140 130 110 35 50 25 82 191  M24x3.0 6~M12x20 M8x85 12 25 45

RL-A150N 150 30 190 170 130 110 45 5 25 95 204 M30x3.5 12~M12x24 M10x100 155 32 45

RL-A200N 200 35 245 220 145 120 55 70 35 115 225 M36x4.0 12~M16x30 M10x125 21 38 60

AuToGRIP 88



’ RE s R AP EH BT (—) i

COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

B - BN S EL T -

NI B SR - R B RITRERILEERRE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

RSB SN BB EONEE DB RELESE -
TRBAEBAUEBUARUEEULRREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” i : m—
Pressure Port A,B ! -
fE3m7L AB | HE AND Rl N K
B:|st. 1712 <[;—/
<| e yRimmn]
1 st u|l w o o
g @ NN @J S| 8 § 8
| 15 S
H
i | |a25 - =3
Drain Port ‘ f L
e REN H L1
[ J G
Drf AB
REBIE BB
Subject to technical changes
F{ir#21% SPECIFICATIONS
sk JEZETE Eff. piston area 112 EeEEg EaEREN | 58
#{8)(Extend) Hifil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
SN~ DIMENSIONS
C G G M
Model A B (h7) D E F B il H J K L L1 (H8) N
RE-110 110 20 | 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 168 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 30 @ 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 40

* 31#%F963 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

89 AuToGRIP



== A Pa =S N (= — =3 =
B ER A R R B R () SmED
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

A RE

SR - KEHSAPERERG - FhlESERARIAER -

IR R B s E - R B R TIZ ST R -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

RSB SN BB EONEE DB RELESE -
TRBAEBAUEBUARUEEULRREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

A
i
[
)
]
il

~ L2
2x2~M5x8 (L“\
R =
i =4
s T v
S .
1 P — L _
[ — 5
. K
A: 1D, A
B: St| 1712
A Siulw AN| —
17\ - - al o
g SIESTRSI
\ 1
I — =
2~RC1/2 Dr Z P 12~L
Pressure Port A,B - I -
4amAL A, : } ,
(RE-150:2~RC3/8™)
- H G
I
RC3/8" J
Drain Port JEAFL
(RE-150:RC1/4™) f
Dr | AB
RERIEIE B ROHER
Subject to technical changes
K ili#R4% SPECIFICATIONS
RIS JEZEETE Eff. piston area 17%2 EEEEH EaERAES | B2
18] (Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
SN~ DIMENSIONS
E G G M
Model A B © D1 D2 (h7) F BT G H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 205 180 130 110 45 60 30 99 | 177.5 M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 | 27 38 12 65 15 150
RE-200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 | 27 45 12 65 15 150
RE-250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 | 28 45 12 65 15 150

* 31#%F963 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

autocrip 90



B AEES B D SR T (— ) sumnm

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR KSEERGITREEHEL - JARERHEER -

N B SEEE - RBRE RATIR T R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

MR EBEMEBELREE  DEREESE -
e - BREAMERMTE -

AR FREEAR  BVEE -
TRBAMBUENRREEMRAREE - (F]HMm)

The drain port should be independently connected to oil tank to avoid back pres-

A
i
B
]
il

sure.
When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.
The rotary cylinder should not run without air passing through the air port.

i | =
1 L = —
Th=— ap.m&E | N K
B: St. 1752 a
INPS = O
- L _ _ wiw A
‘é { \ | QI Q| 9l
8
%ﬂg 15
1
o R ==
12.5 L
H L1 N=
2~RC3/8” i J G
Pressure Port A,B 1/4” . A B
587, AB Drain Port E3#7L Dr |,
RBIBIEIERAOHER
Subject to technical changes
K ili#R1& SPECIFICATIONS
itk JEZHETE Eff. piston area i7%2 SERELEY ) E=ERES AREESEREN | B8
f Air connection — )
ol {8 (Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure Max, pressure Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
SR ~F DIMENSIONS
Cc G G M
Model A B (") D £ F BT il H J K L L1 (H8) N
RE-A110 110 20 | 145 128 @ 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 145 42 29 60 39 | 69.5 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 30 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 43

* 3T FAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

91 AuToGRIP



’RE_A BRESITRIEEREGT () BREEn

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

SR KSEERGITREEHEL - JARERHEER -

N B SEEE - RBRE RATIR T R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SRMA BB EBZEOEEE  DBRELTR -

FERE - FEAMENHEE -

ARABRERER  FYEHE -

TRBAEB OB SREEN R TS - (F12m)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

The rotary cylinder should not run without air passing through the air port.

A
i
[
)
]
il

2x2~M5x8 6i‘1\ <L—2»‘
[
j I Y =
U= 5
e Tl — -
o
o A:1.D. A TEU_UJN
f g| |l § pain e 35l
S W B: St 112 ST SIESIRS
== T
# Jrs
prCL = 8
Pressure Port A,B p 12~L
m, AB AP _
(RE-A150:2~RC3/8") i O _
RC3/8” . Air ‘ H G
Drain Port S8R, — 1Oz ‘
(RE-A150:RC1/4") J
RC1/4"
Air Port JERAL I
(RE-A150:RC1/8") br | AB
REBIEIEBLORER
Subject to technical changes
F2 i #5215 SPECIFICATIONS
EISR JEZEMHETE Eff. piston area 1772 EeEEY EaEAES TREEEERES I 5=
. Air connection — .
Vodel # l(Extend) HirfAl(Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia ~ Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 85} 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
4MEIR < DIMENSIONS
E G G M
Model A B @ D1 D2 ") F oo || H J K L L1 L2 (H8) M1 N P Q

RE-A150 150 30 205 180 130 110 45 60 30 99 1775  M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-A200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-A200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 27 45 12 65 15 150

RE-A250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3T FAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGRrIP 92



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A RE-L FEECTicemam () senaw

5% KERSIT/KEEMRL - JEHBREATIEIK -
NP LR EREE  RER AT ESRITIERE -
ZERFEHERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SERALEC SN B EEORERE DR RELESEE -

EKALERISEIB  FYEHE -

TRBAEBUELAREEURREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” L C
Pressure Port A,B T Pr
#&mfL AB [ L ’_Hfi
C-Dr ] L
Dri AB — 1 HE=A N _k
o -
i ALD. RS ITTZa—
- | an 0 TS w fw no
) 10 Y B: S| 1712 ffiL:::M&J SHSIESIES
|
ix i 15 -8
it
RC1/8" —_.
Coolant Drain Port ‘ 4 [ ey S
JEIKAL L
235 |125 . H L1 L
J G

RC1/4”
R RC1/4”
Collant Port E7KFL Drain Port #3870,

REBRBIELAETR
Subject to technical changes

T #+S SPECIFICATIONS
gk JEZEHETE Eff. piston area 712 St ==EREN FKAREERESN | ESl
Coolant connection

o

Model {8 (Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure Max, pressure Moment of inertia |~ Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 123.1 30 6000 4.0(40) 1.5(15) 0.03 9.5

SMEYR <) DIMENSIONS

Model A B "7) D E = TETL - H J K L L1 (H8) N
RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38

RE-L130 130 30 168 150 50 33 60 30 79.5 1815 M24x3.0 6~M10x85 17 27 43

* 3T #%FARA : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

93 AuToGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE-L BEESRTCEMMmERE () T

o FiF KEESETKEEMEG - lERREHRAETIHIK  HHESER
RIIFAER -
NEFIER B SR - R B RTREZERILEERRE -
ZERREHEREEZ -
For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

M A R ERB VBB ELHEE DU RELS R

EKAERISRBR  FYEHE -

RSB ENSREENRFES - (FHm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

A
i
[
)
]
il

2x2~M5X8 6% L2
i S — T ]
2~RC1/2" ] | E% ‘ 5‘
Pressure PortA B il
#omAL A [ IS 5
(RE L1502 ~RC3/8") K
< . = 7
o g AR R =Tiwlal =)o
Q| || v B s AE SIS
12,5 %“ | %v‘_ N "
RC3/8” . T
Collant Port SE7K7L | ﬁﬁ P 41
= L1 12~L
| |.P —
25 j -
RC3/8”
Drain Port 385H7L C H G
(RE-L150:RC1/4™) et J
RC1/8” -
; 3 C-Dr 1
Coolant Drain Port 387K, Drl AB
REBIEIEBLORT
Subject to technical changes
$ 1T #3415 SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 BB RafEREN FKAERBERRES | 582
Vodel #{8(Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure CO&':?;:;ZZ?}?EM Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 475
SMEIR~F DIMENSIONS
E G G M
Model A B © D1 D2 "7) F e | mfin H J K L L1 L2 (H8) M1 N P Q

RE-L150 150 30 205 180 130 110 45 60 30 99 201 M30x3.5 M12x24 M12x105 18.5 32 10 50 125 114
RE-L200K 195 35 257 225 145 120 55 73 | 38 120 264 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 257 225 170 125 65 80 30 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150

RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3T #%FARA : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGrIP 94



’ RC 3 2 33 GA S 432 B 30 S ER 4T WM

HYDRAULIC CYLINDER WITH ROTATING JOINT

° qﬂ/ll\*ﬁ’a*?_ifﬁls_*ﬂ o

o ONMEEREN®RBELEEER  FnERBRAKLPOEKWEK -
o NI @fé?rﬂ% o

o O[EFCA MBS A MBS RO ETITRES -

® Center through-hole hydraulic cylinder, suitable for horizontal CNC lathes.

[ ]

Can choose an external rotary joint with either single or double paths.

® |t meets the demand for coolant through spindle and airtight pressure detect
function.

® Has a buil-in check valve for safety.

® Stroke control via proximity switch or linear positioning system.

MERERIMNEERE S RERERRDERR -

The proximity switch and single or double paths rotating joint are optional.

6~L1 L2
20
10 g =
[ 5
W A LD.AE
2~R —— B: St. 1712
Pressure port A,B
T, AB é S X
el I [ =
S 3 Slwlw al Y
s 8 s 3 TSy | §5 88 8
S f—— = [
‘j) — M1
1
o M e N
Dr
23.5 ‘
Q P
H
G2 J Gl
REBRIBIELAER)
Subject to technical changes
Dr
K ili#R4% SPECIFICATIONS
RIS JEZHETE Eff. piston area 1772 STpELEE EaEREN | 5=
#1{8(Extend) HIfAll(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg
RC-85 43.8 48.1 20 5000 3.5(35) 0.01 6.8
RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
RC-125 109.8 108.5 25 5000 3.5(35) 0.03 11.1
RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 355
SMEUR T DIMENSIONS
Model A B C1 C2 D E (h7) F Glmax. Gi1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55) 25 38 8 89.5 169.5 M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 2225 M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T1 T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 8 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

95 AuTtocrIP



’ RC 3 8 452 OB SN B 10 e S JBR AL BT

HYDRAULIC CYLINDER WITH ROTATING JOINT

o OEEENIERBALENL -
® Rotating joint and Proximity switch with bracket type.

With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

pas
H
L3
| - el
o (
by mE il
H—Ej M@ Inper Opter|
L
e
imi] + L [T 1] L
M-I BET - EEE M2 BET - EEiE

With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

Inner Outer|

B MR AN AN SR S RN R

linear Sensor with bracket Proximity switch with bracket

« I iERIR S T R S * The proximity switch and rotary joiint are optional.
* OEIEFT S B INEREY - * Choose and attach the appropriate type.
* M ENER T AR R - * Please contact AUTOGRIP for more detailed drawing.

AuTOGRIP 96



A rD B4 300 LI P 2849 030 98300 R o

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

o P . KE . BIRIVEEREG -
o NEF IR B SHAAE KR TR BR R -
®  For short form, light weight, double rod rotary cylinder.
® Built-in safety check valves and pressure relief valves.
SR EB N BB EORERE DR RELESEE -
The drain port should be independently connected to oil tank to avoid back
pressure.
,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A:1.D. AR q
P M42x1.5
. (L
B: I.D. A& 35h _
£ M20x2.5
Ty o -
= ABLDr . 3 daaglssgees
- 8 e e R RS
8 H - = 8
= RC1/4" W ! 35
1313 Drain Port 7%733}'4 2 40.5 5 M
0 — ]
] 2-RC3B
60 Pressure Port #5584l 90 C F
D E
{REBIRIE BT
Subject to technical changes
2 Air#21% SPECIFICATIONS
JEZE EFEES. piston area
BISE 718 ReEEH EaERERN I E3
#{8 (Extend) HI{8l (Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 11.5
SMEIR < DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 & 10

97 AUTOGRIP



£81% 2170 55 B ]

DOUBLE ROD ROTATI

NG CYLINDER

L

LI

£ - SRRTEHERT -

For short form, light weight, double rod rotary cylinder.

SRR EBNERELOINERE DBRELER -
The drain port should be independently connected to oil tank to avoid back

pressure.
Cylinder A ?ylinderB 6~M12x1.75x24
. 1
ALD. Wff ﬁ M42x1.5
B: I.D. A& ‘ 35*;’
i o ‘ I M20x2.5
| o
@ %j} A BLDF ﬂ o — o o '.E ol o
N — © / O < | ~
= 5 o S I I
% 10| L%J‘[ Q
L RC1/4" L I 35
Drain Port EH7FL -
27, 28 5.1
13113 0 —=
] 2~RC3/8” R
Pressure Port #5H7L 77 C F
60
D E
REBRBIERER
Subject to technical changes
H1li#1& SPECIFICATIONS
JEZHTEES. piston area
itk 712 B ==ERES | E
818 (Extend) HI{Al (Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RD-120N  122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.2
RD-125N  122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 11.4
9MIR <) DIMENSIONS
Model A B c D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55) 30 35 10

AuToGrIP 98




99

Y 4.

i BRI 82 70 7
HYDRAULIC ROTARY VALVE

S [ER AL

EET e e Bz MEE ARE S RE -

LEEN IS RRE - BB NEE - BAERMA -

A —EE - BERZEHIFEREE -

1BL75 R - o] ) BUIERIB 2R EN1F -

Rotary valve is used for clamping cylinder on rotary table.

Through unique design, it can make the rotary housing be rotated light force
and is free from oil leaking.

| Type is a single circuit which controls the clamping.

® |l Type is a double circuit which separately controls the clamping.

RV BRI A BC EB M EBELIHE DB REMmBSRE -
The drain port of RV type should be independently connected to oil tank to
avoid back pressure.

4~M8 2x4~RC1/4”
Screw hole Distributing port
0 EsAl pAinb::EiN

4~M8x11

Tl

L
o]

0134
|
T

HEMN]

PR

|

01&

RC1/4”
Drain Port S%HF,

:]:7 I
5 12‘ 40.5 ‘ 25 ‘ 18 2(4)~RC114"
‘ 136 ‘ Pressure Port #3584l I 11
REBRIBIE AR
Subject to technical changes
K 1li#1& SPECIFICATIONS
sk papiit 3! EaERRT £
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-31H 410 (OJE]H) 4.0(40) 7.4
RV OJRHEE - (Note:RV can be custom-made.)
7 [E% VAN ] Up—
RV-A ZE B EEE 5 7 =g
AIR ROTARY VALVE
4~M8 2x4~RC1/4”
Screw hole Distributing port
JEEER papiniEY
T & | 2-M8x11
N 7
1| 77 5=
ol iz A A | 1e
5 8 NZ 8
IS e
i =
L 1 1 2(4)~RCL/4" g
i==p Pressure Port #&5fL
5 12‘ 37.5 25 18
125 I I
RBIRIEIE AR
Subject to technical changes
K17 #1& SPECIFICATIONS
gk oo BEEERESN \ =
o Max. pressure ‘ Weight
Model Distributing
MPa(kgf/cm?) ‘ kgs
RV-A31H 4@ (JFTE) 0.8(8) 4.8

2t RV-A T2 =% - (Note:RV-A can be custom-made.)

AUTOGRIP



A RJ-52 B30 88
SINGLE-PASSAGE ROTARY JOINT

o ERBEZNEN RERBEHKWMEARNE -

o SHUEHNRMK - Hﬁmﬁ%%ﬁ TRENEIMR . BRESERE NMER
- BBEE . SRTEK -

® Single-channel design for multi-medium transmission, compatible with both air
and coolant (water-based fluids).

® High-performance sealing system with wear- and corrosion-resistant sealing

materials ensures zero leakage under high-speed rotation.
® Compact construction for easy integration and installation.

ENERBR  B7EHE -
Do not operate the rotary joint without medium flowing through the passage.

216.65 g6

Z‘BO
[X]]
L

@8(0UT)
26
20 10|5] 15 M16x1.5 LH & 5F
RC1/4”(IN)
23
109
(REBIRIEIE AR Subject to technical changes
#1li#1& SPECIFICATIONS
g JEKPV IREIE ERPV IREIE ntHE EeEREIEY IKESEREBEN IRESERED E8(kg)
R (MPa-r/m.) (MPa-r/m.) (BEFAE2 7] 50 kgf/lcm?) (r.p-m.) MPa(kgf/cm?) MPa(kgf/cm?) =g
Coolant connection Air connection Delivery amount Max. speed Coolant connection Air connection
Model PV Limit value PV Limit value (at 50{( flcm?) (r. rf] ) Max. pressure Max. pressure Weight (kg)
(MPa-r/m.) (MPa-r/m.) g pm- MPa(kgf/cm?) MPa(kgf/cm?)
RJ-52 8000 3200 28l/min 3500 4.0(40) 0.8(8.0) 0.5

\/_\ /. Nt \
RJ-80 <A B E R
COOLANT ROTATING JOINT
SR - SENRALARLDEREE -
AEBLL K ERBES S RIEZMEARIY - MEFERSLE -
Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.

Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.

EXKEERREBN  BEE -
The joint should not run without liquid through coolant port.

M16x1.5 LH =5

9 (or 5/8-18UNF - LH)
g ©|8
Q
AENNI I = s
) - ° e
RC1/8"(Dr 1 ‘
Gl \<’>// “ i “ ‘ 19
45° T . 30 1 ‘12 5 15
28 21 65
122
IREBIRIEIE AT Subject to technical changes
Hli#1& SPECIFICATIONS
Rigk PVIE#IE MPa: r/m = EREN MPa(kgficm?) TTHE (EFREA 50 kgflem?) &&EREEH(p.m.) B2 (kg)
PV Limit value Max. pressure Delivery amount .
Mol MPa- r/m MPa(kgflcm?) (at 50 kgflcm?) e Gzt ) Weight (ko)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

Autocrip 100



M Ru-92  pPEmEmEBEANILKEOE RS s

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

IR ERER - BEEKI -

SEE  SEORLAREEERE -

WﬁBJJ:7J<ﬁ'§H§JﬂtﬁE/‘fﬁhJﬁﬁT"’rﬁPﬁE% M EEFEME R EE -
ERSNETEES - AlLKEBEERE - F1EKEAREZEMER

Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.

Seal bushing inside is made of cemented carbide and ceramics,which provide

higher wear-resistance.

- ® The seal will depart automatically if no liquid passes during,operation, and will not

be dmaged due to dry touching.

B/\RIENEE /] 4kgflcm? -

Min. pressure is 4kgf/cmz.

o

O

)

wn

v M16x1.5LHA S

—

S /' @8(0ut)
WQ— f
L VUo—— @

Ll [ | s
RC1/4(IN) 9 24.2 M 9185

==

@45
|
\
|
|
|
|

[&

98.5

IRERFRAZIE AR Subject to technical changes
AT #21% SPECIFICATIONS

o . EaEAES et <] R EREEY =/\RUEN B =

B ‘ PVIR#IE MPa: rfm MPa(kgflcm?) (G FBE A 50 kgflcm?) (rp.m.) MPa(kgficm?) B8 (k)

PV Limit value Max. pressure Delivery amount Min. pressure )
et ‘ MPa- /m MPa(kgflcm?) (at 50 kgficm?) Ik Slpize (i) MPa(kgflcm?) Weight (kg)
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

101 AuTtocrIP



BRI 8812 TR SEEENE
’ RJ -4EI RJ-5E Q%DRAUL% i;(t)TAERY JOINT ”

REAHE / 4BBR5HE / SBERGT - UIKFEKII RSB IDHEREE -
BRARKEEZRHESLOMEBES - BAFFEERTUSE  BRAFRUE -
BFEERATEAEHES -

® Available in 4-port / 4-channel and 5-port / 5-channel configurations, with
customizable multi-channel hydraulic options upon request.

® Designed for bidirectional hydraulic control such as clamping and unclamping,
ensuring precise and reliable operation to enhance productivity.

® Each channel adopts a balanced mechanical seal structure.

RIS BEMETENHS I RERERE -
The hydraulic circuit layout, number of passages, and mounting interface can all be
customized according to requirements.

Model:RJ-4E
4~PT1/4 #&387L 6~M6IRAR L
Pressure port Countersunk screws 7
(PT,P1,T1) —
(8o ‘ 36.5 13 22 13 D_ )
| ==
_ FH
i% | i A Ay |«
PIT =i N7 I\ =&
o & el v g
- - ™ 8 - - - o Y| .
L il | e a
1 =i 1 2NN V2N T
m | T /\\ /11 K/T L]
i@ = ”Fﬁh .
) Dr [ -
1~PT1/4 | QL S
JRHFL(Dr) 115 5
Oil drain port(Dr) 4~PT1/4 H3m7L
130 oil outlet hole
(A,B,A1,B1)
Model:RJ-5E
4~PT3/8 #57HFL _
Pressure port 6~MEIEARITIFL
(P1,P2,P3,P4,P5) Countersunk screws
b bl b bl - o - 5~P10
()95 40 1414 30 14 T
]/
_ J7
P3/r P%P AN @ . é < | =
—tHr— r ol <
P ;J7 - Y J . ’ 5| 3
- / o4l s
Pa\L : /P4 P2
M ﬁ: I I = I
> Dr ]
& 1~PT1/4 83 i
JmFL(Dr) 149
Oil drain port(Dr)
164
IREBIRIE(E AR Subject to technical changes
F2 i #5215 SPECIFICATIONS
Eidhr DIRE EoEEE(p.m) EaERAET (kgflcm?) EE (kg)
Model Distributing Max. speed (r.p.m.) Max. pressure (kgf/cm?) Weight (kg)
RJ-4E 4in/4 out 3500 35 45
RJ-5E 5in/5 out 3500 35 7.5

Autocrip 102



o0 BR[O BE g -
VAT

RHE2EBRHEEREHEE
REHRRBEEENE—AL ARHLEBLELHNELRER -
TREEFE N\ - BERIRE - AUEEER

Provides 2 independent channels for compressed air transmission.
Integrates multiple pneumatic lines into a single component, significantly simplifying
piping layout and saving installation space.

® Minimal rotational resistance ensures smooth and stable operation, effectively
saving energy.

EERRE  BEHEZENHEJKREREHE -

The pneumatic configuration, number of passages, and mounting interface can all
be customized according to requirements

6~M6IRARTTIFL
Countersunk screws

.
\
p.c.d. 16

p.c.d. 84
2100 h7

g I il il = |
5%1’_%%% =
Sliencer 15 30 ‘ 15 2~P7
103.5
2~PT1/4
HBRFL
Pressure Port
{REBRMEIE R Subject to technical changes
$1ii#81& SPECIFICATIONS
itk DRE ‘ ReEEE (r.p.m.) ‘ EaEHEN (kgflcm?) ‘ E2 (kg)
Model Distributing ‘ Max. speed (r.p.m.) ‘ Max. pressure (kgflcm?) ‘ Weight (kg)
RJ-A2E 2 3000 8 1.2

103 auTtoGrIP



- - 7o 5 R 230 3 SN K
’ RJ 22HAIRJ 41 HA C__?I(:)|</|B|ZEE:)I_7AIR AED;II-IYDRAULIC ROTARY JOINT

2 BEOHE + 2 IR BSRY 4 BEBRRET R4 BOHE + 1 BRAEH 5 BERE
XEENEGH  BRARSEBEMMIEX -

RHREAZRIES S ERARTHEMRR - JERBBERSINGE -
BRARKEESEN D ERNZHMMNTERE -

RASUMAEZIHER AR ILARIING - BRREBREEHE -

® Available Configurations: 4-Channel (2 Hydraulic + 2 Pneumatic) and 5-Channel (4
Hydraulic + 1 Pneumatic)

® Enables clamping and unclamping control; applicable to workpiece detection, tool
air-blow cleaning, and similar automation functions.

® |deal for rotary tables on mill-turn machines and multi-axis machining centers.
Features high-performance sealing technology to prevent leakage of oil, ensuring
long-term operational stability.

R CHERE  BEHETZENEHSIURBERERE  IXEBENE -
OERLELEBRES  RIEHIBEELZFREES Y -

Customizable Pneumatic and hydraulic configurations, number of passages, and
mounting interface and supports dual media

Optional integration with optical scales is available for enhanced precision and
system synchronization.

Model:RJ-22HA
6~MBIRAAITIFL
Countersunk screws

4~p8HTHTL
2-PT1/4 2~PT3/8 15 OB P10
L 3L,
Air port Pressure port \E
p1 < o= &
,e/\ Pra 5

h
[~
@55 h7
@155

[SRa D 7;

8/11  56.5 107/\35.5

(HESAMEE)

Air drain port (Dr; 154 30

PT1/43%:H7,
Oil drain port(Dr)

Model:RJ-41HA

11
4~PT1/4 5 4~g5H3H7Loil outlet hole
#&Hm¥L(A,B,C,D) 6~M6x20L ORYIE O-ring P7
Pressure port(A,B,C,D)
Dr T
R
i
I ot~ |~
o Ml o T| ~
i “l 38 %
al ol .
ﬁ T I
£33
[ ]
&L prf H
35.5 101010, 27 -
140 1~g5 & FL Center Vent Hole

BRRILCHEREMER) 2-PT1/4 37, ORUR O-ring P7
Air drain port (Dr) Oil drain port(Dr)

IREBIRIEIE AR Subject to technical changes

1T AR 1% SPECIFICATIONS

RIS Pawint i BeEEH(rp.m.) &= fEFE IMax. pressure MPa(kgf/cm?) B2 (kg)

Model Distributing Max. speed (r.p.m.) S /EPneumatic JHiE2Hydraulic Weight (kg)
RJ-22HA 2i+2 | 1000 8 60 105
RJ-41HA 4H+1 R 3000 8 50 2.95

Autocrip 104



A RJ-52HV

25 ) BR A 70 §5 % 5

BEENE

N
b

HYDRAULIC AND AIR ROTARY JOINT

o S + 2RE 7 BER  XBEZNEBE - BRAREREHREEZRSEES
§M’E .
° BITHBEDI R FBEOATE  #FEBABEE  IRWUZEEERE
}sﬁ .
o SWEBIERE MIEARRYEZR BAZRKUSHEANTEE -
o ZIERDPERIE  BRANZEMTISRESMINE -
® 5 Hydraulic + 2 Pneumatic Channel Design.
®  Supports multi-media transmission, ideal for simultaneous control of clamping and
unclamping operations.
® The fully sealed oil and air passage design ensures independent channels for stable
pressure, with the pneumatic section also supporting vacuum applications.
® High-performance sealing structure prevents cross-leakage between oil and air,
enhancing system reliability and machining accuracy.
®  Supports medium to low-speed rotation, suitable for multi-axis workstations and
compound machining centers.
TR HEERE BEHEZENEHSURERERE  oIxBENE -
UEHEGHERES  RAEGIBEHEARES M -
Customizable Pneumatic and hydraulic configurations, number of passages, and
mounting interface and supports dual media
Optional integration with optical scales is available for enhanced precision and
system synchronization.
6~MBIEHTL o
e port |36 122282 20 34/ 20 20 = S~oBtHHTL
(1,2,3,4,5) - oil outlet hole
) L = ORIR O-ring P9
T ﬁ/
£ 5 5| 3\ N gl 8| &
. . "7 1l [ LI AN B I | o
] N S TR
H—=D) = 4 5 {7 g 2~g8tH AL
airvent holes
Edd L OBYIR O-ring P4
2~PT1/8 [l
#BEIL6,7) Dr
“Airport 1135 1~PT3/83587,
Oil drain port(Dr)
205 20
225
IRBFEIELAHRET) Subject to technical changes
$ i #31& SPECIFICATIONS
Eith DRE BeEER(rp.m.) &= fE B SIMax. pressure (kgf/cm?) B2 (kg)
Model Distributing Max. speed (r.p.m.) =) S Weight (kg)
RJ-52HV 5H+2%& 1000 8 70 15.9

105 AutocrIP



A rRJ-52 BEE0HER "
SINGLE-PASSAGE ROTARY JOINT

o ERBEZNEN RERBEHKWMEARNE -

o SHUEHNRMK - Hﬁmﬁﬁ%%ﬁ TRENEIMR . BRESERE NMER
wEBEE SREER -

® Single-channel design for multi-medium transmission, compatible with both air
and coolant (water-based fluids).

® High-performance sealing system with wear- and corrosion-resistant sealing
materials ensures zero leakage under high-speed rotation.

® Compact construction for easy integration and installation.

ENERBR  B7EHE -
Do not operate the rotary joint without medium flowing through the passage.

0
(=]
8
1
' (S
| | Sl e 7N
HIR 5 e - | -
' S N
@8(0UT)
26
20 10|5] 15 M16x1.5 LH & 5F
RC1/4”(IN)
23
109
(REBIRIEIE AR Subject to technical changes
#1li#1& SPECIFICATIONS
g JEKPV IREIE ERPV IREIE ntHE EeEREIEY IKESEREBEN IRESERED E8(kg)
R (MPa-r/m.) (MPa-r/m.) (BEFAE2 7] 50 kgf/lcm?) (r.p-m.) MPa(kgf/cm?) MPa(kgf/cm?) =g
Coolant connection Air connection Delivery amount Max. speed Coolant connection Air connection
Model PV Limit value PV Limit value (at 50{( flcm?) (r. rf] ) Max. pressure Max. pressure Weight (kg)
(MPa-r/m.) (MPa-r/m.) g pm- MPa(kgf/cm?) MPa(kgf/cm?)
RJ-52 8000 3200 28l/min 3500 4.0(40) 0.8(8.0) 0.5
EiEE

\/_\ /. Nt \
RJ-80 <A B E R
COOLANT ROTATING JOINT
SR - SENRALARLDEREE -
AEBLL K ERBES S RIEZMEARIY - MEFERSLE -
Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.

Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.

EXKEERREBN  BEE -
The joint should not run without liquid through coolant port.

M16x1.5 LH =5

9 (or 5/8-18UNF - LH)
/ g ©|8 o
S 2]
-, N
@ENN g © 5
SN = e :
rowen G| A i s
[
45° T LA 30 1 ! 12 |5 15 ?;
28 21 65 &
122 i
IREBIRIEIE AT Subject to technical changes
Hli#1& SPECIFICATIONS
Rigk PVIE#IE MPa: r/m = EREN MPa(kgficm?) TTHE (EFREA 50 kgflem?) &&EREEH(p.m.) B2 (kg)
PV Limit value Max. pressure Delivery amount .
Mol MPa- r/m MPa(kgflcm?) (at 50 kgflcm?) e Gzt ) Weight (ko)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

autocrip 100



M Ru-92  pPEmEmEBEANILKEOE RS s

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

IR ERER - BEEKI -

SEE  SEORLAREEERE -

WﬁBJJ:7J<ﬁ'§H§JﬂtﬁE/‘fﬁhJﬁﬁT"’rﬁPﬁE% M EEFEME R EE -
ERSNETEES - AlLKEBEERE - F1EKEAREZEMER

Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.

Seal bushing inside is made of cemented carbide and ceramics,which provide

higher wear-resistance.

- ® The seal will depart automatically if no liquid passes during,operation, and will not

be dmaged due to dry touching.

B/\RIENEE /] 4kgflcm? -

Min. pressure is 4kgf/cmz.

o

O

)

wn

v M16x1.5LHA S

—

S /' @8(0ut)
WQ— f
L VUo—— @

(AR I s
RC1/4(IN) 9 24.2 M 9185

==

@45
|
\
|
|
|
|

[&

98.5

IRERFRAZIE AR Subject to technical changes
AT #21% SPECIFICATIONS

o . EaEAES et <] R EREEY =/\RUEN B =

B ‘ PVIR#IE MPa: rfm MPa(kgflcm?) (G FBE A 50 kgflcm?) (rp.m.) MPa(kgficm?) B8 (k)

PV Limit value Max. pressure Delivery amount Min. pressure )
et ‘ MPa- /m MPa(kgflcm?) (at 50 kgficm?) Ik Slpize (i) MPa(kgflcm?) Weight (kg)
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

101 autocriP



A RJ-4E[RJ-5E

H BR 2l B 13 B
HYDRAULIC ROTARY JOINT

S 332 oo =

ZEBENE

REAME / 4BBKRS5MHE / SBERET - Uik

<RI RSB IOHERE -

BRARKEERFASLOMEBES - BAFFHEERCSE  BRAFRUE -

SRERATEHAMMEL -

Available in 4-port / 4-channel and 5-port / 5-channel configurations, with
customizable multi-channel hydraulic options upon request.

Designed for bidirectional hydraulic control such as clamping and unclamping,
ensuring precise and reliable operation to enhance productivity.

Each channel adopts a balanced mechanical seal structure.

MBS  BEHELENTASIRERERE -
The hydraulic circuit layout, number of passages, and mounting interface can all be

customized according to requirements.

Model:RJ-4E

4~PT1/4 #57H7L

6~MGIRARITIFL

Pressure port Countersunk screws 7
(PT,P1,T1) e
[ 80 36.5 13 22 13 )
=
==
P1 P _|
/2NN J#NY T | <
N Ll <=2 o
g - 23 &
| 8
2 W 7S\ T .
Y Yy iINE
Ll
T
Dr [
1~PTL/4 1 =
AL (0N 115 2
Oil drain port(Dr) | 4~PT1/4 H3HFL
130 oil outlet hole
(A,B,AL,B1)
Model:RJ-5E
4~PT3/8 #&3HFL a
Pressure port . 6~t|\/|6!’%l,(%§\7)ﬂl,
ountersunk screws
(Pl’PZ,P3,P4,P5) —_— 47 5~P10
195 40 1414 30 14 T
7
L
P3 P1 PS5 | ,~P3 —P1 <l ~
i S e & 1R
_ L2 _ _ _ | TS
(a2} Py 3 i g g
DY f | o
P4 P2 ki,/p4 4@9p2 %
\*: :ﬁ =
> Dr, -
& 1~PT1/4 &3 |
5EEE¥L(DF) 149
Oil drain port(Dr)
164

IREBIRIE(E AR Subject to technical changes

¥ 1ii#31E SPECIFICATIONS

RS DIRE EoaEE (rp.m.) & ERAES (kgficm?) B2 (kg)

Model Distributing Max. speed (r.p.m.) Max. pressure (kgf/cm?) Weight (kg)
RJ-4E 4in/4 out 3500 35 4.5
RJ-5E 5in/5 out 3500 85 7.5

Autocrip 102

if &> 3B =

AL




o0 BR[O BE g -
VAT

RHE2EBRHEEREHEE
REHRRBEEENE—AL ARHLEBLELHNELRER -
TREEFE N\ - BERIRE - AUEEER

Provides 2 independent channels for compressed air transmission.
Integrates multiple pneumatic lines into a single component, significantly simplifying
piping layout and saving installation space.

® Minimal rotational resistance ensures smooth and stable operation, effectively
saving energy.

EERRE  BEHEZENHEJKREREHE -

The pneumatic configuration, number of passages, and mounting interface can all
be customized according to requirements

6~M6IRARTTIFL
Countersunk screws

.
\
p.c.d. 16

p.c.d. 84
2100 h7

g I il il = |
5%1’_%%% =
Sliencer 15 30 ‘ 15 2~P7
103.5
2~PT1/4
HBRFL
Pressure Port
{REBRMEIE R Subject to technical changes
$1ii#81& SPECIFICATIONS
itk DRE ‘ ReEEE (r.p.m.) ‘ EaEHEN (kgflcm?) ‘ E2 (kg)
Model Distributing ‘ Max. speed (r.p.m.) ‘ Max. pressure (kgflcm?) ‘ Weight (kg)
RJ-A2E 2 3000 8 1.2

103 autocriP



- - 7o 5 R 230 3 SN K
’ RJ 22HAIRJ 41 HA C__?I(:)|</|B|ZEE:)I_7AIR AED;II-IYDRAULIC ROTARY JOINT

2 BEOHE + 2 IR BSRY 4 BEBRRET R4 BOHE + 1 BRAEH 5 BERE
XEENEGH  BRARSEBEMMIEX -

RHREAZRIES S ERARTHEMRR - JERBBERSINGE -
BRARKEESEN D ERNZHMMNTERE -

RASUMAEZIHER AR ILARIING - BRREBREEHE -

® Available Configurations: 4-Channel (2 Hydraulic + 2 Pneumatic) and 5-Channel (4
Hydraulic + 1 Pneumatic)

® Enables clamping and unclamping control; applicable to workpiece detection, tool
air-blow cleaning, and similar automation functions.

® |deal for rotary tables on mill-turn machines and multi-axis machining centers.
Features high-performance sealing technology to prevent leakage of oil, ensuring
long-term operational stability.

R CHERE  BEHETZENEHSIURBERERE  IXEBENE -
OERLELEBRES  RIEHIBEELZFREES Y -

Customizable Pneumatic and hydraulic configurations, number of passages, and
mounting interface and supports dual media

Optional integration with optical scales is available for enhanced precision and
system synchronization.

Model:RJ-22HA
6~MBIRARITIFL

Countersunk screws 472'8&"593?[‘
/ oil outlet hole
2~PT1/4 OZYE O-ring P10
N ~ 15 g
2L L
Air port Pressure port \E
P1 % o= \(
\ a4
5 b | &

h

[~
@55 h7
@155

[SRa D 7;

8/11  56.5 107/\35.5

(HERAMEE)
Air drain port (Dr;

154 30

PT1/43%:7,
Oil drain port(Dr)

Model:RJ-41HA

11 N
4~g5HHTL
4-PT1/4 5 oil outlet hole
PT 1/4 #REFL(A,B,C,D) 6~M6x20L ORIIE O-ring P7
= Pressure port(A,B,C,D) |
Air port D> 2
¥ [ I
I Il
i ot - B
N
S r o @f 4
> DT NS .
S M| x| T ~ @
i _ _ ©T| ©T| 2 S
- gl dl S = [
ol al . =3
4 £y | ey - Ay
2 I ESEGAS = %
L it N =
g@ Dr, H
355 1010110 27 | -
140 1~e5FM R TL

BRIAL(E TR 2-PT1/4 #3870 Center Vent Hole
Air drain port (Dr) Oil drain port(Dr) OBLIR O-ring P7

IREBIRIEIE AR Subject to technical changes

1T AR 1% SPECIFICATIONS

RIS Pawint i BeEEH(rp.m.) &= fEFE IMax. pressure MPa(kgf/cm?) B2 (kg)

Model Distributing Max. speed (r.p.m.) S /EPneumatic JHiE2Hydraulic Weight (kg)
RJ-22HA 2i+2 | 1000 8 60 105
RJ-41HA 4H+1 R 3000 8 50 2.95

autocrip 104



BEENE

W

ZE5H JBR :}
’ RJ - 52HV HYDI?EA{:LIC /ZNDEA?RKREETARY JOINT

o SHIE + 2RE 7 BERE  XEZNEEH  BRRERENRZEZFEE

LN
o EEINIHEIIRNG  [BEBELHATE #EENRE IRV IEEZE
A -

BUBHERE  MIDARRXN SR  BARAUEHENTIEE -

SEPRERE  BRARSHMIEAESMIE -

5 Hydraulic + 2 Pneumatic Channel Design.

Supports multi-media transmission, ideal for simultaneous control of clamping and

unclamping operations.

® The fully sealed oil and air passage design ensures independent channels for
stable pressure, with the pneumatic section also supporting vacuum applications.

® High-performance sealing structure prevents cross-leakage between oil and air,
enhancing system reliability and machining accuracy.

®  Supports medium to low-speed rotation, suitable for multi-axis workstations and

compound machining centers.

TR HEERE BEHEZENEHSURERERE  oIxBENE -
UEHEGHERES  RAEGIBEHEARES M -

Customizable Pneumatic and hydraulic configurations, number of passages, and
mounting interface and supports dual media

Optional integration with optical scales is available for enhanced precision and
system synchronization.

&AL S
GiEMT, C )
105 108 Méﬁ%&fﬁ?\oﬁgs ountersunk screws . 1\6//
5-PT3/8 361 122282 20_ |34/ 20_ 20 =
4AIHTL(1,2,3,4,5) s [ 5~o8H L
4 Y bu ] oil outlet hole
! &) OZYR O-ring P9
/
B Hi R {?}6 5 A2 12 g 2 8. r_s
- 77727\\ ™ T T o 4 2 3 5
g o
H—5) ﬁ}7 2 5 Y { al g =
B ) 2~o8HFFL
o — |_air vent holes
42&:%'—?1[,/(2 7 i I\‘Dr ORR O-ring P4
- 113.5 1~PT3/88HFL
Oil drain port(Dr)
205 20
225
TREBIRABIE AR Subject to technical changes
o $ i #31& SPECIFICATIONS
pE|
i RS Papiis < EeEEH(p.m.) &= 5 FE SIMax. pressure (kgflcm?) 8 (kg)
VAN
i Model Distributing Max. speed (r.p.m.) =) S Weight (kg)
I
RJ-52HV 5HM+2& 1000 8 70 15.9

7
a
]
&
2

105 autocrip



rth Ex S, 720 S Al
SR JHERARICEE 1ZaeR
SELF-CENTERING STEADY RESTS
o ATBNESELE -
o HPEATLERIRE -
o hIEEF-HBNE/ B/ B+ ER
o NEFIFEBEHEEE -
o EHMZERFIKEUIBRE  MIPUBASEALRER -
o HIEBERE -
® High Clamping Force and High Concentricity.
® Enclosed Main Body Design.
® Central Lubrication: Grease/Qil/Oil + Air.
®  Built-in Check Valve Locking Mechanism.
® Compressed Air Waterproof and Chip-Resistant Design: Prevents
chips from entering the main body during machining.
®  Chip Guarding Device.
A
®"J
m
Gl ° e
Compressed Air Port
EERIRATER M1 1
h T —
\: @/ @ -
BV —alule L
y =B, ©—0 =
@gi
R SERfED]
@ n‘,” Unclamping Port ©
C ~ N mrmnoys
}@ @ <> 3 m
T
E G
B C
Undamﬁﬁ?fo?t ﬁi’iﬁé%ﬁiﬁilamping Port
M SR-02AG1/4
BEEEO SR-03 G1/4
= N Clamping Port SR-04 G3/8
ERERED
— Compressed Air Port
[ 292 SR-02AG1/8
@@@ SR-03 G1/8
3 SR04 Gl/4
RIS IERIONER &;@ B aiEn
Subject to technical changes SR-02A M10 Compressed Air Port
BTG SPECIFICATIONS
BSR TEEREE CthangTIDia BARE] | BREAKREE SAFERERESN EOEE EERIBE REFEE B8
: =R &\ Max. clamping = Max. roller sur- Clamping Repeat clamping B
Model SB[ Max. Min. force face speed NG RIS accuracy accuracy weight Ul
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SR-02A 19.6 102 8 4.59(468) 900 30 0.02 0.005 459 19
SR-03 38.5 152 12 10.2(1040) 750 60 0.02 0.005 1000 39
SR-04 63.5 245 30 15(1529) 760 75 0.05 0.007 1500 98
SMUR~F DIMENSIONS
Model A B (5 D E F G (6]
SR-02A 279 197 82 205 170 85 70 70
SR-03 427 307 120 290 262 135 95 115
SR-04 603 448 155 405 365 240 110 146
L M
Model K (Width of rollers) | (Diameter of rollers) P P1 P2 S| T Y
(RIWEE) (RRER)
SR-02A 35 19 35 102 51 51 14 68 54
SR-03 45 25 47 130 5 75 18 93 89
SR-04 60 25 52 150 75 75 23 105 128

Autocrip 106



A srr

SELF-CENTERING STEADY RESTS

-
E

i

SHEEC 22
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]

B .
S et

oiEtE - BRCERER -

s

WRK/ R EE(ER) - 2 AIINEE -

& : 12-245mm

Precision Type.

Sealed body design for low maintenance.
Programmabile, suitable for automated assembly lines.
Equipped with water/air sprays for debris, coolant-proof, and chip-proof.

Range: 12-245mm.

A
(] BE=REn
HIRBARATRETL Compressed Air Port
Proximity switch
mounting hole
—
o
w (]
o~
O &
&
8O GL/8
Lubrication Port
T
G
B C
RO
Unclamping Port FEEO, REEO
Clamping Port,Unclamping Port
M B ot SRR-03 G1/4
T ) SRR-04 G3/8
x _1[ 1
— @ ERERED
R SR -} Compressed Air Port
@ SRR-03 G1/8
M12847, EEERED SRR-04 G1/4
JEP— M12 lifting hole Compressed Air Port
Subject to technical changes
BTG SPECIFICATIONS
’e . S ES - m o | E . _ ~ ~
BgR TEEEA Chucking Dia BRAKFT RBEARERE EXEREN EOEE BEERE KHES 58
Eff. piston area B®K B/ Max. clamping = Max. roller sur- Vv, (RS Clamping Repeat clamping Weight
Model P Max. Min. force face speed -P accuracy accuracy weight 9
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SRR-03 38.5 152 12 10.2(1040) 750 65 0.04 0.007 1000 39
SRR-04 63.5 245 30 15(1529) 760 60 0.05 0.007 1500 98
4MYR~F DIMENSIONS
Model A B @ D E F G (e}
SRR-03 427 307 120 290 262 135 95 115
SRR-04 603 448 155 405 365 240 110 146
L M
Model K (Width of rollers) | (Diameter of rollers) P P1 P2 S T \Y
(RHRERE) (RRER)
SRR-03 45 25 47 130 65 65 18 93 89
SRR-04 60 25 52 150 75 75 23 105 128

107 autocrip



THERHRICER A SRR

SELF-CENTERING STEADY RESTS

SHELRIE P OZR -

KEER BT - (RAEE -
wIEK/mBEE (BE) - LA -
R~/ #88% -

& : 12-245mm -

Side-Mounted Hydraulic Cylinder Steady Rest.

Fully Sealed Body, Low Maintenance.

Optional Water/Air Jet for Chip Removal and Cooling Functionality.
Compact Size and Structure.

Range: 12-245 mm.

A
(1)("
e 0 N
+ / /_H Egﬁiﬁ@?wﬁzk mounting hole
i / i L@EEH/’ M12°1 E—
]
* * =~ a
,,,,,, ﬁ%@_, IS U A P S B A T Y W |
Vb
N I
A * @ ©
@ " B aiEn
o ~ | Compressed Air Port
+ \7’( é'/é‘ IR0 G1/8
{}@ @ (I Y Lubrication Port
v ‘7 T
6] F
B C G
FEEO
Clamﬁz%oa Unclamping Port
é g RO, FBEEO
Clamping Port,Unclamping Port
- SRB-03 G1/4
SRB-04 G3/8
M B miED
Compressed Air Port
° SRB-03 G1/8
x| o : SRB-04 G1/4
k:d = Bl 2
M12FEE7, i
widtitnghoe] o dAirPort
RERRIELHIETR)
Subject to technical changes
F#R1& SPECIFICATIONS
. TEFER . , .
it EEMETE Chucking Dia BARE] | RREAREE SAERAEN EOEE BEBE REFES B8
) RK =2 Max. clamping = Max. roller sur- Clamping Repeat clamping )
Model SRR Max. Min. force face speed Y [l accuracy accuracy weight g
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SRB-03 38.5 152 12 10(1019) 850 55 0.04 0.007 1000 44
SRB-04 63.5 245 30 15(1529) 750 75 0.05 0.007 1500 115
4MYRST DIMENSIONS
Model A B © D E F G (¢]
SRB-03 352 307 45 290 262 135 204.5 115
SRB-04 480 448 32 405 365 240 245 146
L M
Model K (Width of rollers) (Diameter of rollers) P P1 P2 S T \Y
(RHEE) (BHWETR)
SRB-03 45 25 47 130 65 65 18 95 89
SRB-04 60 25 52 150 75 75 23 110 128

Autocrip 108



T T RRRI 23
’ GFS-IOO GRIP_{DING FORCﬁI;ESENSOR

EESF 5.0 BEIRE  MARWNES 5.0 1Kili - BEBRGEENIEEY -

Type-C ZEER : 1 Type-C ®E - FEREBMEE -

SHEEEE  REERNEMFE  BEELEIEFEIOSSHE -

X & Andr0|d iOS : |mMEANZ Android 22 i0S %4t - GFS-100 &8

BEZITERD - ECBAARE

. TPEE% 2 JTBE 3 TURTE : IRBAREBEFEKR - GFS-100 o UKEZRER 2 /I
5 3 TURIE - IRIEEARREM -

o AR FE—RKIFNENEE (GFS-100) 55 _ A FF 1 ECRIZE (GFS-100)
APP REEHA -

o i0S %% : Apple iOS 16.1.2 hk &Ll £ - Android Z#5 : Android 12 fRAE

BLE -

® Stable Bluetooth 5.0 Transmission: Equipped with the latest Bluetooth 5.0
technology, ensuring stability in wireless connections.

® Convenient Type-C Charging: Supports Type-C charging for added convenience
in recharging.

® High-Performance Lithium Battery: Provides a longer-lasting battery life,
eliminating concerns about power during work.

®  Supports Android and iOS: Whether you use Android or iOS systems, the GFS-
100 is perfectly compatible, offering a seamless experience.

® Configurable for 2-Jaw or 3-Jaw Operation: Based on your specific needs, the
GFS-100 can easily be configured for either 2-jaw or 3-jaw operation, providing
greater flexibility.

® Note: The first-generation gripping force sensor (GFS-100) and the second-
generation gripping force sensor (GFS-100) APP are not compatible and cannot
be used interchangeably.

® |OS System: Apple iOS 16.1.2,Android System: Android version 12.

aG

I @A - 52858 Short
g 4o N B 8 @B - FRIZE Middle
i @C - EIFE Long
BRIEE
Testing heads
E
F
RBIRAZIEHBIEF Subject to technical changes
BHiRR1& SPECIFICATIONS
BER RAKF(EM) R ER T EE HERRRE
Max. Load (1-jaw) Max. Speed Gripping range
Model Accuracy
(kN) (rp-m.) (mm)
GFS-100 100 6000 70,84 ,104 + 2%
ShEYR < DIMENSIONS
Model A B © D E F G H
GFS-100 70 84 104 63 54 57 20 68

109 autocriP



SJ REEN(—)

STANDARD SOFT BLANK JAW

|
1. RN/ R\ W -
T T 1
| |
2 |
S-1
S-6 S-7 S-8 S2
|
pa S0 ; i z
(%)) T
2 L] ‘ e
| i I J | | EE
o
T T Serration V‘-‘—: =
S-9 - Breaen e sS4 H
9I\§I:JETJ DIMENSIONS IREBIRIEIE AR Subject to technical changes
ESkr HrEagngE bl R —mMEE8
S-1 |S-2|S3| S4 |S5|S-6|S-7| S8 |S-9(S-10(S-11 | S-12 |S-13 i . . 3 Jaw Weight
MODEL Serration Pitch Matching Chuck -
SJ-04 52 23 23 10 5 10 14 28 9 14 13 M8 3 1.5x60° 3H-204, 3P-04 0.5
SJ-05 62 25 30 10 5 10 14 38 9 14 20 M8 35 1.5%60° 3H-205, 3L-205, 3P-05, 3M-05 0.8
SJ-06 73 31 36 12 5 15 20 38 11 17 24 M10 14 1.5x60° 3H-206, 3L-206, 3P-06, 3M-06 1.5
SJ-08 95 35 37 14 5 24 25 46 13 19 22 M12 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 2.4
SJ-10 110 40 42 16 5 30 30 50 13 19 27 M12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 3.7

a . 3H-12, 3H-212, 3L-212,

SJ12H 130 50 50 21 5 40 30 60 17 25 30 Mi16 23 1.5x60 3V-12, 3P-12, 3M-12 6.3
3H-12, 3H-212, 3L-212,
3V-12, 3P-12, 3M-12
3H-15, 3H-215, 3H-18, 3L-15,
SJ15H 165 62 62 22 8 37 43 8 21 32 37 M20 - 1.5x60° 3P-215, 3P-218, 3V-15, 3V-18 12.6
3H-15, 3H-215, 3H-18, 3L-15,
3P-215, 3P-218, 3V-15, 3V-18
3H-221, 3H-224, 3H-232,

21 180 64 70 25 9 40 60 80 21 32 45 M2 - 30x60° TS Tl avap 158

SJ12P 130 50 50 18 5 40 30 60 16 23 30 M14 23 1.5x60° 6.5

*8J-16P 165 62 62 255 6 37 43 85 21 32 37 M20 - 1.5x60° 12.5

* SJ-12H 73 12" JREAH BEFC# - (12"Chucks are originally equipped with SJ-12H.)
* SJ-15P % 15" ZKEEH MIAC & - (15"Chucks are originally equipped with SJ-15P.)

3U FKGE 7 #Z 3 45 [T STANDARD SOFT JAW FOR 3U CHUCK
E L

—_— f
ceh | o] T
G

el IR 5

G < N 1

[m]
o H Q K
— A
for 3U-203
MBI <F DIMENSIONS IR AU EMAMF] Subject to technical changes
itk
A B € D E F @ H J K L
MODEL

3U-203 55 11 9.5 66 12 C3 7 3 26 7 15
3U-204 6.6 11 11 84 17 C4 11 3 32 9.5 20
3U-205 9 135 14 108 20 Cc4 12 3 41.5 13 24
3U-206 11 15 17 129 30 C6 20 3 50 17 30
3U-208 13 17 20 156 34 C6 22 3 63 20.5 35
3U-210 15 20 22 187 39 C6 24 4 74 23 40
3U-212 15 18 22 234 44 C6 29 4 72 23 40

autocrip 110



SJ ZEEN ()
STANDARD SOFT BLANK JAW

2D/3D MR EE ZIEAES T\ Standard Soft Jaw for 2D/3D chuck

- — ?\L}“\T__
B

=

D

1

r_l?_j
LB e T ;
kol B RIE

|
& o] e My

—H

for 04"~06" for 08”~15"
B i) changes
ShEYR~) DIMENSIONS
B3 | | | |

v A B ‘ c ‘ D E F G H ‘ J ‘ K L M N
3D-04 22 13 25 52 17.5 1 19 8 19 - 25 8 5.5
3D-05 27 15 \ 25 \ 56 20 13 23 8 \ 23 - 30 8 5.5
3D-06 34 21 3 70 23 15.5 27 10 27 - 35 10 6
3D-08 445 29 \ 35 \ 84 19 13 31 12 \ 18 26 40 16 7
3D-10 495 32 35 100 22 15 38 15 22 32 50 18 7
3D-12 54.5 36 \ 35 \ 120 26 18 42 17 \ 24 36 60 20 7
3D-15 65 40 5 165 26 18 60 20 40 40 70 24 10

3E KgE Z1ZEXEAS T Standard Soft Jaw for 3E chuck

_ ]
{FJ‘:JJ ::|{//}I;Iilzj O+4__1 o T
L ER 4| LU |t M x
. eC 03 g E;W:
E |
1A AR 1RHEL TBEY
RBRABIE T TYPE A TYPE B
Subject to technical changes
ShEYR~) DIMENSIONS
) A B ‘ © ‘ D E F G H d K ‘ L ‘ L1
MODEL \ \ \ \
AE05 AR 20 11 6.6 16.5 10 c5 25 22 29 345 39
BH 20 11 \ 6.6 \ 15 255 c5 25 30 29 425 \ 39 \ 69
E.06 AR 23 1 7 19 13 c5 31 275 44 46 54
BA 23 11 \ 6.6 \ 18 36 c5 31 37.5 44 56 \ 54 \ 92
3E.08 AR 30 14 9 25 15 cé 35 36 50 56 62
B A 30 14 \ 9 \ 24 41 Cé 35 56 50 76 \ 62 \ 112
AE10 AR 35 17.5 1 26.5 17.5 c5 40 40 60 64.5 70
BH 35 17.5 \ 1 \ 26 475 c5 40 715 60 96 \ 70 \ 129

1M auTtoGrIP



SJ BEEM (=)
STANDARD SOFT BLANK JAW

3R R BE ZIZX#EA T Standard Soft Jaw for 3R chuck

&FEF= A

REBRBE LR

Subject to technical changes

ShEY R <F DIMENSIONS

8 | e | | o |
B Cc D ‘ E ‘ F G H J K L M N P ‘ Q ‘ R S| T

MODEL
3R-08 29.5 13 35 82 20 14 27 12 55 30 5 14 26 90 2 40 16 7
3R-10 30.5 15 3.5 102 ‘ 23 ‘ 16 37 15 65 30 7 21 32 90 ‘ 2 ‘ 40 18 7

3W g ZZ X4 Standard Soft Jaw for 3W chuck

+
© ©
e
M N TAJ N
D D
2E, L oE L
| | | T |
| ! | ‘ ‘
<o J ‘ ‘ <m QJ ! |
F F
i | ) L |
! — ot N b — 1 o 1]
o o P #) o oLH £l
FE A AR 1% 4 T B
TYPE A TYPE B

IREBHIBIEUAIMEF]  Subject to technical changes

ShEYR < DIMENSIONS

me | |« ]
A B c D E F G H J K L M N P Q R s
MODEL \ \ \
AR 60 44 3.5 80 20 13 35 1268 30 120 57 16 38 7.94 7 - -
3W-08
BE 60 48 3.5 ‘ 80 17 11 35 1268 30 ‘ 120 517 19 32 7.94 7 125 32
AR 64 49.5 35 100 20 13 40 | 19.03 30 120 70 178 444 127 7 - -
3W-10
BE 64 50 35 ‘ 100 17 11 40 | 19.03 30 ‘ 120 70 22 36 12.7 7 17 36
AR 64 49.5 3.5 100 20 13 40 | 19.03 30 120 70 178 444 127 7 - -

3W-12
B R 64 50 3.5 ‘

100 17 11 40 | 19.03 30 ‘ 120 70 22 36 12.7 7 17 36

3w RFIERTIATHEECIREM, RETHREERRENAR, STREE,

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

AuTocrip 112



TAEF
’ SJ iTA%DARJI_Dr\S(()E B)LANK JAW

3MF BB Z1ZXE4 T\ Standard Soft Jaw for 3MF chuck

| K J
D
JE M
T |
m aF i
< 1 R
[ 1 LL [ | I
© LN N
G
REBIRIEIERARR
Subject to technical changes
9NEIR~F DIMENSIONS
B | | | | =MEE (ko)
A B D E F H K L M N P o N
MODEL ‘ € ‘ ‘ € ‘ d ‘ 3 Jaw Weight
3MF-20 ‘ 70 48 6 ‘ 160 25 17 80 19.03‘ 76.2 41.9 M16 ‘ 50 12.7 11.5 10.4
o oh
AP g8 71224 T Standard Soft Jaw for AP chuck
| 51 |
S6 ST . S-8
] | —
5 . il
| & R
w I |
I 1
P T ol | 1]
ool A——
[ S-9 Serration S-4
s-12 A BrEEngE
REBPRBIERDER)
Subject to technical changes
ShEUR~F DIMENSIONS
B3 Ptk EFREE =NEE (kg)
S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S-9 S-10 S-11 | S-12
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-185 165 62 62 255 9 37 43 85 21 32 38 M20 3.0x60° AP-145, AP-185 12.2
SJ-275 180 64 70 255 9 40 60 80 21 32 45  M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 75 80 30 9 40 60 110 26 38 55 M24 3.0x60° AP-320, AP-375 24.7

113 autocriP



HJ EERE (—)

STANDARD HARDENED JAW

H-13

~ Serration
H-12 AN

(RIS ERRET Fid. 1

Subject to technical changes

H7 | H7
H-1
o Hé6 _HB8 H-2
i |

| z
ol F Aol | | pilioig . Bff
T r ] ‘ T 14:
\ [1] £l
H
i

SMEUR ) DIMENSIONS
By | | | S BRTH =nEE 2zHE

3 Jaw
‘H-l H-2 H-3  H-4 H-5 H-6 H-7 ‘ H-8 | H-9 H-10 H-ll‘H-lZ H-13 | gerration Weight Reference

MODEL Matching Chuck

‘ ‘ ‘ Pitch kg Drawing
HJ05 542 23 28 10 4 311 14 231 85 135 10 M8 3.6 1.5x60° 3H-204,3H-205 1 Fig.2
HJ06 676 31 36 12 5 402 20 274 11 17 12 M10 9.3 1.5x60° 3H-206, 3P-06 1.7 Fig.2
HJ-08 861 35 51 14 5 335 25 184 13 19 12 M12 14 15x60° 3H-208, 3P-08 2 Fig.1
HJ-10 100 40 54 16 5 395 30 225 13 19 13 M12 15 1.5x60° 3H-210, 3P-10 3 Fig.1
*HJ-12H 1002 50 52 21 5 647 30 355 17 25 17 M16 315 1.5x60° 3333?323?;2 35  Fig2
*HJ-12P 1002 50 52 18 5 647 30 355 15 23 17 M14 315 15x60° o 123H-212 3L-212, 3.6 Fig.2

3V-12,3P-12, 3M-12
L . 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-15H 1407 62 86 22 8 625 43 34 21 32 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1

3H-15, 3H-215, 3H-18, 3L-15

*| = o .
HJ-15P 1407 62 86 255 6 625 43 34 21 32 20 M20 43 1.5x60 3V-15, 3V.18.3P.215, 3P-218 9.5 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1535 80 90 25 9 103.7 50 49.8 21 32 40 M20 56.5 3.0x60° 3P-221,3P-224, 3V-21, 14.3 Fig.2
3V-24, 3V-32
* HJ-12H ~ HJ-12P ~ HJ-15H « HJ-15P £ FRIAER H-4 R~ -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
ih 3
3MF 1R AERE T\
STANDARD HARDEN JAW FOR 3MF CHUCK
LA g .
A2
H-7 H-7
H-1
H-6 H-8 H-2
|
i i
—
+ H{10 1
I =
® ‘ I I
T ‘ g
3 2 19 ;
T T ‘ i
—— ) ===
H-15 H-9 H-4
H-12 :H
IREBIRIEIE AR Subject to technical changes
ShE R <F DIMENSIONS
g | | EEKE = CMEEkg

H-1 H-2 H-3 H-4 H-5 H-6 H-7 H-8 ‘ H-9 H-10 ‘ H-11 = H-12 | H-13  H-14 H-15
Model

3MF-20 135 50 76 127 9 70 381 65 17 26 40 Ml6 @ 40 32 19.03 3MF-20 6.7

Matching Chuck 3 Jaw Weight

AuTocrip 114



R ()

STANDARD HARDENED JAW

Y &N

AP 1ZZEf& 1L STANDARD HARDEN JAW FOR AP CHUCK

K}%

Clamping range H-7 | H-7

H-2

7\7;7\7

(]

=HEE | 10| 9

7\77}7 I I

L]

]

- H-4
g
IREBIREIECLHI#ER Subject to technical changes
4R <) DIMENSIONS
RIS bzl 10 ERANTR =NEE kg
H-1 | H2 H3 H4 HS5 H6 H7 Al $
Model Serration Pitch Matching Chuck 3 Jaw Weight kg

HJ-145 191 | 55 73 255 9 92 38 30-125 420 3.0x60° AP-145 12.5
HJ-145 191 | 55 73 [255| 9 92 38 35-165 460 3.0x60° AP-185 12.5
HJ-145 191 | 55 73 255 9 92 38 55-240 535 3.0x60° AP-230 12.5
HJ-145 191 | 55 73 [255| 9 92 38 100-285 580 3.0x60° AP-275 12.5
HJ-320 243 75 82 30 9 110 50 105-300 658 3.0x60° AP-320 24.6
HJ-320 243 75 82 30 9 110 50 165-375 738 3.0x60° AP-375 24.6

115 autocrip




A T-NUT

T fZ4RNE

T-NUT

@,

A A

aT1 T4
L] =
NS= A% -
@715 T2
m
ot i st changes
MR ~F DIMENSIONS
g
T1 T2 T3 T4
Model
TN1-04 26 14 15 10
TN1-06 36 17 185 12
TN1-08 4655 20 205 14
TN1-10 51 22 215 16
*TN1-12 555 295 28 21
TN2-12 555 295 28 21
*TN1-15 80 35 395 255
TN2-15 80 35 395 255
*TN1-212 56 295 235 21
TN2-212 56 295 235 21
*TN1-215 80 35 34 255
TN2-215 80 35 34 255
TN3-21 46 375 45 25
TN4-221 45 36 38 25
TN5-185 32 35 30 255
TN5-320 36 42 39 30

45° 457
1D - Drg - -2
21 N2-T8
— 15 |16 T4
T5_|T6 T10 | &
T4 =
T [ T _},\ g
o ~ TN2-12:45°
TN e AR e [ mER
T 1 60 A a3
T ™ T P £
N1 ™2 H
g/ < e N4
3 7 —F—A\Us
T8
T9 -
TN3-21 TN4-221 T4
271 T4
] =T =T
- I I I I | =
et i e L
@75 T2 T1 T2
Ne s
L] —REg
T5 T6 T7 T8 T9 T10 T11 3 Pcs Weight
Matching Chuck
kg
14 6 95 M8 5 - - | H-204, H-205, P-04, P-05, L-205, M-05, SP-304 0.06
H-206, P-06, L-206, 1L-06, M-06, 3N-06, AP-52,
20 8 11 M0 6 S B ey i 0.15
H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
25 105 12 M1z 10 - - o s 0.27
H-210, P-10, L-210,1L-10, M-10 , 3N-10, 4T-10,
0 113 MIZ Il - - Apgs, RAP-310, SP-310 036
30 12 165 M16 13 - -  P-12,L-12, M-12 0.63
30 | 12 165 M14 13 18 45 P-12,L-12, M-12 0.63
2H-15, 3H-18B, P-15, P-215, P-218, L-15, M-215, M-218,
4317 205 M0 14 - - RS0 1.53
43 17 205 Moo 14 22 g | 215 3H-18B P-15 P-215 P-218,L-15 M-215 M-218, .
V-15, V-18
30 12 12 M6 10 - - H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
30 12 12 M14 10 18 4  H-12, H-212, L-212, V-12, 4T-15, AP-115 0.63
43 17 19 M20 14 - - 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.32
43 17 19 M20 14 22 6 | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.29
26 - 26 M20 - . - P-221, P-224, M-221, M-224, V-21, V-24, V-32, 1.84
28 | - 22 M20 19 - - H-221, H-224, H-232, SP-320, SP-324 0.63
; - 19 M20 - - - | AP-145, AP-185, AP-230, AP-275 0.15
; - 24 M24 - - - AP-320, AP-375 0.24

*TN1-12 & TN1-212 73 12" 3egE H BIECHE - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
*TN1-15 & TN1-215 %3 15" Z58 L BREC & - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

AuToGrip 116



HRGR A B

CHUCK ADAPTORS

FL

Counter Bore Counter Bore

Counter Bore

U SR LA TBE A, U B4R L U $244008R AL
° 7%777 o L5
770t = 7°730" =1
7°7'30"{: L
o~ ol - ol -
11 al o 111alo oo <
38l 8 Q| & 88 SIS 88 SIRSIES]
o ] —
E Tap hole
E1 Screw hole E1 Tap hole e 2
- " = \Lg#i E1 L B#A
RIS B L R,
Subject to technical changes
FL1 FL2 FL3
4MEIR < DIMENSIONS -
s =L
Model A C D D1 D2 E El L U R " Weight
emark (ka)
FL3-04A24 110 85 70.6 63.513 826 8 28 M10 M10 3H-204, 2H-204 1.12
‘ FL3-04A25 140 85 70.6 82.563 104.8 5.5 ‘ 32 M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 110 82.6 63513 96 - 15 M10 M6 3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
‘ FL3-05A25 135 110 82.6 82.563 104.8 6 ‘ 30 M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 = - 140 104.8 82563 116 - M10 M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
2H-206, 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06,
FL3-06A26 165 140 104.8 106.375 133.4 6 35 M10 M12 3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2.-06 3.12
3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,
4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08,
FL2-08A25 - 170 133.4 82,563 104.8 - 23 M12 M10 3R-08, 3W-08, 30-08 2.7
*3L-208, *2L-208,
17 2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A26 - 170 133.4 106.375 150 @ - mM12 me 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 1.55
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
3L-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10, 4T-12,
FL2-10A26 - 220 171.4 106.375 1334 - 25 M1l6 M12 3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2J-10, 3R-10, 3Q-10, 5.02
3W-10, 3W-12
2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L-12, 3P-12, 2P-12,
FLI-10A28 - 220 1714 130719 190 - 18 MI6 M8 Zom ' o e 10, 4D-10, 2D-10, 3N-10. 273
3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL2-15A28 - 300 235 139.719 1714 - 33 M20 Ml6 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 12.52
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL1-15A211 - 300 235 196.869 260 - 22 M20 M10 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 6.03
‘ FL2-21A28 - 380 330.2 139.719 1714 - ‘ 33 M24 M16 3H-215, 3P-221, 3P-224 22.05
40 3H-215
FL2-21A211 - 380 330.2 196.869 235 - M24 M20 16.28
*27 *3P-221, *3P-224
FL1-21A215 - 380 330.2 285.775 330.2 - 27 M24 M12 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6
‘ FL2-40A215 - 520 463.6 285.775 330.2 - ‘ 40 M24 M24 3H-224 43.26
FL1-40A220 - 520 463.6 412.775 463.6 - 27 M24 M12 3H-224,3H-232 13.55

“” SCERRNIZBAE RIS, MIREMHMAE, (Models with ™" mark are produced only by order.

117 autocriP



EKEHRTERIERE
COOLANT COLLECTOR WITH STROKE CONTROL

A cilcT-s

o TIMfMTREREEMRMBMNEE(ERK) -
®  The proximity switch and linear Sensor are optional.

TI2MERREEE - (L ) The proximity switch is optional.

BE BEAE RS
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I %% Terminal Connections

+V OP1 ov
#* BROWN BLACK & BLUE
BERANKELRTEE )
linear Sensor installation drawing
+ +Vv
* * o +DC10~30V
il
OUTPUT op1
® an
LOAD
_ - o OV ® OVDC
CT-S
.0
{;ftﬂ A
o ]
w
= - Q
w| 1
F kil
R ]77 {EF .
‘ e L
2| prol 1N e
— CT-04/05: =
== \pPTaw
233 15 D | Y
(CT-04/05:926.5) c = =
(REBRI SRR CT-24/28: @60
Subject to‘techmfa\ changes ( @ ) /E_KjJ(% ;%7](%5&3{@‘&1%
Coolant Collector Coolant Collector with Detecting Ring
SNEYR<T DIMENSIONS
S ZEWeight (kg) RS
Model A © D E F G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 1.1 TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 1.1 TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 645 94 1.2 16 | 1K-C643,TK-A46, TK-BE4G, TK-C64S,
TR-646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 88 43 160 945 145 19 26  1KAL068,TK-ALO75, TK-ALO78,
TR-1075
CT-12/CT-12S 158 185 88 43 160 94.5 145 1.9 2.6 TK-A1287, TK-A1291, TR-1291
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 4.3 TK-A1511, TK-A1512,TK-A1512-35
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 4.6 TK-2114
CT-24/CT-24S 250 270 100 50 230 154 248 15 5.5 TK-2416, TK-2416L
CT-28/CT-28S 310 330 100 50 260 181 305 4.3 7.2 TK-2820

Autocrip 118



- - K S BTIZI R E
’ CT SBI CT-SBS COOLANT COLLEECTOISL\JNT'I?H STROKE CONTROL

oI INFTIERERD R B M AR IR AN FEE (B RL) -

MABIHEKE BEIEO40FD60(EE m) -
Q60HFKE#IER AR CT-S08B ~ CT-S10B - CT-S12B -
The proximity switch and linear Sensor are optional.

Drain port @40 and @60 are optional product.

Drain port @60 only use to CT-S08B,CT-S10B,CT-S12B.

TIEMREE - (E ) The proximity switch is optional.

BE BERE [fasysntis
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

It #81% Terminal Connections

R B +V OP1 ov
BUEBHNEELEREE - - s
: ; i . #* BROWN 7 BLACK E BLUE
linear Sensor installation drawing
+ +v +DC10~30V
BV
OUTPUT oP1
° &
LOAD
—~ - « Y e OVDC

CT-SB

|l

=il
/

Q
QTN
Ll .
F1
|
L.
i
|

2B
oA

CT-SBS
- “/ & i
<

@40
@ 40 BEKE R = .S X e

Drain port

AR i |
SE -
\ \
DX s i

[y \
L Iy w ‘
PTL " I

rh‘
1t
h
o
T
h

IS

A
262 2| 2 D
260 233 CT-S12B:5 c
@60 K@
rain port P A BT kA L IR
BER M EXKE EXKEHEBHIR
AR Onlyuse to Coolant Collector Coolant Collector with Detecting Ring

CT-S08B/CT-S10B/CT-S12B)

IREBRABIERORER]

Subject to technical changes

SMEY R <) DIMENSIONS

ESWeight (kg) R EEET
Model A B © D 5 F F1 F2 G G1 G2 H
CT-SB  CT-SBS Matching cyl.
CT-S05B/CT-S05BS 97 120 68.3 33.3 96 496 56 - 25 32 - 62 86 1.1 1.6 TS-539, TR-539

CT-S08B/CT-S08BS 133 160 82 40 130 496 56 63 25 32 52 82 130 0.9 14 TS-866

CT-S10B/CT-S10BS 160 188 88 43 148 496 56 63 25 32 52 96 148 1.16 2.9 TS-1081

CT-S12B/CT-S12BS 205 234 87 435 171 496 56 63 25 32 52 121 190 4.3 5.6 TS-1210

119 autocrip



FV

YR ] A B SH

STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

Model:FV-01
| 2~M6
Screw hole 20%0.2 ©
| BT ] 2
NNz BEFARE e
O 1
i - (=]
| . 5 @A -2
| @ 1 hidE
A1 C1 B1 ﬁz‘ﬂ B o Al Tct T
Ai C iB 45+0.2 3~@5
RC1/8" 70 —
Airtight detection port
QB
A C B
Circuit drawing Model:FV-03
iR E
§~M6h : 60+0.2
Crew nole
2447, = 3 g
QolproO— @1
@A N8
. | | N
‘ il rﬁi AL cI i% B1
A C B 2-08 680.2
105
RC1/4"
Airtight detection port
RERHFL

REBRBEZEOET]

Subject to technical changes

Autocrip 120



thZe i REE
DRAW TU BE THE:%IALCL:JFLA\'?I(fl\\IDOF?ERAW TUBE LENGTH

Piston Cylinder Adaptor Chuck Adaptor
HEEETARE 2 HRPREFER

c -
M1 = K max Cylinder Draw Pipe —
. JE s HIR
~g L — FELL LN =/

‘%{J [ T I
a2 i

thZEHI 12 5% [B Detail of Draw Tube
L=A+G2max.+H-G1max.+M2+M3

RERABIELROEF]
Subject to technical changes

1T #R31% SPECIFICATIONS

HRERFAE DGR G1 G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 23 12 35 28 M100x2 35 95 88361; M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 12 45 33 M130x2 45 125 gggg M130x2 5 A+81+12
3H-18 All TK-A1512 30 33 12 45 33 M130x2 45 125 gggg M130x2 5 A+81+12
HREAFRRE WBERE G1 G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-204 A4 TK-A528 12 145 10 25 315 M38x1.5 20 35 88;5 M38x1.5 5 A+59+10
3H-205 A4 TK-A533 12 17 10 25 16 M38x1.5 25 | 35 88;5 M45x1.5 5| A+46+10
3H206 A5 TKAG46 15 14 10 25 28 MSs2 20 50 o°° Meo 5 A+52+10
3H-208 A6 TK-A853 20 165 12 30 335 M60x2 20 | 55 882 M75x2 5) A+60+12
3H-210 A8 TK-A1075 25 21 12 35 285 M85x2 25 | 80 882 M95x2 5 A+59.5+12
212 ALl TKAIS12 30 23 12 45 32 M0k 30 125 000 wMuse 5 A+T0+12
3H-215 A8 TK-2114 35 33 17 45 44 M155x2 40 145 gggg M115x2 5 A+87+17
3H-215 Al TK-2114 35 | 33 | 17 | 45 | 51 M155x2 40 145 gggg M155x3 5] A+93+17
3H-215 Al5 TK-2114 35 33 17 45 38 M155x2 40 145 88;2 M155x3 5 A+81+17
3H-18B  Al5 TK-2416 35 35 17 45 45 M180x3 40 170 gggg M175x3 5) A+90+17
3H-221 A15 TK-2416 35 34 17 45 42 M180x3 40 170 gggg M190x3 5 A+86+17
3H-224  A20 TK-2820 51 35 17 45 42 M220x3 40 210 8832 M225x3 5 A+71+17
3H-232 A20 TK-2820 51 37 17 45 51 M220x3 45 230 8832 M295x3 5 A+82+17

7 2H4H BIR 2 MR REETERE 3H - 3H-2 BU3 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)

121 autocriP



PEHIEEEE
DRAW BAR THEECALCLTLA\'?I(ﬁ\InOF#ISRAW BAR LENGTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
IR RLEER HIR /HEEEET%*&
L
K1 K2 \ L4 |
\}
EH—8| | g g
YT — 53 /i
C B . \LLIZ‘L{ ¥ ;,51
L gyhnder J_LI H
EEGT J f
R
G1 max. (3P-04,3P-05) | (G2)min. *
1
thEHI1185% 8 Detail of Draw Bar G2 min. (j::hgléd(
AR
L=A-G1max.-G2min.-4+C A
RBIRIE SRR
Subject to technical changes
$ 1T #5348 SPECIFICATIONS
FEER T WA G1 G2
B C D K1 K2 L
Chuck type Cylinder type max. min. ‘
3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20  30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 = 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30  35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 = 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
& 2P BB 7R REETENR 3P 23 - (Note:To calculate the draw-bar length of 2P as 3P.)
JEERIT LEFAT G1 G2
B © D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 81.5 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

oM B AR REFTEE 3M 23 - (Note:To calculate the draw-bar length of 2M as 3M.)

AUTOGRIP 122









AUILGp

AIFEEmmE, SQREERBREEZEN, IEEENRSITE.
We reserve the right to modify the specifictions without prior notice.

(=
GIE=

®

%= o ) $818, HIX 42 o\ —
1ZEEFRAR 1P AR
AUTOGRIP MACHINERY CO, LTD.
513006 EZ1CRAIH/OMEAEE IR —ER 22058
No. 229, Sec. |, Mingsheng Rd,, Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719

F +886-4-823-5719

E sales@autogrip.com.tw
www.autogrip.com.tw V.2025.10TW



	AUTOGRIP_Cover_2025091900
	Foreword_20250919TW
	AUTOGRIP_01動力夾頭
	AUTOGRIP_02特殊動力夾頭
	AUTOGRIP_03橡膠筒夾
	AUTOGRIP_04立置式夾頭
	AUTOGRIP_05轉盤用氣壓夾頭
	AUTOGRIP_06手動夾頭
	AUTOGRIP_07虎鉗
	AUTOGRIP_08展刀搪溝頭
	AUTOGRIP_09同步夾具
	AUTOGRIP_10空油壓迴轉缸
	AUTOGRIP_11迴轉分流閥迴轉接頭
	AUTOGRIP_11迴轉接頭
	AUTOGRIP_12油壓中心架
	AUTOGRIP_13零附件與其他
	AUTOGRIP_Cover_2025091999



